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Première partie : Comprendre les environnements d’apprentissage 

�

��

�������9������
����������	�
������>���
�����
�
����;�
>9��"�����
������>���
������5���
��
�

����
�����A�6�������B�	�������5>�������	���������������
��	�������
��������
�����7
������8����


�������5� 	��
��� ����
� ����:� 6������� 7
������ 	��

����-�����7
��-��8�
4� ������ A�������B:�

A��5���B� �
� A�������B� H-��8�
4:�$//'I"������� ����
�

��
� �

��
�	�� A���	����	��=�����
����B�

�����5���
��������
���������	�������������������
��	�������
������"��

����66�
:� ���=8�
�	���������>���>�����5
5��=��	5:� 
�

��
������	����

���5���	�:�<�	�665���
���

5�>�����:� ���� 	��� ��	������ �
�
�����:� 7
�� ��
� ��=����5� <� �>�7
�� 6���� 	��� 	�����������

��5��6�7
��������
��
�	�����=�5��
�7
���	�������
��������
������
�	�� ����	���	
:� ��� ���
� 
�9��

��
�� ��5���
5��� 	��� 7
��
����� ��

��
� ��� 8�
� ���� ��
�� ����	���	
:� ����� ���� ����
�����

��
���������������?��
���	����
����	���	���5�5����
5��
�5���
�:�����7
��
��������
�	����
���	���

7
��
�����	���
����
���:��
�	���7
��
�����	���������
���:�������	���7
��
�����	���
�

����
�	��

A����	��B:���������������������U
���	������

�������9������
���	�������
�"��

���6�����
:�	�665���
���5�>������	�����5>�������	������5���
5�������
������5���<����:��
�6���	
�


����� ��
�� ����5>��	��� ���� 	���5��� ������7
��� 	��
� 8�� 	��������:� 5�>������ 7
�� ���
� �������

	5���
�������-�����7
��-��8�
4�	��������;�
>9����
������������������������H$//':��"�2I����

) ��5�>�����A���
��7�������������B:�A�
��������
�-��'������	����'��������������'�����
��
����

�	�
�
	������
�����
6
)�
�
�	��'�
��������������
��

������B�H��"���
"I:�7
��8���������

	������

����
��A������
�������B�?��

) ��5�>����� A���
��7
�
�	��'� 
�������
�	
����
� 
�
�	�$���� �����	
����� ��
���
�	��
� ��
�

	����
'�����
��
����8��������	����
�'�
�������
����	��
	����
'���
���������
�
������
�


6
����
���	
����'����8��������	�����
���
��'�
�����
�����������������������
�����
�

�������	
������ 9�
� 	
����
� D;E� 	��	�	�

���� ��
	
���
� �	�
� ��� -��� 
�
�	�� !	��� ���


6�*������'� ��� �	������� ��� ��� �	�����
� 
��	�������
�B� H��"� ��
"I"� ����
� ��� 7
��

8��������� 	���� ��

�� ��
�� ��� A������
� �5���B"� ��� �����
� ������
�� 	���� 	�
4�

�������������������������������������������������
��G����6��
��565������<���

��������>��<�
�������	�665���
���6�������	�������
�������
=����
�������
5���
���:�������

���� �4������ D$2:� ((E:� ��� ��� �565���
� �
4� 
����
4� 	���
>���������� 	��� 
��>��7
��� 	�� ��57
���� 	�� -�����7
��

-��8�
4�H-��8�
4�J���"��..2I"�



�������	����
�����
�
��������������������
��	�������
�������

�$�

A���	����B:� ���
�� 	�� ����
����
���� �
� ���
�� 	�� ����������
���:� 7
�� ���������	� <� 
���

���������
���=�
���
�:�A��
�����=��
��B:�	
���5�5	��
$�?�

) ��5�>����� A��	
��7
�
�	���B:� 7
�� ��
� A�
�������
� �����	����
'� ��
���	���
� ����	�
�
'�

��
� 	��	����	�
�
� 
�
�	��
� ��� ��
� �	����
�� 9�
� 	
����
� ����������
� 6� 
���� ����

��
�*��
�B�H��"���
"I"�����
����7
��8���������	������

����
�����A������
�������B"�

G�����������5�	���
��	
����
�������
��
���5���
����:�7
�� 8��
����������5� ��������
� A������B:�

��
��
���
���	����>5���9�����>;�������7
���
�=������7
��	����������
������:������������
���
�

������7
5���

������
�����������"�G������565�5:���
��������������>����5�5�
5�	��������������

	�����;��:� �����	5���� ���� �>5���9���� ������ 6�����
� ���
��� 	
� �����
� A�������B:� ���� ����

���������	��
�<�
�������
�	��	������
����	����������
�������
�6��	������	���	
"�

�

��� �����
�����
� 	�� ���� 
����
4� ���5�� <� �>��
�� 	�� ���� �����
4� �����
� 	�� ��

��� ���

5��	�����	��������
��	�665���
���
������5���
������	���������������
��	�������
������"�

) �
����������>���
��:����������	��
��
������
�A�������B:������
���5���
5���
�	���

5��

���� 
����
4� 
���
��
� 	��� �����
�� ��
5������ �
� >
������ 	��� ������������
��

	�������
������:� �
� ��� ���
��
����� ��
4� �����

��
� 	�� �������	��� ��� �;�
9���

������4��	�� ����
�����7
�� ��5
�=��
� ��
��� ��� �
8�
� ��������
:� �����=8�
�� �
� ���� �

����

������������������7
��������
8�
���������
���
�����
�	��������
��	�������	��"�

) �
������	��>���
��:����������	��
��
������
�A��5���B:������
���5���
5���
�	���

5��

���� 
����
4� 
���
��
� 	��� �����
�� ���
�


�������� �
� ��������
�������� 	���

������������
��	�������
������:��
�������
��
�������
4�
���
��
�	�������
�������
�������

������������
�� 	�������
������� �
� ��� ���
�4
�� H�
� A������
�BI� 	���� ��7
��� ����

�����9���
"�

) �
� 
�����9��� �>���
��:� ���������	��
� �
� �����
� A�������B:� �����
� ��5���
5�� �
�

	���

5�� ���� 
����
4� 
���
��
� 	��� �����
�� �����)5������7
�� 	��� ������������
��

	�������
������:��
�������
��
�������
4����
��
��
������
;���������	���������������
��

	�������
������:�������7
����������;����7
��	5��
���
�	��������	5����
����"�

�������������������������������������������������
$�����
����
������
���������	5�5�����
��
�7
�A���	���B:��
������	��&�66����H�.QQI:�����
)<)	������������
5������

	�����;���	��� ����
����� ��
��� �
�������	�
4� ��	���	
�"��������������R�>��������	��	���
5����� ��� A�����
���� <�

���

���B� ������ 5�5���
� 	
� �����
� �����:� 	���� ��� ���
��� �T:� ��
�� ���:� ��� ����
���� �
� ���	�� ����
�� 
���

	����������������:� ������
��	���� ���� 6���
�����	
�������
�>
�����H���������������	����������:��>5���9���	���

A���
��������������BO��6"����
�����"(I"�����	���	������
����
������
��=��	5���
�������������������7
�:��������
����

<����

�����
�����������>;�������7
���
���;�>�����7
�"�����
����7
��6��
�7
������������������
���
:���
�����:��
�

�����
�A��5���B:���������	���
������
�A�������B"�



�������	����
�����
�
��������������������
��	�������
�������

�(�

�>��
��	�������>���
����������
�
�

�5�	�
���6�@��� �	��
�7
�:���� 
��������
������� ��������9���

��

��
� ��� �������
���� ���� 
����
4� �5����5�� �
� �����
� 	��
� ��� ��
� 7
��
���� 	���� ��� �>���
���

H�����:��5��:������I�?����	�
4�9�����5�����
��T�8�����
����
����������
>5���7
��<���������
�?����


�����9��� ��5���
��
� ���� 7
��
����� 	�� ���>���>�� 7
�� ��� 	5��
���
:� ��� ���� ����

��
� 	���� ���

���������	������=�5��
�7
�����

�����"�

����;�
>9���	����

�������9������
������
�����
�����������
��
>5���7
�����
��
����
������
�
����

����������������
��	�������
�������������7
���
���������
���	�����>���>��7
����
�5
5�������5���

<��>�7
�������
:�������

��
�����������
���"�



�������	����
�����
�
��������������������
��	�������
�������

�'�

�

�



�������	����
�����
�
��������������������
��	�������
�������

�#�

Chapitre 1 : Aspects matériels et humains 
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Valeurs, 
pratiques, règles, 

usages, etc. 

Processus 
« apprendre » lié 

à la rencontre 

Carte N 
 de l’objet 

Carte N+1 
de l’objet 

Sujet Autrui 
Processus de Socialisation 



�������	����
�����
�
��������������������
��	�������
�������

(/�

l’inconnu

moi

s’intéresser  
découvrir

instrumentaliser

construire

socialisation

catégories, 
valeurs, 
émotions 

« connaissance 
de sens 

commun »
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Aliénation sociale

Aliénation culturelle

Figure 2 - d’après [Sigaut (1990), p 170-171]
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Chapitre 2 : Aspects organisationnels et institutionnels 
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Chapitre 3 : Aspects socio-économiques 
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Deux modèles économiques
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Typologie basée sur les théories 
de l’apprentissage
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Synthèse de la première partie 
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Deuxième partie : Construire les environnements d’apprentissage 

���9�� ������ �����7
5:� ��� 
����� �>���
���:� 
��� ���
�� 	�� A�N���� ����9���B� ��
�� ��5���
�������


����
4��;��
���
���=8�
�	���������	�������������������
��	�������
������:�8���������5���
���

���

��� ������
� 	������ ��
���
5� 	���� ��

�� �����	�� ���
��:� 7
�� ���
�� �
�� ��� ����
�
�
���� 	���

������������
�� 	�������
������"� G��
����� �
� ������	��� ��� ����5	5� 7
�� 8���� 

����5� 	���� ���

�����9��� ���
��:� �
� ��

��� ��� C
���� ��
���
��� 6������� ��
�� ��5���
��� ��� ����
�
�
���� 	���

������������
��	�������
������:��
����
�����������������>��A�������7
��B���5�����5����
������

	5����>���	����5�������"�G��������6�����������
��	�
4�����������
�

�	��=��	:�������	��
���
����	��

����
����������
4���������
���	�������=����
����������
>5���7
����
���������	������7
�������

6��
:� �
� ���� 5
5� 
�9�� 

���� 	���� ��� �����9��� ���
��:� ��
���
��� ���8�
�� 	�� ����
�
�
����

	�������������
�� 	�������
������� �
�� ���7
���� 8���� 
�������5$� ��
� �5�����
5� 	������ �
4� 
�����

�����
4:� ����� 	�� ���=��
4� ��)�
)����
� ��
��� ���� 	�665���
�� �����
4"� ��� �����
� 	���� ��
�6������

	���� 	5��
���� ��� ��5���
�
���:� 	��

��
� 7
�� ���
������ 7
��
����� �5
>�	�����7
��� ��� ���
�

���5�����
�����
����
�����
��
��
������
���	�
4������
4"����	�
4�9���������:�����
:����������

��
������&
;����L�
��6�H$//(�?�$//'I:�7
���������
�����5���������������
�	�������	�������	��

��� 6����
���� ������ 	���� 	��

���� 	�������:� 	�
��� ���5������� �57
��
������ ����� 	��� 5
�����

=���� 	56������ 7
�� �����>�U�����
� ���� 
���� �
4� �

���� <� 
��� ���5������� �����
���
�:� �
�

���
�
��5�:�7
����9���<����6����<���

������C
������
���
���5
����:��
�������
��
���������:����

������9��:� �
� <� 
���������� ���
�
��5���
� �
�� 	�
4:� ������ �
�� ���� 
����� �����
4:� ������ 8��
����

�����������	�������5���
�����
������"��

�������������������������������������������������
���>�����������5��
�&5���	�G���)���
��������������
�7
��A���
��)�������
����!���	�����
�	����)��������	�
�����

���������������

�����	���'�����!	��������������	������
�����
�����	�$���	�	�6
�����

) �������	��CC�	
�������
�
6
����
�
�
�	�$'��N������	�	�6
��	���
������
���
�
�
��7���	��
	���������
����

��������������	�!���	�����L����	���������������������!���	����M�O�

) ��� ����	��CC��
�������� 
�	��	
)��	����
�
������ 	�$������
���
� ��
)��
�7���	�������
���
���
��
���!
�

L����	���������������������	�������M�O�

) ��� ����	��CC��
��������� 	����
���	� ��� �������	� ��
� �����
���
� �
6
)��������
�L��� 
��������
� 	�� 
��
�

�	���M���
�	�������

	��
��B�H$//':��"�'$#I�
$�������
��
�����������8�
���!�� ��D(:�#:���:��(E��
�������8�
�� �%3%-�D$+:�'/E"�



�������	����
�����
�
��������������������
��	�������
�������

.Q�

���� �����
��:� 	��� �5
>�	��� 6��������� ��
� �5������
� 5
5� 	5������5��(:� 7
�� �����

��
�

	��

������ 	�665���
��� 5
����� 	�� ��� ������
���� 	��� ������������
� 	�������
������:� ��� ��
��

��
���
���������

����	�����
��
�
5���
��� ����5
����� ���
�
���
5����
� �������7
�������

��
����

����
:� ��� ����:� �
� 7
�� �������7
��
� <� 	��� �=8�
�� 	�665���
�� 	���� ��� ��	��� 	�
��� 	5����>��

�����
���
�"� ���� �5
>�	��:� 7
�� ��� ���
� ���� 
�

��� ������=���� ������ ���� 
����� �����
4:� 6��
�

���
���	����4���	�����>���>��������5��5���
8�
�	�>
�������
�9���	����5������:���
�����
�	���

����:��
�����7
��
�����7
���������
�9���
������
���
�	����R
�������5�����
����������	������

��

��
�"� -��

��
� 7
������� ��8������
� ������� ���
��� 	�
�� 	������� �����4�� ��� 5��������:�

A����������������
�
���	�

	�
�
'�B:� �������R������� ����:�<����
�����5���	�� ����� �������������

���	
������ ���!�

��������� H���
�5:� $//'I� �
� �����5������� ��5�� �
� 	5����������
� 	���

�������
����� 	��� 
��>��7
��� 	�� ��� �5���
5� ���

����� ��
�� ��������
������� H3
�>�� J� �����
:�

$//(I:��
�
�������	����5���
��
�����7
�������8������
��
��	���
>5��
�7
�������
����H����;���

	������
���
5:���	��<����������
��������������
��
���:��
�"I"�������6�

�	������
�����
���7
��	�
���

���
:� ���� 
����
4�����	����:� 
����7
����
4�	
�����3:����6��
���
����

�������
� ���	�665������

��
��� ���5������� 	�� 6����
���:� ���5������� �5	�����7
�� �
� ���5������� 	�� ��� ������������#�?� �
�

7
�� 	��

��� ���
:� ���� 
����
4� �
�� �����5������� 	�	��
�7
�� �
� ���� ���
��
�
��:� 7
�� ��� ���
� ���

��
5�������
���:���9���
�<�6���������������������������
�8������5
5�6��
��
�������
:���������
�

A�������B:� ������ 7
�� ��� ���
�K��:� �
� ��
��� 	�� ��� ��

�
���� 	�������
������:� 	�� ���=��
4�

�����9
���� ��5�� <� ��� 	��������� �����
���� 	�� ��������
������:� 7
�� ��� ���
� ���� ��
����5
�
����

�

���
�7
�� 	�� ����
���
5� �������
�5�� �
� ���� 	5=���6���� 	� ��
�������:� ���
;5� �
�� ����

�������
�����
�� 	�� ����
���
5� �
� 	��� �5
>�	��� 	��4�����
�
���"� ��� �����
� A�������B� 	���

�>5���9����	��6����
���:�7
��6��
����=8�
:�	�������6����
����
��	�
��������:�	�
���8
�
����
����


����� �5��� ��
��� ��� 6����
�
�� �
� ���� ��������
�:� 	�����
:� 	���� ���� ������������
��

�������������������������������������������������
(� -�
�� �K
5:� ��� 
��
��� ���� �5
>�	��� �
� �

���� 	5������5��� �
�*
5=��� ���� ��� ����3� ����������� �
��%��

H��7
�

�:� $//$I:� 	�� ���

��� ���� �5
>�	��� 	5������5�� <� ��%����  �������
;� �5�����	����� H% )!�I� �

�
�� 	���

A��	
��
��������	�����������
����� H���I�B� H]����:�$//�I:� 
����65�5������$//$�<� ���������
���� �����
��;��
�

	���5�����������<������5��6���
��������F����������-������H>

��[[̂ ^ "̂������=��"���[��������	�����[I:��

�
��	��

��7
�������
�5
5�	5������5����
���
����

����<���% )!�:�������
����	����	��

��������
��

5��	���>���>�
��"����

��������	���%�d�-�	�������$//#:��66���
�
��������=���
5�	�����5���
�
����	�������5��6���
�������)�-��
����	��

��
���
4�>���N�����
�����7
����8��������	���"�
'�0���� ��� �5���
�� �
=����
���� 	�
��� �5���
���� 	�� 
����
4� 	���� ��� 	������� �����5�������
����:� G�����>����
� �
�

���������>�
��W����H$//#I"�
#�����
����	�������
�����7
����
���
��
:��
������H�
�	5���
����5
>�	��	����5�������	�
���;�
9���	�������
������I�

��
��
8�
�	�>
����5���
5��������
����5
>�	��	����5�������	���������������H�6"���7
�

�:�$//$I"�



�������	����
�����
�
��������������������
��	�������
�������

..�

	�������
����������
�
���
5��	5������5����

�������
:�
���>����	��������
����	����5
>�	���

	����5������:�	��������������
����	��

���
���
����	���
���6����
�6��HA�


���
���
�������
�B�����

������>���������4�����I"�����������
�	����	������
���������
�����
����

���������
���"�

�

��
�� ���� 	�665���
��� �������:� 	
� 6��
� 	�� ��5���
����
� 	
� �>���� 	�� �����5������� �
� 	�� ���

���������
���� �

�
�� 	��=8�
�� ����5�:� ��

�� ���
��� ��� ��
���
� ���� ������	��� ��� 	��������

��5�5	��
�"� G���� 	���� 6��
� ��� �>��4� 	�� �������� 7
�
�� ��
�� �>���
��� ����� ���� ���
��� 	�� ���

�
�
�

���:� ������ ���� �>���
���� 	�� ��� ���
��� ��5�5	��
�:� ��� 
����� ���
����� ��
�� ��	�7
��� ���

���
��
�
5�	������
����
4��
�	�����	5����>��	����5���
�
��������������9�����
�����������
����

���� 
����
4�7
��8�����5����5��	��������>����	�������5�������?� ���	�
4�9�����5������T�8�����
���

�
����������
>5���7
���
���������������56��4�����	�����	����9����
=����
�����
������
8�
�D#/E�?����


�����9��� ��5���
�� ���� 7
��
����� 	�� ���>���>�� 7
�� ��� 	5��
���
:� ��� ���� ����

��
� 	���� ���

���������	������=�5��
�7
�����

������	��
�8����	���5�
��
�9��=��6�����@
���)	���
�"�

��� ���
��
�
5� 	�� ���� 
����
4� ����
� ���� 7
�
�� �66�
� 	�� 6������� ����� ���66����� ���� 
���

A���
5���
����B�	����5�
�
�
��	�����>���>����5���
5����5�5	�����
�	�����������=�5��
�7
���	��

�������
�
�
����	���������������
��	�������
������"�����:���
��7
��	�
����������������
�:����

�����
� =���� ���� 	�
��� ��
5���
���:� 7
������
� �
� �������
>5��
�7
�� 	
� 
����:� �����7
��
� ���

�������� <� 
��� �

��� 	��������� �
� ��5��������� 	�� 7
��
����� 	�� ���>���>�� ��5��6�7
��� <� ���

����
�
�
���:� 7
�� 
�

�6���� ���
� ��5��� �
4� ��5�5	��
��"� ��� ����
�
�
���� 	��� ������������
��

	�������
�������������U
�������<����6����������
������
�7
����
�����	��������>���>�:�������
����

������
���>����	�����>���>���������:�����
����
4�	�����>���>������
��
�������
��
������
������

�5
>�	����
������

���:��
�	�����
�������5������"�



�������	����
�����
�
��������������������
��	�������
�������

�//�

�

�

�



�������	����
�����
�
��������������������
��	�������
�������

�/��

�

Chapitre 4 : Ingénieries 

��
�����:�7
���
���<� ���6�������>�
��
���
� ���5���
���������6����
���:� ��� 
�����A����5�������B�

5��7
�� 	��=��	� 
��� ��
���
5� ���
��
��9��:� 7
�� 8������� ���
�7
5� ����
� 	�� ����
5������� <� ���

6����
���:� ����7
�� 8�� 
����������� �
�� 	��� ���8�
�� 	����>�
��

��� �
� �
������ ���� �>��
����� �T� ����

5
����
� ���� ��� C
���"� ��

�� ��
���
5� �� 	������
��� 5
5� 	56����� ���� ��� G�
����� �66������ 	
�

�Q[/�[�.+(������� A�	
������� 
��
�!����������!�������'� ��� 
��
������� ��� �������
�������-��
'�

������	������������	����'����
������	����'���	

�
�	�
��������
����P���������	���	��
	��������

�	���
��������
��$7
��B"������5���������
�	���:���
�����:�
���	5����>��
�9���5�5����:�7
������
�

������5��6�7
���
�	�������	�����6����
���:��
�	��
� ��>��
�������
����
����
����7
�����������;�

��
� �����7
5�� 7
�<� ���
��� 	
� �����
� �T� 	��� ���5���
��� ��
� 5
5� ����5�� <� ��� ����>��� �
��

���
������ ���=�5��
�7
��� 	�� 6����
���� �������
� 	��� �5������� ���
��
��9���� 7
�� �5�����
����
�

��
�������5
������������	�����8�
��	��6����
�������6����������������5�������
4�	����	���	��

��;����
��������
���	5���	��
�:�����������������������	�����
��������
�
���5������7
������

�����	��	������
����:��
�"��

��
�����:������5���������
�	��������
�
�

�
�������=���	���
���
5�:�	��
��>��7
����
�	��

���:�

7
�� �������7
�� <� 	��� �=8�
�� 	�����:� 7
���� ��������� 	�
�� ���	
�
� ��	
�
����� ������ 
���

�

���=���:� 	�
�� =X
����
O��
� 	�
�� ������������
� 	�������
������"�*
��� 7
�� ���
� ���=8�
�

�
7
��� ��� �������7
�:� ��
� �����=��� �������	:� ���� 	56���
���:� 	�
4� ����	��� ��
5�������

	���
���
5�:�	��
��>��7
����
�	��

�������

) ��������9��:�7
�����������
��<����	56���
���:�<����������
�����
��
4�5

	��������
�<����

���	
�
���� 	��� ��5��6���
����� 	�� ���=8�
:� 7
�� 8�� �����
������ ��
�� ���� 
������

�������������������������������������������������
�� ��� �����
� ��
5������
�	�5������ ��
����
� ������ ��>��
�����	�� ��A����5�������	�� 6����
����B"�%����� 
��
���7
��7
���

5�5���
�� 	���� ����
��	
�
���� 	���
������ H��	�
��:� $//(�?�����

�:� $//(�?����L�
��6:� �..Q�?� $//(I��
�	��
�������

H���L�
��6:� $//'�?� ����:� $//(I:� �
� 8�� �����������)�R��� 5��7
5�� 	���� 
�� 	������ ��
������ �
�� ��� �
8�
� D�/E"� ���

���=���7
�� �����5������� 	�� 6����
���:� 	
���������
�� ��� 3�����:� ���
� 	�����������
��������� 	�
�� �K
5:� ����� 	�� ���

��5�
��������L��
���	���>̂ ��
N:����� ����	��!���;�����
�<�
���
������7
��
����	������������������	�������
����
�

�� �������
5� 	�� 8�
���� ���5���
��� ��
�� ������8�
�?� 	�� ���

��:� ���������������
� 	
�	5����������
� ��	
�
����� 	��

�����5���:����������������	��66�����
�������������������	�����
����	��6����
������5����������	�������
��������
�
���

��	
�
�����:� ���������
� ��� 6�
���

��� 	��� =X
����
�:� 	��� ����������� 	�� 6����
���� �
� 	�� ��� 6����
���� 	��

6����
�
�������
4:�����=����5�	���57
�����	����5���
������
��	������
�
����������5������R���
�����7
�����
�����

����������� 	�� 6����
���� ������ ��� ����"� ��� ��� ���=��� �
���� 7
�� ����
� �����������
� 	��� ����	����� 	����

�������
����� �
4� ��;�� ��� 	5����������
:� ���� ���� ������� 	��66���� 	�� �� ������ �
� 	�� ���L��7
�����	����:� 7
�� ��

��
������
���
����
4��
�������5
>�	���6���������	����5������:������
�

�����������
�<�5

	����	����
����9�"�



�������	����
�����
�
��������������������
��	�������
�������

�/$�

	�A�	
������
'����)���
� ��� �����
� ��� 
��
�������B:� �
� 7
�� ���
� ��
�� 
��� ����	�� ���
���

��5��6�7
���<����=8�
�<�����������?�

) ��� �����	�:� 7
�� ��� ������
�� <� ��� ����	���
���:� <� �������
����� �
� �
� ���
�K��� 	�� ���

�5�����
�����
�	��������
����	
����8�
:�7
��8������������A�	
������
'����)���
���������
����


�����������-���B:��
�7
�����
���
��
�������	�����
��� ��	5���	��
��	�����=8�
��5�
�
��
�

	
����8�
$"��

���� 	�
4� ���
���� 	���
���
5�:� �5
>�	��� �
� �

���� ��
���
� 6����� ���=8�
� 	�� ���>���>��� <�

��
���
��������
4���	5����������
�	��

�����
�	���5
>�	�������
��	���
�������������
���
5��	��

������
���(�?� 5

	�� 	�� �������
� 	��� �

���� �
�� ���� ���
�7
��� H���� �4�������� �>��
�)-
=��:�

�..#I�?� 5

	�� 	�� �������
� 	����5
>�	��� �
�� ����������
���� 	
� 
������� H���� �4����������	���:�

�..(I"� ��� ��� 7
����� ��������:� ���� ���>���>��� ���5��� �
�� �����5������� 	��� ������������
��

	�������
���������
����
5��
�������

�����
��5
>�	���	�
������
�?��
���������
���������
��������
�

�����5
�����	��

������
"�����
����
4����
���5���
5��	������������9������
����	������>���
��"�

�	���+$%'*:4%*+$,�

��������9���������
����	�����>���>���
�����A��5	���������6����
��5��B�����5��6����.Q'���
���

��� ����� �
� ��� �����
9��� 	
� 
������� ���
��
� �
�� 
����� ���8�
�:� ��
��
�� <� ��� 6���� ������ 7
�����

�����

����
� 	��4�5�����
��� 	���� 
����� 	����������� 	�665���
��:� �
� 7
����� ��

����
� ��� �R���


�����<���5���
���	�����������
�����	�����8�
�	�665���
��"���������������8�
:�A��	������
������

�
� ����5� 	�����B� 5
��
� ���
�� 	�
�� 	�	��
������ 	�� 6���@���:� �����

��
� 	���7
5���� ���� �9�����

	������	�	
����
����������5"����5
��
����@
��
��5����5�����
��6����
�
��	���4)��)���������7
��

��5
��
����
5������
����:��
�7
������
���7
���	�������5
������������������
�����
����������"�

��������	:�A���=��
����6���
����B:�5
��
����
��	�
��	�	��
�������
�
��5	���H����>������
����'I�

�������������������������������������������������
$� ��� �����
� �<� 	��� �

���� 	�� �����6���
���� H������������� 	
� ���8�
:� 	���������� 	�� &��

:� 	��������� ����:�

=
	��
���5���������:��
�"I:�	����

����	���
����	����������
����
������	��	5������
�	����P
��H��

�
��������
�����:�

����
��)���	
��	���5
�����:�������
��	�5
����:��
�"I:�������7
��	����

����������5���
4�	5����>���7
���
5�������

���C
�����������5�>5��
�H�

����	���
����	�����	���
�
���7
���
5:����
��	�����8�
:���7
R
��:��
	�
�"""I"�
(�����
����	��������T�������>���>�����	5�������������
�:�	�������=

�	���
�����������>����	��������
�������

�����
�

�5
>�	���	��������
���������
5��������	���
�
��H��%I:��

����	����	5����
�����
�	�����
�����
����H	��
����
������

�������
�����	���5���
5����

����I:��

����	��
�����������5��
�6:��
�"�
'� �� ��5��7
�:� ���L�)��� ����
� ��� �
��	��	� 
��� ���
�� ����>�7
���&�� 	�� �5���

���� ($/4$//:� ����� '� ��
��
���

���
�
��5���
� 	������=���O� �;��
� 	5��	5� 	�� ����������� ��� �������� �
�
�

�5� H��� �����
������� ��� ������:�

�������� 7
�� 8�� ��U
������I:� ��
�� ������ 	P� �����
��� 
��� =�=���
>97
�� ����>�7
�� 	���  ��� ��
�� 	�������� 	���

�����
���������>�7
���	��=�����
���
�����
O�	��������������

��
�	��
������
���	���
���
�	����������
������
�
��



�������	����
�����
�
��������������������
��	�������
�������

�/(�

�����

��
� 	�� ��U
������ ��� ���5����� 	���� ��� ����� <� ����	�� 	�
�� ���9��� ��
>�����5:� �
� 	��

�5��
	��� 	��� 57
�
����� 	
� �������� 	���5� ����>�7
����
� �
� ���� ��� ����
�"� ��� 5
��
� ���@
� �
�

�5����5�����
�����
�
�� 57
���� ��
����� ���������
�	�
4� 6����
�
���	�� ��5�����	����5���
��� �
�

	�
4�A���6����
�������B:�	��
����)�R��:�	��
�����K�������������5
��
�	���
��
����������
��
�����

�5	�����7
��� �
� ���� ���
����
��� ��6����
�7
��"� ��� 
�����9��� ���8�
� ���
��
� �
�� 
�� �;�
9���

�4���
�	���	��<� ���������
����	��	�	��
������:� �5����5�����
���57
������4
������:� �������
5�

������ 0��� �
� ������:� �����5� ����"� ��� ���8�
� 	��

��� ��	

�
�	�
�� ���)����������� 8�

������������� ���	�������� 5
��
� ���
�������
� ��5� ����� ��� 	5����������
� 	��� 5	�
�
���-��!�:�

6�����5� ���� ��������� 	�� ����6����
�7
�� <� ��� �
�
�� 	
� ����� ��6����
�7
�� ��
�� 
�
�:� �
7
���

���
������
� ������#:� �
� 	����
� R
��� ��
5��5� ������ �

��� 	���	�� �
4� �

�
��� 	���� ��� �����

��
������ �����
� <� 	�
��� ���� ���������
�� 	��

���� 	�� ������
���� 	�� �
����
�� �5	�����7
���

��
����
�6�"�,�5
��
�������5�
��
>5���	�	��������0��2:�7
�� ��
5��������
�	��
��������9���������

����
�����%�	
�����"������	
����
�:� ���=

�	��������8�
���������U
�
�9������>��	�����
��	
�

A��;�
9��� ����������� ��
�������
�B� 7
�� �� 5
5� �5����5� 	�4� ���� ��
�� 
��	� �
� ����3:� ��� ���
�� <�

���
������ 	�� �5���� 	�	��
�7
�� �&-� H��7
�

�� �
� &����	:� �..2I:� 	����
� ���� H��7
�

�� J�

��>�
��W���:�$//$I"�

�
���
���	���������������
����
4:�8�5
������
��5
���
����
�������5��
������	����8�
:�A���=��
�

���6���
����B:������8�����5�����������
����5:�������������
��	����57
���:�<����������
����	
�

���
��
�	�������
�<��������	�
����	�������7
�

�� ��
����
���:��
���	
����
�
;����
�	����<�
���

�56��4����������
�����
�������5�������	�
����%�H&
���
	:��.Q+I"�

A���=��
� ��� 6���
����B� ����
:� 
�� �����	� �=8��
�6:� �
)	��<� 	
� ���
��
��� �������� �
� ����
� �
��

��
5�������:�	������������5�5���
��	�
���
���������������	5	�5��
4��������
������5	�����7
���

�
�
��5	��:�������
��
�	���
����
4�7
��8��������5����5�����	��
������
�����>�N�����	
�
�����	��

���������������������������������������������������������������������������������������������������������������������������������������������������������

�
�	5��������
�	�������
���:�	��
���
��5
��������������������������>�
�
������3�����"��������5
��
�6�
��������
��

����5
��>��������
5�����
�����
��6������$($"��
#� G���� �5������
� 5
5� ����5� <� �������� �
�� ���� 
����
4� 	�� ���>���>�����5�� <� ��

�� �5���	�:� ��� �5������ <� 
���

�������
�
������������	��L����

����=5��� D#'E"���� ���
�
��7
�� ��
>��
����
� ��� ���������
�� �
�� ���������������	��

���>���>��	����

���5���	����

���
�����
�����565����<���

���
=����
�����
�<����=�=�������>��"�
2����
>9���5
��
���5���5����
�� ���	����
����	��5�9���L��
�
��66"���>��
�����	
����8�
���6��
�7
����

��
>9�����5
5�

�=��	���5�� �
�=�

� 	��7
�
��� ���:� =����7
��;��
� 	5=�
�>5� �
�� ��� �5�����
����	�
�����7
�

�� ��
����
���:� �
���

	�
�������������
�
;���	���;�
9����4���
��������"���
��=��	������5�
�
5�	���>��4�	������	
�
>5���	:�������7
����

5
��
�	����
�������5�	
�����:�7
����5
��
������5�<��
�����
�����������	�
�������
5���������
�������

��
�	����5������

�
�	����

��������
>9��:�7
�����7
�����
������
��	���
����
4"�



�������	����
�����
�
��������������������
��	�������
�������

�/'�

��5���
����7
�:� �
� 7
�� 8������� 5
5� �

����5� <� ��
��
����� �
�����"���
� �
������ ��������:� �����5�

A����

���
��B��������
��
����

) ��� ���������
���� 	�
�� �

���
�� <� 5
�
�� 6����� ����=��� 	����>�U���� 
��� �
�
�� 	��

��

�
����� ��
����
����� ����5���
5�� ���� 
�� ����>�� 	�5
�
�:� ��� 6���
���� 	�� 
�����
�����

��5	56�������
�����
�5������6���
����	����5�
�
�
���
4���
���
5����5�5	��
���?�

) 
�� �������� 	�� 	������
���� 	��� ��

�
����� H�=8�
�� ��
��5�� 	���� ��� ��

�
���I� �
� 	���

���	�
�����	��
�����
������
���	�
4���

�
����"�

G�����

��	��
�� ���
��
� �
�� ����	�
4����8�
����
�� ���	������7
��7
���	5
����� �
�;����
���
��

�����	� ���
�7
�:� ���� 6��������
:� ���� 6
���
� ��� ���
�� 	���
�5�� �
�� ���� ���=�5��
�7
��� ��5��� <�

�����5������:� �
� ���
����
:� ��
�� H����I� �
�� ��� 7
�� 8������������ ��� ��������
� ���4���������

����	�����:� �����5������� 	�	��
�7
�+:� ���

��� H��=��
� ��� 6���
���I� �
�� ������5���
�
����

��6����
�7
�� 	�� �����)��"� ���� ��
� 	���� ���
��=
5� <� ���� ��������� 7
��
��������
�� �
�� ����

�5
>�	��� 	�� �����5������:� �
� 	�
��� ����9��� �5�5����� �
�� ��� ���=�5��
�7
�� 	�� ��� ���
��
�
5�

��
�������	��������5
�����	��������
�����
�������5���
�
����	
�	������
�6"�

�

�����7
�

�������5
��
��
�
�

�5�������=��:��
����
����
�
��������
���������������"��������������

�����
4� ���
���5���
5�� ���� <����
��� 	��	�
4�	��
���
�����	
�
���������� ����9�
��� H3
��	��:�

�.Q+�?�&
���
	:��.Q+I���

) &�	�6
����
�������
�

o ,�*��
� L�	�����O� ����	�� �������
�O� �$������
��O� �����	����� ��� ��-��$�O� ����
�

��	�������

	���O������
���	����
�O������
���M�

o #������� 	�������

	��� L�	�����O� �*-�
��!
� ���	�������
� E� ����	��

��	�������

	���E��6������
	�����O�
�	��
���	�������

	���O�
���
������	������O�

�����
���	����
M�

o 0�������������L�*-�
��!
���
���������O���6��
�!��	�
���
�O���6��
�����
�����
�E

��
	�$� E� ��6��
� ��
)�����
�O� ��6��
� )��	��
�O� ��6��
� ��� ����
�O� ����	��

��!!�
���M�

) 0�	*��	���������	�
��	������

�������������������������������������������������
+� ��� 7
�� �>������� ����5� �
� &5���	� G���)���
����� ��������
� ��� �����
� 	�� ��� A���;�>��5	�������B� H$//'I:� 7
��

���9����5�5�������
� 	��� A��������)��)��
��B�	
� 6����
�
�� 	���� ��� ����	�
��� 6����
���� A�������7
��B� ��� 6���)<)

6�����
����6��
��������=8�
�	�
��
�������	��������
������5���=��:��5�����
�:�	�����������	����

�
��������
�
���
5��:�

	���������
��������
�	��6����:��������
:�
��
�������	��������
������5��6�7
��������
������7
����������	�������������
�

��A����5�������	�	��
�7
��B"�



�������	����
�����
�
��������������������
��	�������
�������

�/#�

o  �!������������
��*���L���	��
���
���
�����E��*-�
��!
�E�������

����O�	������

��	�
��

����E�

��	���'����'���	������O�!	
������������	�����E�������
'���	�����


������
	�����O��	������E���6��
����
����'�
����'���	��	����M�

o #��
���
������������	����L��

	���
6
�����7Q�	�����	���O���

	���	�����	���

7Q�
6
�����O������
��
6
�����7Q�	�����	��M�

)  �!����������
���6��
�

o ��6��
� ����	�����
� L
������
� �
���
�O� 
������
� ��	��
�O� 
������
� 
���O�


������
���!���	�����
M�

o ��6��
� ��!���	�����
� L�	������� 	�����	��� E� 
������'� �����	����'�

�����)������
�O�����
������
����	���O�����
���
�	�����
M��

���	5����>����5�����5��������������������
�������	
�
����	�
��������
���:�����
)<)	�������7
��

8���� �����5� �����5������� 	�	��
�7
�"� ����� ������
��
� 
����� �>����� �������������� 
��� �>����

	�����;��:� 
��� �>���� 	�� ������
���� ������
��
� 	�
4� �����
4� H��5��6���
����� �5�5�����:�

��5��6���
����� 	5
����5��I:� 
��� �>���� 	�� ��������
����� 
��>��7
��� ��
�� �������� ���C
���"� ���

��7
�

�� 	�����:� 7
�� �����

��
� 	�� �����
��� 	���� ����=��� �5
>�	�����7
�� �
� 	�� ������� ����

	���5��� �������� <� 
�� 	5����������
� ��5��6�7
�� ��
�� �5�5���� 
�� ��>���� 	��� �>�����:� �� 5
5�

�4�5�����
5�����	��
�	�
4����5��� �������
�	���5
>�	�����7
�� ���
�
���
5"������ ����
� ���

�5��
�� 	�� �����

��� 	�� 6���������� 
�� ���
���� ���=��� 	�5�5���
�� <� ����	��� ��� ����
�� ��
��

���������� 
��� �����
���� �5	�����7
�"� ���
5�� ��
�� ��
���
��� 	5����������
�� 	�� 6����
���:�

�����5
��
�
�

�6���������
�����	5����������������=��������5����	���5
�=��������
��	
�����:�7
�:�

��� 	�>���� 	�� ��� ����
��� ��%:� ��5
����
� ���� ��� ���	
�
���� 	�� �����
����:� ����� ������ 	��

	������
�6�� 	�� 6����
���O� ���� 

�����
���� �����
� �
���� ��� ���=�9��� 	�� ��57
������
�

��6����
�7
��	���6����
�
��:�7
����5
��
�������������5�5�����5"��������
�	�������
5��
���=8�
�	��

��=���
����:�	���R���7
��������
�
;���	���;�
9����4���
�7
����5
5����
�
��	5������5"���������


�����������
��������5��	�����
��=������	��6��������
����	���	5����>���7
�������

�������� ���

�
�
�"�

��A��

���
��B:� �
�� ��7
��� 8�� 
����������:� ��� ��

��
� 	���� 
�� �

��� �����
��:� ���
�� 	�� ���

���	
�
���� 	��� �����
����"�  ��� 	��� ���=�5��
�7
��� <� ��7
����� ��� �5���	��
� 5
��
� ������ 	��

���

���
���
����	�
������
���	
��������
��	�����	
�
������X���<�
�� 
�������	�� ��5��6���
����

6�������� ��� ����
� 	�� ��� ���������
���"� -���� ���� ��������:� ��� �=������
� <� 	5��������� 
��

�������
��	�������
������:� �
��������
��7
��� �

����������
�:� ���
�� �����=���	�� ��

�
�����

H����5
�
��	
��;�
9��I�	��
����6�����
�	5�������������	�
�����	����>�U�����
�H����
�����
����I"����

�����������5���
����=�
�����
����
��H	5���
������	����
����������������6����
�7
�I���

�



�������	����
�����
�
��������������������
��	�������
�������

�/2�

-�L ����%&������
������Y�� � He���
������
���eI�
G �* f������Y/:�L% ����� He�

���
��<�5
�
��6�����F�������
�����7
����

�����
�
���>����
�	��7
�

���H5
�
Y/IeI�
� �1�� ������%��- ��H����I�
� � �1�� ����%LG��H�I� He�45�

����	����=8�
����������5��	������5
�
eI�
� � 3�!�%LG��H�I�
� � O�
� � �1�� ����%LG��H!I�
� � � O�
� � � �%!-���%!H!I��Y0���� He���
������=8�
����
���
�	5�����>���	������	�
�����	��
�����
���eI�
� � 3�!�%LG��H!I�
� � ���� �c���!����%!H����I�
� � � ����%!-���%!H!I:����� �c���!����%!H����I��Y1�He
�����
��������
�5��������5�eI�
� � � ��!%!:��33��������! H����I� He�������	��
�����
��������
�5�:��>��4�

�����
�
�eI�
� � � G �* f��������c��%�1c��! H����I:�L% ����
� � � � ���� �c���!����%!H����I��Y��%�1c��! H����I�
� � � 3�!�L% ����He��

�����
�
��6��
�
���>��4����������������=���
5���66��
��:�	��
�A�O�������Q+O�BeI�
� � 3�!����� �c���!����%!H����I�He���
�����
������5
5�����
�5���
��>������������

�����
�
�eI�
� 3�!���%��- ��H����I�
� ������Y���� �c���!����%!H����I�
3�!�L% ���� � He6����

���
��<�5
�
��6����eI�
3�!���%&������

�

����
�����
��������	�
����������5
����
�	5���
�������
���57
�
��������7
��	��
�����5�
�
�
�5
��
�

5���
5����6���
����	���5�9�����
��7
����5
����
����	
�
���
���
���	
�
���
����
�	����=8�
��	��

��5
�
�?�����
�����
�����	5��	5���������

�����
�
��������
����
�
��
�4
���66��>�=���	����
�����
"�

��

��� ���� 
�����
����� 	�
�� 5
�
� 5
����
� ������=�5��� ��� 
��� �>�U��� 	�� �����
9������ �>�7
��


�����
���� ����
�

��
� 
�� =���� ��
��� 	�
4� �5����
�
��� A�?�B�?� ���� 
�����
����� ���	�
����������

5
����
���	�7
5�������
����4�������������7
����
��������
>9���

������
�	��������=�������=�����

������<�8�
��	������5
�
:�������5��
�
�������7
���5
����
��	��
�6�5������
���5����
�
����5��6�7
��

A�"�B�?�����5
�
�����������	��
��<����
�����
����5
����
���	�7
5����������;�=����A�g1�B�H1�5
��
�

��� �
�5��� 	�� ��5
�
� 	�� 	��
���
���I"� ����� 	�����
� 	��� �>�U���� ������ �����)��� 	����
�:� 7
��

5
����
�����;�5�������������

������
�
�

�������	�����

���
����

?H��%��gYQ/Ig(?H��%��hQ/"�!-"��%��g#/Ig'?���%���!���g$?* �����g/?Q�

 ���
������
�
�

���	������������6�����
��
:���
����

��:������5�
����	�����
��
�����	9�������7
��

����� �����
� 	56����� 
��� ��
���
5� 	�������
������� �

�
�� 	
� �>5���9�����	5���5"� ���� ���
��:�

����� �=������
� <� ���������� ��� 
������ 	�� A���

�
�����B:� ����:� ��
�� �>��
��� 	�����:� 
���

����5���
�
���� 	�� ��� 7
�� ����� ��;��
� <� ��5����:� 
��� ���
�� 	��� ��
����� 7
�� ��
���
� ����������

��

�����
�
�:�
���	������
����	�����7
����
���
�R
�����	�6�5������������
���
�����������
�����	��

��

�����
�
�:� �
� 7
�� 	���� �
���
� 
��� ��6�
����� �
�� ���� 5
�
�� 
�
5���
��:� �
�"� ��� 
;��� 	��

�����������
� ��5
��
� ���� 6�������� �
4� 6����
�
��:� ��
� >�=�

5�� <� ���������� ��� 
������ 	��

�������������������������������������������������
Q����7
����������
�����
��
���������
�5���
���
�5����<�Q/:�������<���5
�
�(:���
��
����������
���#/��
�Q/:�������<���5
�
�

':���
��
����������65���
��<�#/:��66��>���
�����
����������	�
4�������	���A�������������B��
�A�*
�

���B"����

��

�����
�
��	5��	��
�	�������������:�����;�
9����������
�<���5
�
�$"�



�������	����
�����
�
��������������������
��	�������
�������

�/+�

A���

�
�����B"� ��� ����
� �5�������� ������
���� 	�� 6�
����� 	��� ����5���
�
����� �����9
��� 	���

�����
�����<����	
���:��
��������
�<�
������
������;�
5��
���
����	�����	5����>��	��������
����

	�����
���
5��	�	��
�7
��"�����R���
����:� ����	���
��������

�
��	�� �����7
�

�� ������
�����

	�665���
��� ���	
�
����� ������
� ���� ��� 5��	����� ���4��
����� 	�� ��
���
��� ����	������ 	��

������
���� �
� ��
�� ������
� �=���5� <� 
���������� ��
�� ���
������� �
� �����	� 	��� ��

�
�����

	�������
�������?�	�
���

����K
5:�����������
� ���7
��
����	�� ����
5���
����	��	�665���
���

����

	���	��<����������
�����
4�	�665���
�������
4�	�����	5����>�:����7
����	5=�
�>5�����	����
�

�
�����	5��	�
��A�	��������������������
����B�	5	�5�<����������
����	���
�����	��6����
�����
�	���

�����
����� ������5��:� �	5�� 	5������5�� 	9�� ��� 	5=

� �.QQ� D(:� �>���
��� ���E"� ��� ���8�
�

��!�� �:����
�5�����.Q+:���6�
�����������

��
5�	���������	����������
�����%:�	����R
���	���

�>��4�	���������
����H57
����	5	�5�I��
�	��	5����������������
���	��
������"����
��������5����5�

�
�� ��� A�����
�� ��
�������
�B� H�6"� �>��"� �I� ����
� ���
�5� 
��� �����=���
5� 	������>�������
� 	��

��A��

���
��B:� 7
�� ��
���
� ������ ��
5����� 
��� ��
�>�� �����

��
� ���	��
�
���� �
� ���6���

	�������
������� 	���� ��� ���
���� 	��� 
�����
����"������ ���� ���>���>��� �5����5��� ��

�� ���5�)�<�

H�.QQI:� ��X��� �
4� 6���������
�� �����5���
������ �=
��
�� 	
� 6��
� 7
�� ���� ���8�
�� 	��

���
��
�
���������
�5
5���
��
��	���������	���	����������<����8�
��A��
�
��5	���B�H�6"��>��"��I:�

���
����
������
��������
��
��	�
4�����
�����

) ��5
�=��������
� 	�
��� �
��
5���� �5	�����7
�� ��
�� ����7
���
���� 	��� ������
��

�����
�6�7
������6����
����	����5���
��:�����
���

�
������
�
;����	�������
�������?��

) 
����5
>�	�������	��	5����������
�	����5�������5	�����7
�������
;���	����

�
���:�<�

���
���	����7
�����	����
�R
�����������������
�=X
�����
������	���5������������"��

������7
�������	5�5��<���5��7
��������	����
�	�
�����������	�
������
��������
����
�������


��
� 7
�5����� 	����5���
��.:� ���� �

���� ����
� ���� 6��
� ���=8�
� 	�� �
=����
����� �
47
������ 8��

��
�����������;��"�G�������	���������5���
��������5�
�
�
�������
����"�����
��
5�����5	�����7
��

�	��
5����

�R
�����5���
5���������
�=���
���)	����
�:�7
������5�
���
�	���������
��	���;�
>9���

	���.QQ�D(:��>��"����"�E"�

�������������������������������������������������
.� ���� 
����
4� ��
� �=�

��� �
� 	5����������
� 	�
�� �
��
�� 	�� 6����
���� 	����5���
��� <� 	��
����� H���8�
�

��!�� �I:� ����� ���	
�
���� 	�
�� �����=��� 	��� �����
����� �5	�����7
��� H������
��� ������5�:� ���������� 	��

���
��
���� �
� ��
�� ���� 
����
4� ���
�7
��OI� ��
�� ��
�� 	�� ��� ���
�5� 	
� �
��
�:� ���
� �������� �#//� >�
���� 	��

6����
���:�=X
���<����
���	�����	9����7
�����
�R
����
�����
����
���5���
5�"������5�
�������
�������
�	����
��	��

2��3:�������8�
���5
5��
����	
�����../:��
����������7
��7
������5�����
��
��	���
���������	��3�3%-"��



�������	����
�����
�
��������������������
��	�������
�������

�/Q�

�

������
�� �������
����
�

��������
�����
��

>5���7
���

����5���
�
���� ���>��������
�����
4�
���
�7
���

��	
�
����

�
����
��
��������
�
���������
�

��������
�
���������
�

���������
�������d�
	��
���
��
��	
�
������

��7
�

���
��

�
����
�5�����

0���	�
���� *���
�4��������d�
-�������
������5��

�4�5�����
�
����
d��4��������
������5��

�4��������d�
���8�
�

�5�����
���� �������
����

�������
��
	�������
�������

����05��6������������������7
5����������������0���	�������������������6���
�������������0���	�����������������7
���
�����H=����I���������������H������
�I�������������H������
�I�����������������H�5���
5I�����������������H�5���
5I�

��=���
���

��

�� �
��
5���� ����� 6��������
������7
5����
������������ �������=���	
��
��
��	�� 6����
����

	����5���
���	
�	������
�6���!�� �:�;�����������
��	�����
���������������	
�
��	�����8�
�

�
� ��� ���
���� 	���
�������"� ���� �
����
�� ������5�� �����
� �
��	��	��5�:� 6�����
� ���=8�
� 	��

������
��:��	��
�6�5������	�������	��������������
���
����
����
�����565���
����	��6����
����7
��

����
�������	��=����<���>�=���
�
����	�����6����
����	����5���
���
��	�
��������"��>�7
��������
��

5
��
� 	5��
�5� ��� ��	
���� �
� 
��
5�� 	�������
�������/:� �
� ��5���
5� ���� 
�� 8�
� 	���K����

�
��	��	��5���	�7
��
�����
�


�	���>�7
��5�5���
�H�=����
����:���
������:���
����������
������:�

���������OI������

���	
�
��������

��	
�H��
��:��4������:�
����
4����
�7
����
�����
��
�
�OI�

�
����	
�5�"�

��
�� ���� ��

�
����� 	���� ���7
������ ��� �
����
� 	���
���
5� 5
��
� 
�� ��������:� ����
)<)	���� �������

�����

��
� 	�� 
���������� �
�� ���� ����5���
�
����� 	��� ������
�� �
� 	�� ����	��� ��
�� ��7
���
����

����
�	���������<�������������������
���:�8������
��
��������;�
5��
���
����	�����	5����>��	��

������
���� ��
�)8����
�� <� ��A��

���
��B� ��������
;��
� �
�� ���� 6����������� ������5�� ����


��� ������>�� ����	������ ����N� �������:� ��
��	
�
�� ��
� 	�� 
����� �
�������
� ��� 3������ �
�

���
�����5�� ���� ��� ������ 8
�
�� ����
� ��� 	������
���:� ������ 	�� ]��� �������;� �
� ���� &�����

H�.Q#I"� ��� ��������
� 	��� 5�5���
�� 	�� ��

�� �5
>�	�:� ��� ���������
:� ��
�� ���:� 	����
���� 
��

�������� ����� ��
��� ��� �����
� 	�� �����5������� �5	�����7
�:� �=�

�����
� <� 
�� �565���
����

	��=8��
�6�� �
� 	�� ��

�
����� =X
�� <� ���
��� 	
� ��	9��� 	�� �
��
5���� ��5���
5� ��)	���
�:� �
�

�����5������� 	�	��
�7
�� �=�

�����
� <� ��� ������
���� 	�
��� �����
���� 

���� 	���� 
��� ��

�
����

=����	56����:����������������
����	����
����:�<�
����:����
�
���
�����

��	5����>�"�

����5�
�
�
�����
���
�

�5�A��5
>�	�������	��	5����������
�	����5������B�H�-�I��
���5
5�	5���
�

	����D(�:��>��"����"$E"�G���5�
�����

���5
>�	���������)	����
�"��������;��
�&���������������
�

�������������������������������������������������
�/� ��� =���� ��
��
�� ��
�� 
��� 
��
5� 5
��
� 
��� 	
�5�� 	�� 
������� ��
�� ����������
� 	��������� ��>�
��� 	�� ��
��:� �
�

	��4���������
�	��������
���"�!�
���������=��
��5���

��������>�������������
������	���5�5���
��	��	5�������
���:�

-�� �H-�������F���
���F���	
���F� ��
5I"�



�������	����
�����
�
��������������������
��	�������
�������

�/.�


��� ������>�� 	�� ��� ������
���� ���� ����������
���� 	�
��� �5���� 	���
���
5�� H��� A������� 	��

����>5���BI� ������ 7
�� 	��� �

���� 	�� 	������
���� 	
� ��5������ H���>�
��

��� �5�5����:� 5������

�
������6�:� 
�=���� 	���
����I"� ����� ��� ���7
��
� 
�� ����� ����� ��� �����
� 	�� �����5�������

�5	�����7
�:������7
���5
�=�������5
>�	���-�"�����5
>�	���-��������
��
�
�����5
�����	��

6��������
������

�I �27*$*%*+$� /&� ;�1�&8-2'*&$)&� /�(--'&$%*,,(.&�$�<��� ��

�� 5
���� ������@��
� ���� ���

	56���
���� 	��=8��
�6�� �5	�����7
��� 6���
�5�� 	�
��� ����9��� ������7
�:� �����

��	���
���:� ��
�����
:� 	
� �����
� 	�� ��U
����� �

��	
�?� �
��� 
�� 
������� 	�� ��5�
���
5�

�=�

�����
� <� ��������� 
��� H�
� 	��I� ��

�
���H�I� �
����
�=��H�I� 	�������� ��� �
=���� <�

�66��

��� ���� ������
�������� ��
>��
5�:� ����� 
��� 	������
���� A������
����B� 	��

���4�5�������	�������
�������������5��	�������H�
����I���

�
���H�I�("�

$I �%'4)%4'(%*+$� /&� 1�&8-2'*&$)&� /�(--'&$%*,,(.&��� 	���� ��

�� 5
���:� 7
�� ��
���
� R
���

�
5��
���:� 5
����
� 	56������ ����
���
5� ������5�� <� ����������
:� ���� ��
����� 7
���� ��
���
�

�66��

����
������5��
�����	
��;�
9��"���

���
�
�

��
����������������5
��
���
5������5��

����A���
���

��
�
�

�

�!
���
���!!�����
���	�
����
��	�����
�	
�����$��������	�����B�

D(:� �>��"� ���"$E� �
� 
�� �������� 	��������� �5�5���� 	��� ���>�U�����
�� 	�5
�
�"� ��

��

5
����6�����
� ���=8�
�	�
�������	�
�����4
�������
���5��6����7
��������
���
5��������5���

�����

����
�=����	��

���	��������=8��
�6��5����5��<���5
�����"�

(I �)'*%4'&�/4�,)2$('*+���	������

��5
���:�������������
�	��	5���������H�
����I���

�
���H�I�

��
�� 6�����	�� ��5��6���
�����	5
����5��:� ���������
�	���	�������	�5�������
���>�7
��

5
�
:� ������ 7
�� ��� 7
�� 8������� �����5� ���� A��	*��
� 	
����
� E� 
��������
� E� ��	
����
�B:�

����
)<)	���� 	��� 
�=���
4� 	5������
:� ��
�� �>�7
�� 5
�
:� ���� ��
����� �����=���� 	��

��

�����
�
�� �
�� ���� �=8�
�� 	�� ��� ��9��:� ���� �5��
����� 	
� �;�
9��:� ����=���� H�������:�

��	�6���
�����	��=8�
�OI��
�������=����H�����4�������������
�����
�	��	���5��I:� ����

�9����� 	�� 
���
����
� ���
��
��9���� H������
>���� ��5��6�7
��� ���� �4�����I� ����� ��
��

���	�
�����	���
���
���:��������5�>5��
"�

�������������������������������������������������
������	5��5
��
�	�����������
����5����	���
���
5�	�665���
���<����
���	�
������
�	���
�5��
��7
�"�����5
��>����7
�����

��
�

����5�5
��
�������	�� ���A�������	������>5�B:��T�������
���
5��5
����
� ����5���
5����������

��
�	�5�>������

	�������7
����������������
���
���
�������	���	��������	���7
������
>��
��
"����6�

�	����7
������
����
4�	���������;�

�
� &����� �����������
� ���� ��6��
�� 	��� �������� ��
��������� �
� ���������"� G���� 
�������5� ��
�� ������>�� ��
�� ���

6����
����	����5���
��"�
�$����
�����5
��
����
��	
�
����	�����4���������A�9�	������0$������
��B�

����5�������������;��
�&�����H�.Q#I"�
�(���

��	������
���������
���������

��
:�	����
����������
����:�	������	���������
�������	�������

�
�����
������	�

	����=8��
�6��	�������
������"�-�������	�
4�9���5
���:�����������6�������5��	�
�������9�����
����5����"�



�������	����
�����
�
��������������������
��	�������
�������

��/�

���	�������	����5��6���
���:�<������
��	����

���>���:����
����
�	�������	���������	�5
�
������

���� ���	�
����� 	�� 
�����
���:� 	�����7
�

��� 	�5����� ��
�� �>�7
�� 5
�
:� ���� 
�=���� A���
����� F�

���	�
����� F� �5��
�����B� ��
�� �>�7
�� 5
�
:� ���� ������
>���:� ��� ���
�� 	��� 	���5��� ������������


���
5��� ���� ��� ���������O� ��� ��
���
� R
��� �����5
5� ���� ��� ���
�� 	��� ��������:� 	��� 
�4
���

5���
���
��������5�:�������5�������	���57
�������
	�����
�����������;��������
O����	��
���
�

5
��
� ���5���
� 
��������=��� 	���� ��� �
�
�

��� 	�� ���������
���� A��

���
��B:� �
��7
����

	5������
������=8�
���5�5��������

���
�
�

���H5
�
�:�
�����
�������
�������5
�
�:��=8�
������=�����
�

������=���:�������
>�����5���
���
��������
����
:��
�"I"�

��� �������
���� 	����
�
���
��� ��� ��5�
���� 	��� ��5������� ��X��� <� 
�� �
������ 	�� �5���� ���������

�����
5���%�5
��
�	�����������5��<���

��5��7
��D(:��>��"����"(E:���
���

���
����������������

	
� ��5������ <� 
��� ��7
�

�� 6���
��������"� ����� �� 	������
��� 6��
� ���=8�
� 	�
��� �������
����

��
����������	
���������������	��66����	
�����������-����:�����:�=����7
�������
��	����
��

	����4���	��
�������	
����������:��������������5
5���
��
���'"�

�� 	56�

� 	�
�� �
������ 	�� �5���� ��������� ��
5����
� 	�665���
�� �

���:� ��� 	5����>�� 	����5�������

	5���
�� ��)	���
�� �� �5�������� 5
5������ ���C
���� ��� �����
;��
� �
�� 	��� ���������� �
��	��	��

��
�� �5������� ���� ��7
�

��� 	�5����� H5	�
�
�� ����>�7
�I:� ���� 
�=���� A���
���� F� ���	�
����� F�

�5��
�����B� H
�=��
�I:� ��������>���	�5
�
�� H5	�
�
������>�7
�I:� �
�"� �
� =���� �P�� ��A��

���
��B�

�������
�
�

���	�����������
���"��������5
5�

����5��	��=��	���
������5����	�����
��
�
������

5���
����7
��	5������5���
�����:��
���
�����
���
��%��%)����H�6"��>��"��I:��
�����
��	��

���=��
�������	
�
�������������=���
���������	��

�������
��������7
����
�5
5���
5��5��	�������

�
��
�� 	�� 6����
���� 	����5���
��#"� �� �>�7
�� ��
������ �������
���:� ��� =������ 	�� ���
������ 	��

�5����������������6�������
��:���������	5����������
:�	���������	���	
�����������-����:�	��

���
������ %�& �:� ����
5� ���� ���������� ����� ��� �����
��� 	��

���� ��=���
������ �
���5����

�������������������������������������������������
�'�%�
� ���� ���
��� 5
5� ��
��
�	������8�
�� �������:� ��������
4�=X
��� �

�
�� 	�� ��� A�����5���
�
���� �
	�����
�����

��
����
���� H��0�I�B� ��

��
�� ���� ��� �����
9��� 	�� ��� 	56����� 6���@���� �
� ���� ��	
�
������ 	�� ���������
� D#'E:�

���8�
��7
��������
����
5���
��
�	��	�����
�
;���:��
��
�
�

�������8�
�	�����
������%�& ��	��
�����	5����������
��

5
����
�����
5�����������������
�7
���5
������
�	�����=��
4��>���>�
��"�
�#�%

���	��6����
����<����������	��	5���������
����������5����5������������������	����������
������5	�
���������:�

�

����	��6����
����<��������
�������	���;�
9���5���
���5����7
����
�>;	��
��7
���������-3:��

���	��6����
����

<� ��� �5
>�	�� 	�� ����=��� 	��� ��
���:� 
�
8�
��� ����� �-3"� ��� �����=���
���� ����� �-3� ����� �
���� ����������� 	
�

	5����������
� 	�
�� 	������
�6� 	�� 6����
���� <� ��� �5
>�	�� �-�:� �
���� ���� 
��� ���7
��
����� 	�� ������5�� 	��

����
�������:�7
�����������
������

���� ��
5��5��	�������A���>5���	��6����
����<� �������
�������	���
��>��������

	������
�������
��5������B"�



�������	����
�����
�
��������������������
��	�������
�������

����

HL����9��:�����>��	
:�i�������:��..�I�����
�����
����
��	����R
�	56���
�6�<����������	��=
�����
��

6���������
��
=������
����
������8�
"�

��

�������9���������>�:���
�����:�	�������5������:���5
��
�	5��
�5��	���������	���	�
�����8�
�

7
�� ������
��
� <���	�6���� ��� 6�����	�
�� 	������
�6� 	�� 6����
���� ����� ��� �>������ ��� ���
��
:�

�
��7
����
��
������������<����
���	
��565���
����	��6����
����7
��5
��
����
��	����>�=���
�
����	��

��� 6����
���� ���� �������������� 	
� 
�
��� 	����5���
�:� �565���
���� 7
�� 5
��
� ��
����=��� 	���� ���

������	��7
����
��5
��
�6��
�"��������=�5��
�7
������������5���5
����
�	��	�
4���	������	�
��

�K
5:� ��������� 	��� �57
������ 	�� ��

�
����� �����

��
� 	���7
5���� ���� �������������� �
� ����

����5
������ 	56������ ���� ��� �565���
���� 	�� 6����
���:� 	�� ���

��� ���
�
���
��� ���� ��

�
�����

��X���<�	�����
�6��
��	��
��5��<�6�����
�������7
���
����	�����
���������������������
�	�����
������

����5
�����:������
��
���
����������
����	��������
�6��
���
����������
����	�����

�
�����	����

���7
�����������������
�R
���

����5�"�!�
��	�������	����<����6��������������	���������������
��

	�������
������� �
� ���� ��
��
���� ��
��� �
4:� �
� ���������� 	��� �

���� ����
�


�6�� 	�� ����

������������
��	�������
������:�	����
����������
����	���	
�
�������
����	�����	5����>��2:����

7
���������
�	������
����
���6��
���	�������	
�
�=���
5��
�	��
����65��=���
5�	����5
>�	���������

��� C
���"� ��� �5������ �� 5
5� 	�
=����� ���>���>�� 	�� �
��	��	���
���� 	��� 6������ 	�
�� �K
5:�

���>���>��	�
����5
>�	�������
��6���
� ��� ������
����	�� ��������������
�	�������
������� �
�

	����
����
��7
��;������
�

����5��	�����

��"�

����	�4������
:� ���� �����9���� �
=����
����� �
�� ��� �
8�
� D+:� �/E� ��6�9
��
� ��
� ����

��5���
��
�����	�� ���>���>�:�7
��<� ��5��7
�:�	������
� ���
������6�	��
������"������� 6��������
�

�
� ���
������ �
�� ��� 	5����>�� ���8�
:� ����
)<)	���� �
�� ��� 7
���� ��
��	
�
���� 8���� �����5� ���

A�	�
4�9��� ��
5������B� 	���
���
5�:� �

���� �
� �5
>�	��� ���� ��
�� �5�5������ �
� ���� ��
��

��	5���	��
��� 	
� 	������:� �
� �
�� ��� �����
� ��
�� ����
�7
�� ������� �
� 	������:� ���
�� 	��

�����5�������	��6����
���"�G�;�5
�������6���
5�<����6����������7
��8�����������������������=���
5�

	�� ��57
����	�� ���>���>�:� �
� 	����	
����
����	���	��������	�� �5������ �
4�������� <����8�
��

H��
����
4��
��
���5���I:�������
����������7
��8�������5
5�����5�<������������
�<��5�������	�
4�

���5���	���
�
��
���6����
����	��A��>�6��	�����8�
��B�<����	����	��	�����-3�:�7
��5
��
�
���

6����
���� 	��
��5�� <� ������������ ��� �5�����
���� 	�� ���8�
�� �5���� ��� ��
�������� �
� 	���� 	���

�������������������������������������������������
�2� ��� ���������� 	�� ��� 6����
���� 	����5���
��:� <� ��5��7
�� ����
� 
��� 	
�5�� 	�� ("(+#�>�
���:� ��� 7
�� �����6���
�

�

��
�	�A�
��
5��B�	��6����
���:��
�	����	����

�
�����<� �������������� ��
����
����
�:��
�<�����
�
����?��
���
��

������� ������ �=8��
�6� ������5� 	�� ��
����� ���
������� �
� ������ 
�� �������� 	�5�9���� ���5���
��� ���� �����
���:�

�5���
���	���������/����
��������
�

��
���������������	����5���
����������������

�
������
� �����
����
��	������
�

	���� R
��� 6��������
� �����	
�
�=���� 	���� 	��� ���
�4
��� 7
�� ��
�����
� R
��� 	�665���
�:� ��
�����
� ��� 
������

	�����	�����
�	
�	������
�6��
�	�57
������
�"�



�������	����
�����
�
��������������������
��	�������
�������

��$�

���
�


����� 	�� 6����
���"� ��

�� 6����
���� 5
��
� =X
��� �
�� 	��� 5

	��� 	�� ���:� 7
�� ��������
�

����5� <� ����;���� ��� 	5��
�����
� 	�� ��
���
��� ���8�
�:� �
� ��������
� �����;5O� <� ����

�4�5������� ��
5���
��� 	����>�
��
�:� 	��
� 6��������
� ����
���
5� ��� �5�5���
� 
�9�� ����>�� 	��

�����5�������	��6����
���:�=����7
�������������7
X
�<�	����=8�
��	�665���
��M�G��������@���:����

�5	�����
� ��

�� ��
�:� 7
�� ����
� 6��������
� ��� ��
�
�� �56��4�6� �
������ �4�5������� ��
5���
��:�


�������5� 	���� ��� ���
�4
�� 	�� A����8�
�� 	�� 6����
���� �
�
��5	���B� <� ��� 	����	�� 	�
��

������	�
����:�7
����6�
���������
�9���	���������������5���
���
�������5�������	��6����
���"��
�

7
���������
�7
����;�����
�	��
�����7
�����7
����5
5��������
����	������
�������	����5������������

	�� ���� �����9���� ���5��� �
� ����:� <� ������� 
�� 
������� �
�� ��� 6����� 	��� 	������
�6�:� �� 5
5�


>5����5�+�D#/E�M�-��T�
��	5������:�<���5��7
�:���
�������
����
4�	�����>���>�:�7
�����	������
�

����6��������=8�
�	���
=����
���:��
�����
�4
����
=��5�����	����
����	������
������"�

�����
����
��	
�	������
�6���!�� ����
�5
5��4����
5��7
��7
������5��:���
�����
�<�!���;�

�
�<���
��:������ ���	������
�6� �
�)�R��:������5� �������
�������
� �5����5:� �������� 5
5��������

C
���:� ����
�����5� ���� ��� 6����
���� 	����5���
��� ���� ��������
������� 	��
� ��� 	�������

	�>�=���
�
���� ����
� 5
5� �����
5� ���� ��� ����������� 	
� 
�
��� ��� �../"� ����� �����5� 
�

:�

7
��7
������5�����
��
��	:����6����
����	����5���
����������6����
�����
���
���
�<�	��
�������
�

��	����
��	���

���
5:��������

��6���������������	�������������565���
����	�����6����
�����
�	��

	56�����
���565���
����	������5
������	�������5���
������
�	���������������6����
�����	��
5��

H���8�
� 3�3%-I"�  �� 	�����
�6�� ��
�� ��������� ��� ���8�
:� 	��
� ��5

	�� ��5���������� ����
� 6��
�

���=8�
�	�
���������
������������-&�3������..+:�5
��
�����5	
�
����	�����	
�5��	���5

	���Q"�

�

-���� ��� ��	��� 	
� ���8�
� 3�3%-:� ��� ���
��=

���� �� 5
5� �������
5�� �
�� 	�
4� ����
���� ���

�5
>�	���������
����5

	��	
��565���
����	�����6����
����	����5���
��:��
���5

	��5������7
��

	
�	������
�6"����	�����������
������;��
�<�����
����
4���
5���
�����
��������8�
���!�� ��

H�6"��>��"�("��	����

����
�I:� �
� 8����� ���	5��������������� ���:� ���� �����
������5

	������ �����

�����
5� 	�� ��
���
:� ��� ��� ����
� 
��� �5��

�����
���� 	��� ��P
�� 	�� ��!�� �"� ���� ���
��� ���

�������������������������������������������������
�+���5���

���	�������>���
���	
�A�����
5�B������
���
�����
�����$//("���������>���
�������5������������
���
��

7
��8�;�	5������������
�5
5�5��=��5��7
��7
���������
�������
"�G�;���������	����������
�����
����
�"�
�Q� ��� 6����
���� 	����5���
��� ����� ���� ��� ����� 	�� ��� 6����
���� ���
��
�� 5
��
:� �
� ��
� 
�
8�
��� ���
��������
�

6�����5���������-&�3�"�-��T�������
5�R
��5�
����
�<��������<����=���������	
�5��	���5

	��:��
�	
�������������
�	��

�����)��� 6�����5�� ���� ��5
�
"� ��� 6����
���� <� 	��
����:� ��� 	����
��
� ��� 	
�5�� 	
� ��5���
���:� 	����
� �����

��� 
��


����6��
�	����>���������	�
��
���������5�9������5���
���
����������;�
�:�7
�

��<����7
�����������9�������5���

�5�����
��
� 
�� �����
�������
:� ������ ������
� ���
�5� ��5

	�� 5������7
�� �5����5�� ��� �../� D��:� ���
���� ("$E:�

5

	��7
��8������5���
5��	������������9������
���	����

����
��H�6"��>��"�("�I"��



�������	����
�����
�
��������������������
��	�������
�������

��(�

������������
���������5�<����������
���	5����>���
����7
�����8��������������5�<�
����������

��
��������8�
�	��6����
����	��6����
�
���� �%3%-:�7
����
���������	��=������������<����

�����
)�<� 	�� ����� ��
��
� 	���� ��� ��	��� 	�� �����
��
���� �-���)L��:� ���
�)��� ������=���
�

�������=��� 	��� ��
�
��� 6���@���� ��
5����5�� <� ��� ����� ��� ������ 	�
�� 	������
�6� ��
������ 	��

6����
���� 	�� 6����
�
��� <� ��

�����
���� 	��� 
��>��������� �
� <� ����������
���� 	�� 6����
�����

�
���
��� �
� <� 	��
����"� ��� 	5����>�� 7
�� 8������� ������5�� 5
��
� �;�
>5
��5�� ���� ��� ��>5���

�
����
:����
�	�
��
���������5�������������5���������3��:����
��
�7
�����
�������	
����8�
:��
�

��5���
5������	
��5��������	��������
����	
����8�
�� �%3%-�H6��
����(I"�

�
�272'&$%*&1�&6-1+*� Travail Formation �(')+4',�/&�7+'6(%*+$�

����5
��������=����

 ��
5�	������5
�����

j�5���
�	������5
�����

������
5��)���������������

��
���
5�

�X�>��

j���
�
����
����
��������
�

��

�
����	�������
�������

�57
�����

�������	���	
���

%=8��
�6��
�5	�����7
���

�����
�����

%=8��
�6��	��
6����
����

3��
����(�

��

�� 	5����>�:� �4�5�����
5�� 	���� ��� ��	��� 	
� ���8�
� � �%3%-� ��
�� ��� ������
���� 	
�

	������
�6:� ������
��
� 	�
4� ����
�� ��������
4��� 
��� ����;��� 	�� ����
���
5� �
� 	��� ����5
������

��7
�������
�� ���4�����:�7
�������

��
�	�5
�=����
�� �565���
����	��������?�
������
� ���5�������

	��6����
���:�7
�:�<����
���	���5�5���
��	������5
�����:�	���������
5���
�	�����������������

������5����
4� 
X�>��:������

��
�	�������������
�	���
��
����	�����

�
�����	�������
��������
�

	�� ���������� ���� �����
����� �5���������� H��� ��
��
���
� �<� ��� �����9��� �>���� 	�� ��� �5
>�	��

�-�:�5
��	
��<��������=���	�
��	������
�6I"�

��
�� ������8�
�3�3%-:� ����
���
5�	�� �����5���
�:� �� 6��
� ���=8�
� 	�
��� ��7
R
�� ��� ��
�������� �
�

��
�����
��
��9��	�����������5�9����H����	�
�J���":��...I"���������
�������
��7
������
���
5�	��

�����5���
�� ��� 	5���;��
� 	���� 7
�
��� �>����� ���
��
�������� 	5����>�� �����
�6�7
�:� �K���

	���
��6���:����	
�
��	�����8�
:�����
�������
����
��������?��
�7
�������
������
������������C
����

	�� �(� A�����5
������ ���=�����B"� ��� ���
� ���� ����5
������ ���=����� 7
�� ��
� ����
�

5�



�������	����
�����
�
��������������������
��	�������
�������

��'�

������

���	
��565���
�����5
���:�	5������5����
�
�:�����������	�7
�����6��
����(:����
��
5�	��

����5
�����:������)�R����	5������5������5�5���
��	������5
�����:�<��>��
��	��7
����5
��
�

������5� 
��� ���
�� 	�� ������
5�� �
� 	�� �������������:� <� ��7
5���� �
� <� 	5���
���"� ���� �(�

����5
���������=������	��
�6�5���5
����
������
����
���H����	�
�J���":��...I���

�� A�������
����-��
��
�� A�������
����
�

�
�
�� A�������
���

���
�
�)��	���
�
"�  6�	��
������
6
�������	�����
%�  6�	��
������
6
�����
�����
�	���
��  6�	��
������
6
�������������
�����
��  6�	��
������
6
�������	
)	�
������	������
���������
�
��  6�	��
������
6
��������
��
��������
(� >��$����������
������������!!�
	
������
�+� /�
)��
)��'������'�����������������!���	�����
��� A������������	�����
��� #������������������������
����	��
	����
��
��� >�	������������
���������
���
)�������
��������
������
���	�������������

�

��� �565���
���� 	�� ����5
������ ����
� 5
5� ���
��
��9�����
� 	5
����5:� �6��� 	�� �����

��� ���

����	�
����	�����7
������6������������
�	����	��66������������=���
5�	�������
�����	���	
����5�:�

���7
��5
��
�
��	���5�5���
��6��	����
�
4�	
�	������
�6:�������7
����5
��
����7
�������

���
�

	���5	
��������	
�5����
�	�������������>���	�����7
����
��������������5����A������������
��

	���
5���
����H���I�B:�	56����������
��A�����
�����	���	������������������B������������=��:�

��
��5� <� �#//� >�
���:� ���������
� #//� >�
���� 	�� 
������� �5
>�	�����7
�� �
�

	��������������
������������5��
��///�>�
����	�� 
��������
��
�����8�
� ��	
�
����� �5����5����

��
�������"��
���
���	����

���5���	����
���������6��
���>;��
>9���7
�����	5������������
:�����

���6���
�
����<�	�����

�
�����	��
�������	��������4�
5���������
���H6��
����'���)	����
�I:�����

����5
������ 	�� �����5���
�� 7
�� ��
�� ��� �����	5������ ���� ������ ��� ������� ������ 	���

������
5�� �
� �������������� ����	5��:� ����� ������ ���4��������� 	�� ��
�� ��U
����� 	���� 	���

��

�
����� �;��
� 
�� �����
� 	�� ������4�
5� 	5
�����5"�-��T�
�� �����
��� 7
�� 5
��
� ��>5��
��5�

���������	5
������)	����
�"�



�������	����
�����
�
��������������������
��	�������
�������

��#�

�

3��
����'�H�4
���
�	����5

	��	��6����=���
5�3�3%-�D����	�
�J���":��...EI�

�������=���	
�	������
�6�	��6����
����5
��
�=X
���

�
��	
����"���
�������

�������7
���
����

	���������
5���
�	�������������������������	5��������������5	
���	�����������������	�����7
���

���6����������:�	����
�R
���5
�=���
�������	��6����
������	���	
���7
����������
�
�����
;����	��

��

�
����� 	�������
������:� ������ ��� 
;��� 	�� ������
5�� �
� 	�� �������������� <� ��7
5������

�

�6����
���� ���������5�� <� 	��
�����?� �

�6����
���� ���������5�� <� 	��
����� �
�

�����
�����
�� ��
�� �������� $#\� 	
� 
����� 	�� 6����
����?� �

�6����
���� ���������5�� <�

	��
������
������
�����
���
����������#/\�	
�
�����	��6����
���"���5

	��	��6����=���
5����

��5�����
��������66��
�
����	���	�665���
�����	���
5���
4�������
5���
���������������<���7
5���:�

����� 
�� ��
����
���� ���=��� 	�� �>��
��� 	������ 7
�� �� ������ ��
�� ��5

	�� 5������7
�"�

����6���
�
�

���
��>��7
�:���������
�7
��	��=����H�����
��:������<�	������
����	�����
��
�OI�

	
� 	������
�6� 5
��
� �������5�� �
� �����
� ��
�����:� ��� ���
���� 	��� �������
����:� 	
� �
���� �
� 	��

���������������
��
������
�	���5
�=��������
���5�����
4:������
��������=���
5�	����9��<�
��

���
��������	����	������
����������:�	��
;���A�����
�	����9��<����
5�56����
����.�B"�

���	������
�6:��
����7
�����5
��
������
��
���57
����	����4��������������	��
���9��	��	�
4�����

����6��������
������
����8�
��	����������
5�����
5"�������7
����������������	���
5�A�6����
����

<�	��
�����B:���
��������5����
�����
4������
���	���
�5���
���������<������
������
>5��
�7
��:�

�>;��7
���
��4���������6���@�����������5����5�"��������
��:����	������
�6���5�
���
���������	�
����

�������������������������������������������������
�.� ��� 	������
�6� ����
� 5
5� ������5� <� ��

�� 5��7
�:� �R��� ��� ���4�5�����
�
���� 	��� A�����B� ���� 5
5� ����5��

�66����������
����� ���-&�3��7
�� �����5���
����
�"� ���5
��
�	������5�
�	�������������	���� ���4�5�����
�
���"����

	������
������5��

�5��	����	�L��	�
=��������
��
������
����8�
�3�3%-��
�<�������5�������"�

!����
�	��=�
���
����
��7
�����
�����
�5���

����	
����=�9���

�����
�����	�����
�5�����
�����

������4�
5���������
���

��

�
�����	��
�������
�����
5�����
�
�����������

�

�������
��	��6����
������()34*,*%*+$,�	��������
5���
�	�����������������



�������	����
�����
�
��������������������
��	�������
�������

��2�

	�����7
������6����������������������������$/:��
����	5����>��	��������
����	���	������
�6��	��

6����
�����������	56���
����	�
���565���
����	������5
�������5
�����������
�
�<���
�
��5�5�����5��

<��������=���	���6����
�����7
���6���
��$�"����������
��:�����56��4�������5���
���
���	
����8�
�

3�3%-� ���������� <� ���6�
� ��
�� 6����� 5���
��� ���
������ 6���9���� 	�� 6����
���� 	����5���
��:� ���

�5	
�
����	���	
�5���	��6����
����5
��
���
��7
��8������<�����	���	
�8�
�"�

��� 	5����>�� �����

��
� 	�� =X
��� 
�� �565���
���� 	�� ����5
������ <� ���
��� 	�
��� ����;��� 	��

����
���
5������ ��������	����
���

������
�
�:�<� �����������	�
�����8�
��
���5�����������
�
���

	�N����� 	��������
����� ���6������������� 	
� ���
�
�� ������ ��� 5��������� 	�� ��� ���	
�
����

�
�
��5	����� ��� ���8�
� 	�� A�!�������

��� ����;
�7
�� 	
��
�
��5	��� �
���5��� H!���I�B� ��

�������	��	56����������565���
�����	��+�6��������	���5
�������X���<�
�����7
R
���5����5���
��9��

	��2#/���
���������	����.���;��D'$E"� ���
��
�
����	��������
����	�����	5����>����
������;����

���� ��
���
4� �5
����� 	�� ��� 6����
���:� <� ��� 	����	�� 	
� ��-�3%�:� ���� ���� �=�

�� <� 	���

�5�
�
�
�� ��
��6�����
�:� ���� ���� 
�������� ������5�� ��� ���
� ��5�5�� ������=���� 	�� ��=������� 
��

���=��� �����6���
�6� 	�� ���
������� D(QE"� ��

�6���� 
��� ��
������ ���>���>�� ���������
� $.�

�5
�����	�� ��� 6����
��������
� �5������
�	�R
��� ����5��<����� ���
��
���:��
��9��	����
���
���

�5���
4�	��6����
�������3�����$$:������
����������
����	���
=����
�����	�������������5�
�
�
��

���$//2"�

���	5����>��	����5�������7
�� 8����
�����C
���� �
8�
�	�>
���:���
�����:� ���������
�5���
5�

	����
���	�
=���	����
������	�
���K
5:�����������������
���A���������������������������������	�


�������
��B� ��
�����6��
�� <����
��� 	���..+� �
� ��� ���6����� �
8�
�	�>
������
�� �����=���	��


����
4����
�5���
����

�����=�5��
�7
��?�	�����

������	5����>�����
�5���
������
��5	�����7
��

�������������������������������������������������
$/������
��
8�
�	�>
��
����6���5����	������
�6�	��0�����
���������=���	���6����
�����7
���6���
���	
�����"�����

8
�;����
����
4�	��0������
������������
���>��
��	���	��������	��6����
�����
���5��
��������	��
��� 8�������

$//#"�
$��-��
��� 8
���$//#:� �������=���	�� ���66���	�� 6����
����	
��������
���	
�����5�:� �>�7
����	
���5
��
� ���@
�

��
�������

���	���7
5����
���
��
5�	������5
�����	����
���565���
�����5
����5
�=����
�������>5�����5���
5�6��
���

�("� ��� ����	�
���� 	�
��� A�����5
����� ���=����B� �5�����
�� ��� ����	�
���� 	��� 
��
5�� 	�� ����5
������ 7
�� ���

����
�

��
:���
��
��
��������56��4�6��
�	���;�
>9���H�5�����:��5�����
����	�
�����8�
OI���

��
�	����
�
��8
�;"�

������ ��
�� 3�3%-:� ��
�� ������ �����	5�5� 7
�� ��� ����5
����� ���=���� ����
� ���� ��� ������ 	��� ������
5�� �
�

������������������	5��:������ �5�����
�� ��� ���
���	�
��� ��
5���
����	��� A�
��
5�� 	�� ����5
������B� ��� ��

�
����

���6�����������"�
$$�,����
���
�����
�������5���������:��������=����	
�333%-:������5����������������
��7
�
����:����35	5��
����

	�� ��� 6����
���� ���6�����������"� ��� �5���
� 	��� ���:� ��� �!�-� �
� ���3��:� ������ 7
�� 	��

���� �5���
4� ��
� 5
5�

�������
5�:� ����� ��
�� �5������ ����
� ���� ������� ������
�� �
� �����
� �T� 8�5����� ���� ������� H�6"�

>

��[[̂ ^ "̂�	�7
��W���"���[�������
��[I"�



�������	����
�����
�
��������������������
��	�������
�������

��+�

����� �-�� �� 5���
5� ����� ��� 
��
������� ��� 
����$��
� 6�����=���� <� ����7
���
���� 	���

����5
�����"����������
��
����5������:��������������������:�<�����������������
��	����5���

����

	����������������
���������
������"��������	���:�	��6��
:��
������5���

��������
�
5������&
;�

���L�
��6�H$//'I"���

�6���:��
����������
>5���7
�:�����������>��	�������5�������	��6����
����

����
8�
�	�>
��=��
��
����
������:���
�����
������
�9���	��A������
������B:�	��	������
5:��
�

	��
��>��������:����7
��8�������	5���������	����������
�����
����
�"�

�	���'+)&,,4, �$*5&(48 �/*6&$,*+$, �+:=&%,>�

���7
��
���:�7
��8�����������
8�
�	�>
���
����������
>5���7
�:���
�������	������
��
��
����	������

	�665���
��
����
4:�7
��
�
�:����9���
�	�
�������9����
�	�
����

��:�	��A������5�������B"��
��
)

	��<:�	��7
��������5������������
)���S������������
�=�������7
������������
����	������	�����8�
��

��������!�� ���
�3�3%-����9���
�	�������5�������	��6����
���:�������
�
����5
>�	��

������ �-�� 	5=�
�>��
� �
�� 	��� ��5��6���
����� ��
�� ��A��

���
��B� ����
��
��)
)����� �����

�����5������� �5	�����7
��S� -���� 
��� ������>�� �5���
�:� &
;� ��� L�
��6� H$//':� �"� (2Q)(2.I�

�������� 
��� 
;�������� �������
� ��� 7
���� �������� 	��� A��=8�
��B� �
�� ���7
���� �������7
�� ���

	5����>��	����5������:�7
�����������	��
��
4�A������
4�B��5�5�������
��	��
5�$(�H���5�������

	�� 6����
���:� ���5������� �5	�����7
�I� �
� 	��� A��>�����B� 	��������
���� 
���� 7
�� A������)

	������
�6�B� H���
�


:������	��6����
���:�
�������
5�<�	��
����I��
�A������)	������
�6�B�H��
����

	�� 6����
���:� ��

�
���� 	�������
������I"� ��

�� ������>�� �����
�� 
�� 	5=

� 	�� �5������ <� ���

7
��
���"�-�������K
5:�05����7
��-
���
)��

���
�H$//'I�5�����
�������=���	��=8�
���
47
����

�������7
�� ��� 	5����>�� 	����5��������� ������5�� ���� ���� 
����
4� 	��5�9��� �����5)3�=��:� �����

�8�

�� ��� 7
������ �������� 
��� A������������ ��� ��	�����	�
��B:� 7
�� 8������������ ��

K
�

A����5�������	�	��
�7
��B�	����������
����T��������������������������
��	�������
�������?�������

7
�
��� A��������������������	���B:� �����
��
� ��5��������� ���
�


������:� �
�
��� A���������������


������
	�����B�7
�������<�6����������U
����
������
�����������8�
"�

��������
;��
� �
�� ���� 	������ ���8�
�� �
47
���� 8���� ���
����5$':� 8�������)�R��� ������5� 
���

�

���
;�������:����	��
���
��
����
��������
�����6������
����
���
��������
��
�D#/:��"�'#$)'#.E"�

����:��

���7
������
;���������������5�������������
����
����:�
�

��������������
�����������
�

���� 
�
������
� ��
��6�����
��� ��
�� ���	��� ����
�� 	�� ��� ������4�
5� 	��� �=8�
�� �
47
����
�������������������������������������������������
$(��6"������4������H����:�$//(�?�����5�J�G���)���
����:�$//'I"�
$'� �����8�
���������!�� �������
;��
��4�����
����
��
������565���
����	�����6����
����	����5���
��>�=���
5��

<���5��7
��������������������	
�
�
���	����5���
�"�������8�
���	�������
5��
�����6�����	
�	������
�6:�����������
��

�������
��
:�����
�����
����������
�� 6������������� ���	
�5��	�����
��:� 6�45������ ��� �565���
���"��� ���������:� ���

��5�
����	�
����
���
�A��
����B�	��
����6����
���
���5	5
�����5������7
���
�
�

�
��
��������
��������
��
"�



�������	����
�����
�
��������������������
��	�������
�������

��Q�

�������7
�� ��� 	5����>�� 	����5������:� 	9�� ����� 7
�� ����� �=��	�� ��� ������
���� 	�� ��
���
4�

������������
�� 	�������
������:� ��
�����
� ����7
����� ���
� ��
5��5�� 	���� 	��� ���8�
�� 	��

����	�������
��	��
;���A������)	������
�6��B�H���L�
��6:�$//'I"��
�����
�7
��7
��7
���8�
���

���9�� ������ ������ ��� �������� 6������ 	
� ���
����
� 	
� �>���
��� 	
� ����
5� �
�� ��7
��� 8�������


�������5� D#/E:� 8�����;���� 	������>��� ���� ������>�� <� ����������� 	�
��� ��
�����
���� 	���� ���

��	���	
�-������3��<��� �������
5�	��!��
��:������������
� �����>5����
����
�H3��
����#I"�

��� ��>5��� ��������
� �
� 5
��	��
� ���
�� ����5���
��
� ���� A�6���
����� 	�� �����5�������

�5	�����7
��B� ������5� ���� �>������� ����5� �
� &5���	� G���)���
����� H$//':� �"� '$+:� 6��
���

�."�I:� ��� �5���
�����
� ���� 
���
����
�� ������5�� ������ 	��� �������
�� 
���
5�� ��� ������9�����

���5�������	�����6����:����5�������	�����
��
:����5���������������
��������"�

Vers une ingénierie globale 
de l’apprentissage ?

Ingénierie 
du contenu

Ingénierie 
de la forme

Ingénierie
organisationnelle

Compétences 
visées

Caractéristiques
du public

Contraintes Environnement 
existant

Objectifs 
pédagogiques

Programme

Dispositif 
de formation

Outils
Supports

Environnement
d’apprenance

Dispositif de 
changement

Ingénierie globale de l’apprentissage

�
3��
����#�

G������� �8�

5� �����5������� ��������
��������:� ������ 7
�� 8������� 6��
� ���4�5������:� ��
�����
�

������������
����	�������
������
������H�6"������9������
���	����

����
�I:�	���������
�����	��

������������	57
�
����	
����
�4
����������
������������ ��������������
�	�������
������:��
�

7
����������=���
�7
����;�����
��<�
���=8�
�	����5�������<�����	����������
�:��
��
����7
���8��


����������"��
����������
��:����������=���
�7
����6�����
�����	����������
��������
���������
��

��5��6�7
�� 
��� ���5������� A����=����B� 	��
� ���=8�
� 5
��
� 	����
���� ��� ��>5������ 	
� ���8�
� �
�

	���
��
���� ��
��� �
4� ���� 	�665���
�� �=8�
�� H���
��
:� 6����:� ��������
���I:� �<� �
���� ������ 7
��

���� ����
�
�� ������7
��� 6�������
� ������U
��� ���4��
����� 	���
���
5�� ���
��
��9���� 	��
��5��� <�

�5������

������������>5�����"�

-��
��:� ��

�� �	5�� ����
� ������� �����>��:� ����
� ��
�7
��� ��� ���
�� 	�� ��

�� ���
���� 
��
��

	����������:�<�����
��9���	�������4�5������:�	�665���
���=8�
������
�

��
�����������������
��



�������	����
�����
�
��������������������
��	�������
�������

��.�

	�������
������� �
47
���� �������7
�� ��� 	5����>�� 	����5������� ����� 	�� ��
�� ������
���"� ���

�66�
:� ���� �4�5������� ��� 
��
� 7
�� �>���>�
�:� �4���
:� ��������=��� 	�
�� ��
�)���8�
� �
�

��������=���	���������=���	�
�����8�
����6��
��������7
����;���
������
��
�
5����
�������
�������

�
�
�����������
4�	���
�����
������ ��� ��
� 	���� ������8�
:� ��� 
��������� �
�� 
��� �
� 
��� �����
�	
�

���8�
:�	����
�������
���	���5�<�
�������
�	���5O���7
��������
�6��
)���	�������5�������	��

6����
���:� 	�� �����5������� �5	�����7
�:� 	�� �����5������� 	�� ��� ����5
����:� 	�� �����5�������

	�	��
�7
�:� 	�� �����5������� 	�� ���
�4
��S���� �����9��� �56��4���:� ����
� 	��=��	� 7
���� ��� ���

�����������

��7
��
����	��������
����?������������������7
����
>5������
��
������
���"��������
�

	���� ���� 
��� 7
��
���� 	�� ���
�����:� ����� =���� 
��� 7
��
���� 	�� ���>���>�"� ��� 	�
4�9���

�56��4���:�����
�7
�������

�������������	�����
��
�
5��������
�	�������>�U�����
�	�����
��:����

6�

� �����	5���� ��� ����
�
�
���� 	��� ������������
�� 	�������
������� �����������
��*��� ���

���
�

�
:� <� 	��������
4�	�665���
�:� 7
�����
��
� �
��	����=8�
��	�665���
�:������7
�� 
�

�6����

����
��
���
���
����
4�������
�����
���
���
���
������	
�
�"������>5���	�����6��
����#����	�����


������
�
��
����������6�5����
��
������=8�
�"�����
�����>;��
>9���	��	5���
"�

��
�� 
��
��� 	�� 	������ 
��� ������� ���=���� 	��� �������
�� �
� 	�� ��
�� ��������
���:� 8�� ��������

�565���� �
� ���8�
� 	�� 6����
���� ��� ��
�� �����
��
� 7
�� 8���� �
� <� ���������:� ������� �
� �5����

���	��
���9��	��'����$#"���������
�	
����8�
�	��6����
����	��6����
�
���� �%3%-:��
����7
���

8���� ��
� �
=��5� D$+:� '/E:� ����� 7
�� �� 5
5:� ��
�� ���:� 
�� 
������� ������5��5� 	��4������� 	��

�����5�������A����=����B�	��������>����	�����6����
���"��

�
� ��
��� 	�� ���� �56��4����� ���
������ �
�� ��� ���8�
:� 8������� �	��
�6�5� ���7� 	����������

	���
�����
���:� 7
�� 8������� ��5���
5��� ����� 	�
�� �����7
�� �
�� �����5������� 	�� 6����
����

�������5�<�-�8��:�����..+�D$+E"��������7�	�����������
�����7
������	������
����
������
�������

	��������
�����
�	���
���:�
���7
��8������
�������:�5
����
������
����
��"��

) ����
�7
����	5����������
�	�
���565���
����	������5
�����������5

	��	������
��
������

������6���
�����?�
���������
�����
�


��������������
���
����5���
4���
����
4��
����������

��
�������
=�����H-&�3�I"�

) �5	�����7
����	5����������
�	
�	������
�6������	�����

�
�����	��6����
����<�	��
�����

�
� 	�� ��
������� 6������ 	���5	��
���� H�
���� 	��� ��������
�� <� 	��
����:� ����	�����
�

��
������	���
�
�������
4����������
����
����<�	��
����I"�

�������������������������������������������������
$#� ��� ����
��
� 	�
�� �K
5� ��� 
������� ��5����
����� �
�� ����������
���� �
� ��� ���
���� 	
� ���8�
� ����
� ��� 	5��������

�66�����:� �
� 	�� ��� ���

��� ��� ��K

��� �	�����
��
���� 	
� ���8�
:� ����
��
� ��
�����
� ��5
�=��������
� 	��� ����
���

	56���
�6���
� ����5	��
����	
�������
�6����:�������8�
����66��
������
�	5����5���
�����������
�=����..+:��
�����
�

��>��5�������
��=���$//�"�������8�
���
�	5
����5�<�
�
���	��4������	����������4��$"�



�������	����
�����
�
��������������������
��	�������
�������

�$/�

) �����5�������� ���������
� 7
�
�	���� 	��� 57
����� ���
���
� ��� ����	���
����

�5	�����7
�� �
� �	�����
��
����	
����8�
�?� �����
����	��� ���
������	�� ����	���
���� �
�

	�� ���
�K���?� �����
���� 	�� �5���
4� �;��
� 	��� �
�

���� 	�665���
���?� ���
���� �
�

	5����������
�	�������5
������	���	�665���
����
�
��"�

) G
��	���)6������9����� 5
�=��������
� �
� ���
���� 	��� ���
��
�� ����� ���� ���
�������� �
� ����

��
�)
���
��
�:� 	��
� ��
�����
� ��
4� 
�
�>��
� <� ��� ������5
5� ��
�����

����� �
�� ����

���	
�
����� �5����5���?� 5
�=��������
� �
� ����� ��� C
���� 	��� ����5	
���� 	�� �
����

=
	�5
�����?� ���
���� 	��� �����5�� 	�� ��

�
����� ����
���� �
� �
���� 	�� ��� ����
�=���
5�

�5�5������
�����;
�7
��	
����8�
"�

) ���>��7
����������
�����
���������������	��������
�)6�������6����
�7
�������

��
����

���
���� �	�����
��
���� �
� �5	�����7
�� 	
� 	������
�6� H��6����
���� �
�� ��� ���8�
:�

�������
���� 	��� ���
������
�:� ������������ 	�� 	�665���
�� 5
�
� 	��� ��������:� ���9�� �
�

�����
����� ��
�� ���� 6����
�
��� �
� ���� ��������
�:� ����������$2� �
� 6��
��OI�?�

���������
��
��
����	��������	
�
����	��������
����$+"�

�
�� ��� ����� 	�� ��� ���
�7
�:� �
� ��
��� 	
� 	5��
�����
� 	
� ���8�
:� ���� ���7� 	���������� ���
�

�����
��� 5
���
����
� ��5��:� 	���� ��� ���
��� �T� ��� ���8�
� 5
��
� 
�:� �
� ��� �R��� 
����:� ������

5
����
� 
���
5��� 	��
���
����
:� ��=��������
� 	��� ��
�
��� 	�665���
�� �
� 6�������
� ������ <� 	���


��>��7
����
�<�	�������5
������	�665���
��"��
������	�	�������4�5������:��������
�
�
����	���

������������
�� 	�������
������� ��� ��5���
��
� 	���� ������
��� �
��������� 	���
��� 	��
���
�:�

�������
�	����
���	������	���������:����6����	������
�����
����	��	�
4�	���
��������:�����������

�4����������
�7
��[�8
��	�7
�������	������5�����
����	������
��
��	�����
������
�?��
�
��>��7
��[�

�5	�����7
�:� ����� 	�� ��� 	5������� 	�����5���
��� ���
������ 6���
�������
5�� 	�� ��� ���
�)6�����

��
��6�����
������
��������
���
5���5	�����7
��"�����������
���
�	
�
����:�������
�������������

�
� ��
��� 	
� 	5��
�����
� 	
� ���8�
� ���������
� 	�
��� ��
��� 	��������"� ���� ��
��� 	��
���
��

�������������
��������5������>������	��
�6��=����	�������	5��
�����
�	
����8�
����������
:�
���

����;���	
����
�4
��	�����	����	���
�	
�=�����:��
�
���5

	�������
�<�	56�������������5
������

<�	5���������������7
�����������
5���
�7
���	
��
=�����������5�?��
���
����>����	�5

	���
�	��

�������������������������������������������������
$2���
���������
������
�����;��
����:�<� ��5��7
�:�	��=��
��<���

���5���
����7
�:� 8�������	5��	5�	����
�����6�
�����


����
����������
�:���
��6�����
����������
����
������
����������=���	�����
�
���	
����8�
:������	���������
���"�
$+�%�
�6��������
�5
5����	
�
�:����	�>����	����
����
��	���	�665���
����	
����	��6����
����7
��5
����
���5�
���
�

	5���
:� �'� >�
���� 	�� ��	5�:� 	5��
�5��� ��� $/#� ��	
���� 	�� '� ���

��:� ��5���
��
� ��
�� 	�665���
�� �����
�� $'�

	������
�6��	��3%�-���5��
�����������$///:�������7
�
�������
�����	���
��
����������	���A�����	��
5������B"�����

6��������
��
8�
�	�>
��	������=����������9����=����
�����������A����6�������6����
�
��B�H�
=��7
�����������	�����

3%�-I�	
���
��	��^�=)�0�
�������
�����>

��[[̂ ^ "̂�����)
"�	
��
���"6�["�



�������	����
�����
�
��������������������
��	�������
�������

�$��

������
����	����������������
�	�������
�������H�����
���5	�����7
��:�
��>��7
��:�8
��	�7
��:�

5������7
��OI�?� ���
�
�:� 
��� �>���� A�	����
�
���
�����
����B� 	
� 	������
�6:� �
� ��
��� 	��

��7
�������
�5
5���55�:��	��
5���
���7
��������

�����
����������
�����7
���������
�R
���

����5��?�

�
��� 
��� �>���� 	�� ����� ��� C
���:� ����� ���
�K��� �
� �
���� 	
� 	5��
�����
� 	��� 6����
�����?�

��6��:� 
��� �>���� 	�5���
�
���:� 7
�� �� 	5=�
�>5� �
�� 
�� �5�8
�
����
� 	�� ���
����� �����
�� 	
�

	������
�6�H�5	�����7
�:�
��>��7
�OI�����
�
�����
�������>����	����������C
���O��

%��;� ��
��
��� A����� #� 5
����� 	�� �����5������� �5	�����7
��B� ������5��� �����>�����������5� �
�

&5���	�G���)���
�����H$//':��"�'$QI�F�7
��8�������)�R������������	��������>���
���	
�����
5�

�
7
��� 8���� ���
��=
5� D#/:� �"� '##E� F� �
� ������� ���� #� �������
�� 	
� �565���
���� 	�� =������

���
�7
����
=��5��������3!%��H$//'I"����������=���7
���������
:����6��
:�	
��;�����5�5��7
��	��

�������
�� 7
��� ���8�
"� -������
��:� ��� 	��
���
���� 	5�������� A�������7
��B� ��
��� ���5������� 	��

6����
�����
� ���5��������5	�����7
��H����:�$//(�?����L�
��6:�$//'�?�����5�J�G���)���
����:�

$//'I����=����������������	��������������>�����������5��
�&5���	�G���)���
�����H$//'I���

��
�

�������7��>������
������
�	�������5��������5	�����7
��?�����565���
����	��=���������
�7
���	��

���3!%��H$//'I��
������
�	�������5�������	��6����
���:��
�	���������4�5������:�7
��7
�����
�

���
������	
����8�
:�	
���	
���	��6����
����	�
���8�
��5���
�	������
�6���
������	��6����
����

	��6����
�
��:������
��
����66��
������
�����#��>����"�������
���
����5
��������S��=��>���

����:���������
������
����
��
���
�����

��7
��
�����������5�������	��6����
����A�
��	�����������


)�
�� ��� 
��*�	*��� 	�� ��	�� �	

�� ��
� 	�
)���
��
�B� H$//(:� �"� $QI��� ����� �������� 
���

�
�
�

��
���� �5�5����� 	�� ����
���:� ������ 7
�� �����5������� �5	�����7
�� 
���
�� ���� 	������

��������
��	
�	������
�6:�����A������
��������	
�����������������	��	�����B"�%����

�	���������

���������
4�������5����������5�J�G���)���
�����H$//'I�	�����6�@����
����
�:�7
����
��
��5�5��

	������
��:� ����� 7
�� ����� ��� ���
� �4�����
5� �

�����
� 7
�� ���� ���� 6�9�>��� ������
� ���� ������

A�����
�B��
�A������B�H
�=���
��."':��"�'$#I�����������
���;�>��5	�����7
����
�
����
�)���8�
�

	
� �����
� ���5������� �5	�����7
�:� �
�)�R��� 5
��
� 
�� ��
�)���8�
� 	
� �����
� ���5������� 	��

6����
���:�7
����

��
�)�R���R
���
����
�)���8�
�	�
����5��������
����	������
�������:��
�"�%��

��

� ������ �����	5���� 7
����;� �� A��5�
�����
5�B:� ��� �����
� �
�5���
�� ������
� <� �>�7
�� 6���� 	��


����$��� �
� ��
�)���8�
� 	�� �����
� ��65���
�� ������ ��� �������� �;��������>5� H$//#I"� ��

��

������� �66��� ������ 
��� >�
���
�7
�� �
�����
�� ��
�� �=��	��� �����5������� 	��� ������������
��

	�������
������"� ����� �����
� 	��=��	��� 	�
��� ����9��� �
�
�

�5�� �������=��� 	��� �=8�
�:� �
�

�����
�	���5���	����
4�7
��
�����	��
;�����7
������
)���	����

����
����7
�
������
�)6�����	��

6����
������������:��
�
������
�)6�����	���
���
5�������
����S���7
��������
������

�����
�������

	�� ������
���:� 	�� �
���� �
� 	�� ���
�K��� 	�� ��� �5�����
���� 	�� 
���� �

����S� ������;��� 	�� ����

�4�5�������	������
����	
����8�
�� �%3%-���
����5��	�����7
����;�����
���
��������
4�	��



�������	����
�����
�
��������������������
��	�������
�������

�$$�


������� �
���� �
�� ��� 
;��� 	��

���:� �
� 7
�� ����� ��
��
��� 
�� �����
� 	�� ������
���� 	��

�����>�
��

��� �5�5����� 	
� �;�
9��� 
��>��7
�$Q:� �
� 
�� �����
� 	�� ������
���� 	5
����5�� 	���

��������
�$.� H���
�)6����:����6��
��
����	��������
��:��
��R������6��
��
����	������
���	��


������OI"� %�� ��

� �R��� �8�

��� 
�� 
�����9��� �����
:� ����� ��� �>����� ���� ��� ���
�������


��>��7
�:� ���
�� 	��� ��5��6���
����� ��6����
�7
��� ���������	��
� <� ���� ��5��6���
�����

6���
���������"� �����	5���� ������ 7
���� ;� �� 
�� �=8�
� A����
�)6�����B� �
7
��� �������7
�� ���

	5����>�� 	����5������:� 7
�� ��
� 
�� ��
�)���8�
� 	
� ���8�
� ���=��� 	�������������
�

	�������
������:� �
� 7
�� ������
�� �
�)�R��� 	��� ��
�)���8�
�:� ���	� >����9��� ��� 	5����>��

	�����;��"�

��� ��� ��
� 	�� �R��� ��
�� ��� ���	
�
���� 	��� �����
������� ��� 
��
��� <� 
�� �������� �����
� ���

��5��6���
���� �5�5����� 	�� ��
�� ��������
���:� 	�� ��� �
�
�

��� 	��� 	��
���
�� ���	
�
�:� 	�� ��
��

A�������5
�7
��B:� 	�� ��
�� ��	�� 	���	�4�
���:� �
�":� �
� <� 
�� �����	� �����
:� ��� ������
���� 	��

�>�7
�� 	��
���
:� �>�7
�� �����
� �����������
� ��� ���� ������
�� ���8�
� <� ���
� ��
�9��:� ������


���������	�����8�
�(/"�%����

�	����

�����������R��������������
"��

��� ���
���� 	
� ���8�
� ����)�R��� ��5�>����� ���� <� 
��� 	5�������
���� ���������� ��� ��
���
���

�����
4��� 	56���
���� 	��� ��	��� 	�� 6���
��������
� ��
��� ���� ���
�������:� 6�45�� 	���� ����

������
����� <� 
�� �������� �����
�?� ������
���� 	��� ����5	
���� �
� 	��� 	��
���
�� 	�� �
����

	����������
��
�	�������5��	���	5������O�<�
��	�
4�9��������
"�

��
���;�
5��
���������:������������
�����
����������
4�7
��8����

����5��	������������9������
��:�

7
�� ����
�

��
� �

��
�	�� A�6�������B� ��
�� ���=�����
���:� 	������
��	5��
���� ��� �5���
5� <� 6���

	�����;���	
�����
�	���
��	�
���=�����
�
��F��R�����������)��� ��
� ���
��
��F� 8���������� ���

������6���
���� �
����
�� 	��� �������
�� �5���������� �
� 	5����������
� 	��� ������������
��

	�������
����������6���
����	����=8�
���
�����7
�����������
��
�H��=���
�$I"�

�������������������������������������������������
$Q���5
��
�<���������
�7
����
����
�����5
�����
��
����
�����	������
�6���!�� �:��
���
��3�3%-:������4�����"�
$.��������5
5����������
��������
�)6������ �%3%-:�	��
���
�����������@
�	�
4���������:��>�����������6��
��
����

	��������
��:��>�������>5=����
��	����
4)��:�	56����������6��
��
����	������
�����������
�:��
�"�
(/������4�����:���
����!�� �:��
��������������
:�����5
>�	��-�� ���5
5����@
����������>����	����>������

��
�����
���
�����	��4���
��7
�������
�
�����@
������#//�
��
5�:��
���������	���5��
�����	5����
�������	����4���
��?�

�
� 	�
4�9��� �����
:� �>�7
�� 
��
5� �� 5
5� ���@
�� ���� 
�� �4���
� <� ���
��� 	
� ��>���� 	��� �>������ 6�
���"� ��
�� ����

��	5��� � �%3%-:� �
� �������� �����
:� 
��� 	5����>�� �5�5����� �� 5
5� ��	�6�5�� ���� ��� ����
5� 5	�
������ �
� ����

��5������� ���	
�
�� ���� 
��� ��������� 
��7
�:� �
��� 
�� �
���� 5
���
� 	
� 
������� 	��� #� �5�����
�
��� H
�
������ �
�

���
���I���5
5��5����5���
���>��
��	���$/#�6����"��
�	�
4�9��������
:������

������	5����7
����;�����
��

��
�	��

���8�
��7
��	��6�����<�����
5���
��	
����8�
����=��:��>��
��5
��
�����
5���������5�����
�
�"�



�������	����
�����
�
��������������������
��	�������
�������

�$(�

�
�+$%&$4�/&�
1�()%*+$�/&�
7+'6(%*+$�

"+'6&�/&�
1�()%*+$�/&�
7+'6(%*+$�

�'.($*,(%*+$�/4�
-'+=&%�

�(/'&�=4'*/*34&�
&%�(/6*$*,%'(%*7�

�&,,+4')&,�&%�
,&'5*)&,�

�?,%06&�
%&)9$*34&��

�*5&(4�6()'+�

����;���	��
����
���
5�[�

���5�������	���
����5
������

�

	��	���
���
�4
���[�
���5�������	���
�����
���

���5�������	��
����
����

���
����
8
��	�7
���
�
6���������	
�
���8�
�

���
�
���
�
����
	
�	������
�6��

���5�������	
�
�;�
9���

��>��7
��

�*5&(4�62,+�

���5�������	
�
���
��
�

H�=8��
�6���
�
���������I�

���5�������	�����
6�����

H	������
�6I�

���5�������
��������
���������

���5�������	
�
�
����	
����8�
�

���5�������	���
��������������

���5�������	���
��������
��
H��
5�������
�
���������I�

�*5&(4�6*)'+�
���5�������
	�	��
�7
��

���5�������	���
��

�
�����

���5�������	��
����
����
����

-5����>��
7
���
5������7
5��

�
����8�
�

��5������
����
H����������9���	
�
���
��
:���5�������

	�
����I�

��5��6���
�����
	�����������
��

� �����������	��
���
�����
�� �����������	����
���� ���������������������

��=���
�$�

����
����������
4����
���
4�	56�����	��������
��	
�
������������
;��
��
��-��8�
4�H$//'I������

�����
���������
����
��	������	���	
:�	
��
8�
:�	��������
"""�	�������	�����������;�>��������:�

�����
���:�����������������
�"���������
��5�����
����
��	������
����
�����
[�
�	������������
���:�

������ 7
�� ����� ��� ������ �
� �����
� 	
� 7
�
�	���� �
� 	��� ��
��� 	���
����
���:� �
� <� ���
�� 	���

�;�
9����	���
���:�	
�8�
���������
�	
�������
���
���������
�
��"���������
���������
����
��	���

�;�
9���������
4:�	��������
������������������
�	�������
��"��

��� 
�=���
� �����	9��� �
���� 
����� ����	�� 	�������� 	��������
���� 	��� ��
���
5�:� �5
>�	��� �
�

�

���� 	�� �����5��������� 	�
4� 	�������� ���
��
������ 	�� ������
���:� ���
�� 	�� ��� 6����
���:� �
�

���
�� 	��� 
��>��������� 	�� ����6����
���� �����7
5��� <� ��������
������:� ��5	
��
���� �
� ���

6����
����?�
��	�������	������	���
�����
�	�����
����	�����8�
"����������
4�	56�������)	���
��

���������	��
� <� ��
4� ������5�� ���� ����5� �
� G���)���
����� H$//'I� ��
�� ��� 	�������

	��������
�������
��
�����<����6����
����H����	�
4������9������������I"����	�������
��>��7
��

�
� ���	�������	�� ��� ����	���
���� ��������
:� ��
�� �>��
��	��������
4:� <�	���	����������7
��

��
�����
��������"�

�

���������
��:��>��
��	����������
��	
�
�=���
���

�R
��������	5�5�������
�����8�
�������"����

�������	�	���:���
���
�������	5������5��:��������7�5
�����	�
�����8�
�H����;��:�������
���:�

���
�
���
�
���:� ����� ��� C
���:� 5���
�
���I"� L���� ��
��	
:� 
�
�� ���� ���8�
�� ��5�� <� 
��

������������
� 	�������
������� ��� ��7
�9���
� ���� ��� ����� ��� C
���� 	�� �������=��� 	���

�������
�:��
�
�
����������	��6��
�����
���
����������
���������
��������8�
�������
����
�5���
��


����
���=8�
�<�
����
�������
:������������4������������	
�
����	�
���565���
�����5
����7
��

6��
������
��������
�������<������5�������	�������5
������H�����
���������?��=8�
������
��
�	��



�������	����
�����
�
��������������������
��	�������
�������

�$'�

����
����	��6����
���I�?�	��

�����
����
������6����
�������<���
���
����������
���
�����
������
�

��
���
��������
4"�-����
��
������:������

�������������7
��
����	��6�����6��
�����4�����
����
�


���

����������
��	�������
�=���
:����
��	���
����������	���������=���	����������
���������

C
�����
���
���	�
�����8�
:������

��
�	����
���������>5������	���������=��"����������=��:����

�����
;��
� �
�� ���� �4�5������:� 7
�� ��� �������
�� ����
� ���� 
��7
�:� �
� 7
���� ���9��� 	�
���

���=���
�����	���	�665���
���������
��������
����7
��8���������5�A��	�	�������������-���B:�7
��

6��
���	���� ���� ������������
������	
� 
�=���
"�������=���
�����	���������
����������C
����

	5���	���	
����8�
:�	�����
�����:�	��������
4��
�	����=8�
��������������
�"�����:�7
���7
�����
�

������8�
:�
������
���	����������
��	�����������
�	�����8�
������
��������C
���:��R���	�
���

����9���
�9�����5�5�����
������
�	������������
���:� ���;����5�5�������
�
������������<�7
�� ���

��������=��� 	�� ���8�
� ���	� ����
�� H����
� ��� 	���5� N5��� 	�� ������������� ��� �����	��I:� �
� �
�

�����
� 	
� ��	��� �	�����
��
�6� �
� 8
��	�7
�:� ��� ;� �� �5�5�������
� �
� ������ 
�� ���
��
:� 
���

������
�����
�
�����

���	����������7
��	5�����>��������8�
�H����
� ���	���5�N5���	
�����	���

-������������!��	�
���I"��

�

G������:�	��������������7
���
����
:���5������<�����	��
���
��������
���
5�����������C
����	����

����	�665���
���������
��	
�
�=���
:�����	��
�6���
�<��>�7
��6����������
���
��
>5���7
���7
�����

�����
��
� ���� ��
���
5�:� ��� 
����
� ����
�� 	
� 6��
� 7
�� ������ ��� ��

��� 	��� ���8�
�:� 	�665���
���

������>��� 
>5���7
��� ��
���
� R
��� ��=����5��� 	���� 
�� �������
�"� ������ ���
�
��
���:� 
��

�4������������
:�������8�
�� �%3%-:���
�����;�5���������

����������������4��$"�

�

�$.2$*&'*&� /&� 1(� 7+'6(%*+$��� ��� 	����9��� 5	�
���� 	
�:�	���� ��
� 

���
�
� ��� ��
)�����
� ��� �	�

I���	�����H����5�J�������:�$//'I�������
���
�����������	��'��>���
����
���
��
�	����5������:�

<�	�665���
�������
4"� ���������=���	�����5���������	���
��
���� �����������
�����	������7
�
���

�>���
����	����
�������=��:������
��
����
� ���	����
�����	��
5��	���� ����>���
����
7
��� 8����

���
��=
5� D#/E:� <� ������� 	��
���
��� ��� 7
�� ��������� ��� ���
��
� 	�� ��� 6����
���� 	�� ��� 7
��

������������6����"���������
4�
����������
4:�����������
�	���
5����������������
�����	����

����

�

�
���	
�
���
5:�7
��8��������������������
5���8
�7
����(�"�

) �
������	��
�����
��	���
�����
��

o &�	�6
�� ��� ��	
������� 4� ����������� ��� �������������� ��
� 
�������
�
���

�5�5�������
:� ��

�� �>���� ��������� ���� 
��� ����;��� 	
� 
������:� 	�� ����

�������������������������������������������������
(��G����������
���
5�7
����������
��5��:�������������������U
��
8�
�	�>
������7
�:�������7
�:�6��������
:������
����

	��3%�-���
�
�����
����	
������
��5��:�������8����������
�5�	���������>���
������5�5	��
��H$��
�(I�



�������	����
�����
�
��������������������
��	�������
�������

�$#�

5���

���:��
�	������=�9���������
�6���
�	������5
������7
�����������"�-�������

���� 	�� ���8�
�� ��5��6�7
��:� �����
� ���� �4������ <� �5��
	��� 	��� ���=�9����

�����
�6�� ��5��6�7
��� �5�����
��
� 	�� ��

��� ��� C
���� 	��� 
��>��������� 	��

���
��
���� �
� 	�� �5���
5� ���

����:� ��� �������
�� ��

)R
��� �
�	5� ���� 	���

������>��� ��������7
��� 	�� ����
���
5� H����=��
�:� ���
������:� �>�
���
:�

�..�I"�-����	��

������:���������>���������
�������
5������5
������H���L�
��6:�

�...�?� $//'I"���� �������
�� ��

� �
���� �������	��� ��5

	�� 	��� �������� �
� 	��

��
�� 5���

���:� ����� ��� ���
��
����� 	��� 
��>��7
��� 	��
� ���=8��
�6� ��
� ���

������
����	���565���
������5
������
�	���565���
�����	������5
������	��T����
�


��5�� �����565���
�����	��6����
���:��������������	5������5������ �������*($:�

�
���������57
����D(Q:�'$E"����	5����>��	����5��������;�
>5
��5���������3��
���

�(������7
�:���
�����:�	���
5�������

����
���
5�<���������
"��

o ��������������
�������L�*-�
��!
���������	���M���8����	5������5�������
���
5��	��

����������
��	���� D#/:� ���
����(E"�������7
�� ��������� �������8�
��	5=�
�>��
�

�
�� 
�� ������������
� ���

��� 	�������
������� �
� 
�� ���
��
�
�:� ��� ��
���� 	��

A�����������B���
�=�����P����
�

���"��������
��:�����
�<���������
)�<�7
�������
�

	5��	5�� ���� 6������ 	������
���� ��� �������	
����� !��
���������
� H�$I:� 7
��

�����

���
�	��	5
���������������������
�
�����������	��
����������
�H��0I:����

8��������	������5
�����������5��������>�������3
�>���
�G���)������L
��W>��	
�

H$//(:��"�+�I"�

o ����������� ���	
�������� 8���
��	�� ���� �<� 
�� �����=��� 	���
���
5�� �����
� <�

	5
�������� 8� ��	�	�
���� ��� ���
��
� �
� ��� 	5��
�����
� 	��� ��

�
�����

	�������
������:� 5��=��5� 	�� ����9��� <� ������ ���� 	�66��
�
5�� 	�������
�������

�������������������������������������������������
($� G�� 6���� ���� �565������ ��
�����
� <� ����5
>�	��	���0�����
� �6��
� ������
��	�
� ������6�	������ H���-I� H�6"�

���	��:��../�?����	���J������

N��:��..(I��
8�
�	�>
����������
������;5����������=����>������6�������������

��� 3�����:� �
� 7
�� ���
� 	���
���
� ��
�� 5��=����� ���� �565���
����� 	�� 6����
���� 	��� ���
�6���
�� 	�� 7
���6���
����

���6������������H�*�I"�
((�-�����������6��
��
�����	��6���)<)6����
��	�
���������:�������
���
5�����	5��
���
����
������5��:��
������
�	
�

6���)<)6���:��
����9���
�	
�������)6�����A���;�>��5	�����7
��B�H����5�J�G���)���
����:�$//'I�	�������������
��
�

	
� 6����
�
�"� ����� 	���� ���� ���6��
��
����� �

���� H6����
���� <� 	��
����:� 6����
���� �
���
�� �����

����������
�
�OI����	�����������;�>��5	�����7
��6��
����=8�
�	�
��
���������5���=��"�



�������	����
�����
�
��������������������
��	�������
�������

�$2�

�	��
�6�5��('"� ���>����	��������
�������
��
�����	�������5�������	�	��
�7
����
�

�����5������� 	�	��
�7
�� ���6�����������:� 	��
� ��� 	5����>�� �
� ���� ��
���
5�� ���
�

	5���
�����
�����
�	���������
=����
�����	������������
�5�H�..$:��...=:�$//'I"�

G�� 	��
���
�:� ������ �
4� �

���� �����
4:� ����
���
5� �
�� ��� ���
��
:� 7
�� 6��
�

���=8�
� 	�� �����5������� 	�	��
�7
�� H����;��� 	�� ����
���
5:� 	5
������
���� 	���

A���	9������5��
�6��B:�	���A������=����	�	��
�7
���BI:��
�����
���
5��
�����6����:�

7
��8���������A����5�������	�����

�
�����B:��
�����7
������8������������
������"�

) �
����	��
�����
��	���
�����
��

o 0�������
�
����$��
�4��������������
��	�
���
���&
;����L�
��6�H$//'I���
������

��5���

���� 	�
��� ���
��� 	��� ��
���
5�� 	�� �����5������� 	�� 6����
���� �����

���
���

��� �
� ��� ����
�
�
���� A�	��������� 	��� �����=����B� ��� ��
�9��� 	��

������
�������6�����������:�����
)<)	���������
����������������
�
����$��
"�������

���=��� 7
�� ����� ��

� R
��� �5�5�����5� �
)	��<� 	�� A�����������
����

���6�������������
��B��� �
� �����
� �����:� 
�� 	��� ��8�
4� �����)5������7
���

��8�
��� ��

���� H����5:� $//#I� �����7
�:� ��� ���=��)
)��:� 	�R
��� ����=��� 	��

����������	�665���
�������
4�H���6����������:��
�

����OI�������	������
�4
���

6�����
�
�
��� ��
�� ������������:� 7
�� 8��������� 	��� A�������������
��

	������������B"� ����� �
������ 	� �����	� 	�� 	56����� 	��� �������� 	�� ��

�
�����

6�����=����<����
������6������	�������
������:�������	���A������
���B�<�
�������


��� �5���� 	�� ��

�
����� 	��
� ��� 6���������� ��� 	5����������
"� -���� ��� ����

	�������������
� ���

���� 	�������
������:� ��� ��7
������� <� ��� �����
)�<� ���

6�����	
����	�����

��"�

o �������������� �	�!�����L��
��
���!M��� ��������
�� �����5�������	�� ���
��
:� 8����

	5������5�������
���
5��	������������
��	����D#/:����
����(E"�-�����������	�
��

������������
� ���

��� 	�������
������:� ��� 
���
���� <� ��� �����
)�<� ����

A���
��6����� ������
����
�����B:� �f��
)<)	���� ���� A���>9���� �����
�6��

�����
5��B�	���� ��������������
����

��:� �����5
��>�����

����5��:� �
�"� H3
�>��

J�L
��W>��	
:�$//(:��"�+�I"�

o ����������� ��
� 
���	����
��� ��� �����
� 	��� ��
���
5�� 6�����
� ��� ���	��
� 	��

�����5������� 	�	��
�7
�� �
� �����
� 	�� ��� 6����"� �����5������� 	��� ��

�
����� ��
�

�������������������������������������������������
('� G������569��� ����<�&5���	�0�����
	:���
��7
�� ���	�	��
�7
��A�������� ��
�
��������
��	�
� ��
������
� ��
�
�-��
�

	���������������	�����������	
'��������	�������	����������	���
�������	�$����*����
�
��
�!����
�����
����������

���
��
���
�
	����
����
	����7!	�����������	
���
�������
����
��"�B�H�..$:��"��.I"��



�������	����
�����
�
��������������������
��	�������
�������

�$+�

����5�� 	���� ��� 
>5����� 	��� ��

�
����� 	�	��
�7
��� 	5������5�� ���� L��
����
�

H�..QI:�������7
����������������
�5�H�..'I��
��������
��

5�	���>���>�
������

	�	��
�7
�����6�����������"���

��������>����
����
��
��9�����
����
�
�5����������


����
4������
�5��	��������
�5���	��	
��
������������
���������5�<�����
8�
�

H���
�5:��...I"�

�


 ($(.&6&$%�/&�-'+=&%������
�
�>�������
�	�������	��������>���>��������
���:�7
������
�����

���
������
����

����
�:������������6�

��5�����������	����7
��7
�����
�"����	5����>�����8�
�

��
�������������	�R
����5�5�����5��	����
�
���������
�
��"����������
��
��������������
�����	
�


�����������5
5�5

	�5�7
��	��
���
���7
��N�����	����5���	��������	
�
���(#:����������
�6��
:�<�

���������������:����=8�
�	�����>���>���	�������	�������	�����6����
�����
���
���
�<�	��
�����

�
�	�������
��	
�	5����������
�	���������������
��	�������
������"����;�����
�	��
����
4��
��

��� �
8�
� ��� 	�>���� 	
� �
���� 	
� �����������
�
��5	��� H�������J� ��":� �..�I� �
� 	
� �
���� 	
�

����������3%���7
��8�����5����5���
����..(��
��..Q�D�$:��(:��':��#E:�	��
�7
��7
������8�
��

��
�6��
����=8�
�	������
�����
����H������:��..QI"�����
����
4���
��������	��6�����5�������	���

��������	�
����(2:� 7
�� ��� ����
���
� �
8�
�	�>
�� ����� ������� ���
��� 	��

���� 	5����>���

������7
���H�3����:�$//��?�L�

>�;�J�G�
�	���:�$//(�?��3!%�:�$//'I"�����
�7
�������
�	��

��5������ ���� 	������ �������
�� 	����5������� ����
�

��
� ��� ���������
� 	�� ���8�
"� ���� ���

	5��������
� ��� �������
�� 	�� �
�
�

��
���� 	
� ���
��
� 	�� ���=8�
:� �
� ��� �������
�� 	��

6��������
������ ������ 8�� ����� ��	�7
5�	���� ��������9������
��� H�>���
���$"�I����5��7
��
� ����

�5�
�
�
�� 	�� ��5

	�� 	��� ���8�
�� 3%��� 	5������
�5�� D�#E:� ���� A������
�������
�� 	�� 6�����B�

H������:��.Q2�?��.QQI����
�
������	�
�����5���������<� �������	�
�����8�
"���
��������
�����
�

��
�����	
�
�����
�6
���
�<����
���	
�	5��
�����
�	
����8�
��5�����
��
�	����
������5�������

���
��
��9��"� ��A����	��
	����� ��� ���-���B� �����
��� ���� 
����� �����
4� 	����5������� �����
� <�

����������
���� A������
��>��7
��B� 	
� ���8�
�?� ��� A�
	����-��������� ��� 	�����
��	��!�B� ���� 
�����

�����
4� 	����5������� 	��� �����
�������
�� 	�� 6����� �5���������� <� ��� ��
5�������
���� 	��

����������
���:� <� ��� A��5�6���
����B:� <� ���� �������
���� 	���� ������	����
5����:� �6��� 	�� ���	���

����=���������8�
:��
�������������
���������
��>��7
��A�������=����
4�
�����B"�

�������������������������������������������������
(#� ��	�������������
��������
�����
>9�����
����
��	���>���
��>����	����H�..(I"�
(2� ��� ���
��� 	������ �������� ������ 
���
��
� ��
� �����
� D+:� �>���
��� ("+E:� 	���R��� 7
�� ��� =����� 	�� ��� ���>���>��

��
��������
5��������������������H�������J���":��..�I"�



�������	����
�����
�
��������������������
��	�������
�������

�$Q�

) ����������
��	����
����

o ����������� ��� �����	����� ��� 
����� ��
� ����
�
5� <�05����7
��-
���
)��

���
�

H$//'I"� ��

�6���:� ��
�� ���:� �����5������� 	�� ����
���� ��� ��
�� ����� 7
��

A���5������������
�


�������B��
������6�����
5�"����4��
�����	�
���A�������	��B�

�
�	�
�������������
� ������	�
�����R���	��4��
�����	
����8�
"��������� ���=

�

��
�6�45:�����>�������
����;����	�����
��������
�
���5:��
�������5���������7
��
�

���� ��� ��
��� 	�� ��

�"� -��

��
� 7
�� ��� 	5����>�� ���8�
� ��
� �5�5�������
�

������5��<�
���������
����Hi���6���:��..+I��
����	5��
���	����
�����������
���:�

7
��	�������������������������
���
��(+��������	��
�	��������	����������
��
�
��

���� ��
�
��:� ��
��� N����� 	�� ��
����:� ��
��� ������� 	
� ���8�
:� ��
��� �

��
��� �
�

��
��������
���	�����7
��������
���O�����
���������8�
��5�����
��	����	�;����������

	��� A����
�)�������B� �5��
����� H������:� �.QQI� ����5���
��
� �>�7
�� ��
5������

	���
�
��:� 	�� 	56����� ��
��� �K���� 	���� ���� ��
���
5�� 	
� ���8�
:� 	�� ��
�� ���������

	������
4�H���
�����I��
�	��������
��	��������
�
���O��
�	���
��������7
�����

������ 	���� ��������������
� 	
� ���8�
� ������ �>�N� ���� ���
�������� ������5�"�

 ��� ����9��� 5�5���
�� 	�� ��� 6����:� ����
� 	�� ����
�

��� 
��� 57
���� ���8�
�

��������
� 	��� ����5���
��
�� 	��� ���
�������� �
4� 
X�>��� ��5��
���������:� �����

	5�5��
���� 	�� ���
������ ��������=���
5�"���5��� �
� ������� ���� ���
������ �T� ���
�

������5���������
�������:���
��	5�5�
������
��������������=���
5����5��
����������

�
� ����� 	�
��� 57
���� ���8�
� 	��
� ���� 
X�>��� ���
� 	56������ �
� �5���
���:� �������

��

�� 57
���� �
� 7
�
�	���:� ��� ���
� ���� ��
���
5�� 7
�� ����
���� ������������� ���

�����	��"��

o ����������� ���	��
	������������ 	5��������� 	�� ��
���
4� ������������
��

	�������
������:� ������ 8�� ����� ���
�5� �
� �>���
��� (:� ��	
�
� �
� �����
��

�����������
����	��=8�
��
��>��7
����������
�������
�
��:�7
��	��������
�����
���


����6����
���� ��
�� ��	������ 	�� ��
��� ���
�7
��:� 	��� ���6��
��
����� ���
��)


�����������7
������
�

��
���
��������������
�	��
������:�������	
��;�
9���	��

����
������
�


������"�����
������������7
��������8�
��=�

�
�<�
���>�������
�	��

A�������B��
�<�
����5�����
���������
���

���A�������B"�����
����6����
�����

�����
��
� ������ �
���� ���� �	��
�
5�� ���6������������� �
� ���� ��	��� 	��

�������������������������������������������������
(+�����
����
4����	
�
��������������������H�������J���":��..��?�������:��..QI���
������
����6��
�7
�������
���
�	���

���8�
�����	5��
���
�������
������
"������=�
>�3��>�N��
���
���W�&
������
�H$//(I�6��
�����R�������
�
��
������
�

��
����
�����"�



�������	����
�����
�
��������������������
��	�������
�������

�$.�

��������������"� !�� ���� ��
������� ���� ����57
������ 	�� ���� �>�������
��

������U
�������
���	�����
������8�
����	�5�>���	������8�
�:�7
��������
�	����

��� 	������� 	�� ��� 6����
���� �
� 	���� �������
�� 7
��� �

��� ���
�
���� ��� ���8�
�

	�����
�������
���A������
����	����
�7
��B�H��
��:�$///I:��
���
��5�5�������
�

��8�
5:��
���A���W;�
��B�	��������������
���"�����
���
�7
��������
������
��
�	��

��5����� �
� 	�� ��

��� ��� ������ 	��� �
�
�

���� 
�����
�����:� ��� 6����
���� �
�

���������������
�	�����
�
���H��A��������������
�	
��>�������
�BI�?��
�	��

�
����� ���������
����	
��>�������
��
� 8�
�� ��� 8�
�"����	
����
�����8�
:�����
�

�
���:�=�����P�:���������6���:�����
�

���
���57
�������8�
:�	56�����������
���
5��	��

��57
���� �
� 	�� ����	���
���� 	�� ��57
���� �
� 	��� 	�665���
�� ��
�
��� 	
� ���8�
�

H��>��	
:��..'I"���

����������
�

������������������	��
	���������"��

o ����������� ��� 
������
	������� ��� 
����� ��
� �
���� ����
�
5� <� 05����7
��

-
���
)��

���
� H$//'I"� ������ ���� ����
�
5� �>������� i���6���� 	���� ����

���>���>����
��������������
�������	
�
��������H�..(I:��������5��
����	�����
����

��
���� ����������� 	�� ���66�������� 5������7
�:� ��
�����
� 	
� 6��
� 	��

����������
���� ���� ���8�
"������ ���6����� �
���:� ��
�� �
�:� ��� ����
����
���� �
�


������� H�..2I:� �=������
� <� 
���
��� ��� 7
���� ;� �� A���
���B� ���� ��������
��

5�5���
������ 	�� ����������
���� H���
��:� ��������OI"� ��
�� R
��� �66�����:� �����

���	
�
� �
� A��	����	��	�� �������
�����)��
����B� H�..+I:� �

�����
� 	�
� <�

���	
����	
���������
��5���
���������	���	
������5��<�����5���:��
�
�

�����7
��

���� �����
������
� <� 	��� ����
��

5�� 	�665���
��:� 7
���� ��������� 	����
�


�����

�
�	�� ����
��

5�����6������������(Q"����������
������������<� ����	
�
���:� �
�

�������7
�:� ��
�� ���:� �
4� ���8�
�� 	�� 	5����������
� 	�������������
��

	�������
������:� ��
�� ���7
���� ��� ���
������
:� ��� �����
)��� 7
������ 
��

6�
������
��	�����

����
��>��7
�:���
�
���7
�����=����
���"����������
�����
����

����� ��� ������ 	��� ��
����:� 	��� �

���� �
� 	��� �����

��
5�� H���
���� 	�� 
������:�

�
�"I� 	�� ��5��� ��� ����� ����
�� ��
��� ���� 	�665���
�� ���
������
��� 	
� ���8�
:�

	�
��� ���
�?� �
� 	��

��� ���
� A�<� ��5��� 
�� ������
� ����5� ��
��� ��� ������ �
� ���

���=���B�Hi���6���:��..+I:�����
)<)	����<�6�����������
��7
�������=8��
�6��	
����8�
�

6�45����������	5��	�
��������
��������:�������������
����5����5��������������=���

	������
����������
��:��6���	�������
����7
��������
������
�=�����
��5�����=�����
�

�����
������� �����	�������������C
���:���
�����
����
������	�57
������
��
�

�������������������������������������������������
(Q����
�����	��A����	��B�����
����������;5�����i���6���:�����������
����
�
�

�<�6��
�������������"�



�������	����
�����
�
��������������������
��	�������
�������

�(/�

	�� �����
�7
�:� 	�� ����5
�����O� ����� �����
� 	�� ����	��� �����5�������

��������
��������"� ��� ���
� ���� ��
���
5�� 7
�� ����
�

��
� ������������� ���


������
	����"�

) ��	�������	���������	������������

o ����	��� -��������� ��� !��	�
���� ��� ���-����� ���� 	������
����� ���R
5��� ��
�� ���

����
���� 	
� ���8�
:� �������� <� 	������
���� 	�� �����
����� ���� ���� ���
�������:� ���

���
���� 	��� ��������=���
5�:� 	��� 	5������� �
� 	��� �����
����:� ��� ������5
5�

��
�����

����� 	��� �5�
�
�
�:� �
�"� ���
� ��� �5�5���� 6�������5��� 	���� 
���

������
���� 	�� ���
������
"� ��� �5	��
���� �
� ��� �
���� 	�� ���� ������
����:� ���

���
��
���������7
��������8�
���
�	�
������
����������
������
���=������	���6��	��

�
=����:� ����
�

��
� 
�� ��
�)���8�
� ��� ���:� 7
�� ��

� ���
���� ���� 8
���
��� �
�

���6��������	����
�����6������9����	������
�����������	��
���
���
������������
�

	�� ����	��� ��� �������� 	56���
���"� ��� ��� ���=��� 	���� �5��������� 	�� �����	5����

7
���� ;� �� �<� 	��� ��
���
5�� 	����5������� ��5��6�7
��:� 	��
���
��� �
� ��=������
�

	��

������
�
���7
�������5�������	������
������
�������
5��������������5�
�
�
�"�

������ ��
���
� �
���� ����
��� ��� ���>���>�� 	�� 6���������
� �����5���
�����:�

�
��9��	��6������
�����
��
���������5���
:������
����
���
:��
=����"�������
���
5��

����
�

��
����7
��8���������5��������	���-������������!��	�
����	
����8�
"�

o ����������� ��� 
����� ��� ���-����� �����5������� ��������
��������� 5��=���:� ���

7
��7
�����
�:�
����=���
�����	
��>�������
:��T��������
�
����
���
�
�<���
�
�����

�
�
�

���� �
� ���� ����9���� 	�� 6����� ���������	��
� �
4� ������������
��

	�������
������� ���8�
5�"� ��� �
���� �
� ��5���
�
���� 	�� ���� 5���

����:� 7
���� ��
�

��565��=���	�����6����<�
�����
�
5���	5���	��
�:����
��5������������
����������

��� ���8�
"� ����� ��� ��� ���
� ���� �
66����
���� ��� ���8�
:� ��
�� ��� �5�����
���:�

���������	��������
�������
��������	
�����
����
����6������	��

���:�������


�

����
���
5�>
�����"�����
����	�����������
������
�	������	
�
����:����	
�

�5������������� �����=����
�����������
����������H�5����������7
����
���5�
�	����

����	5������
����=
	��
������
�I:���9���<���

������������	����

���������

��
�

	��6������������
:�<�5�>5������6�4���H�5�5�������
�
���6������������I��
�����7
��

��5
5��������5��
����7
����5
5��5����5"����������
�����
������������C
����	��

�����

�����
�	������
�������	�5���
�
����	���5���

���������
�

��
�������
���
5��

	�����7
��8���������5�����������������
�����������-��"�

o  ��	�
)����	�����	���������	�����-����������������
�������=��>��������	����

��� �����9��� ���
��� 	�� ���� ������ 9������������ ��� �	� !���	����� H$//(I:� ���



�������	����
�����
�
��������������������
��	�������
�������

�(��

	5����������
� 	��� 	5����>��� 7
���
5� ��� 6����
���� �
� ��� 	5����������
� 	��

�����5������� 	�� 6����
���� ���
� 	�� ����:� ��� �5������ <� 
��� 	����	�� �����)

5������7
����������
��	��A��5�
�
�
���=�����=����B"�&
;����L�
��6:��
����7
���

��� �����
��� ��
�� 	���� ����:� 6��
� �66��
������
� 	�� ���������
���� 	��� 	5����>���

7
���
5� <� ��� 6����
���� 
��� 	��� A�
�$� 
���
�
� ������������ ��� 
��
����

������������� ��� !���	�����B� H�..QI"� ��� �����	9��� 
�� 	�
=��� ���������
� 	���

	5����>���	��������������
��	����5���������	�
���K
5:�	56����� ����A�
������
����

��	����� ��� �������� ��� ���
�

�
'� 
��
�787����� ��
� 
�������
�
�B:� 	�� ���

���

��

��� ��
�� ���
�K��� 7
���
5� ��� �������
�� �
�)�R��� A������ �	$���
��� ��
�


)	�
�
� ��	����� ��
� 
�������
�
� ��� ��	����� 8� �	� 
������B� H	kI"� ����
� ���

	�
4�9��� �4�� �
7
��� 8����� �569��� ������ ��	����
	����� ������ ���	�
)����	�����

	�$����
�

�
�������������:�7
�����
��	
�
:���
�����:��������4��
�����	�
����
�)

�������
��	
����������
�	
����8�
:��
�=�

�	������>�U���	��6��������
���:��
�

��
�� ��9�� 	�� ����
���
5� H�����
� �����I"� ��� �����
� ��� �66�
� 	�� 6���������� ����

����9����	��6�������
������������������
���
5���5��������5�
�������������8�
:�
�

�

�
������	������	5��
�����
"�����	5����>���7
���
5������7
5����
�	�������	��

��� 6����
���� ���
� �
�
�����(."� ����� ;� �� 
��� 	5����>�� 7
���
5� �4��
��
�� 	����

������������ ����
�� 	
� ���8�
:� ��� ��
� ��565��=��� 	���
5����� ���� �������
��

	����5���������������
4�	������

��	5����>�:��
�	�����	5���������
���������>��

	��)�
�7
��	��������������
�����:��
�����7
�������������
���������C
����	�������

���8�
� ��5�������
� 	�� ��
4� ����� ��� ����
�� 	���� ��� �5���9
��� 	�� ��� 	5����>��

�4��
��
�"��

�

�$.2$*&'*&� %&)9$*34&��� ��� 
�
�>�� ���� 	�� �
�
������ �>����� 	�������������:� 	
� 6��
� 	
� ����	�

���=���	��
��>��7
�����=�����=������
������
�
����	���������������
��	�������
������"�����

����������
�
��>��7
�����6����
�7
������
��
��C
��	�������
���
�	���	5����������
����

���:�

����� ������ ��
���
� R
��� ������5��� <� =���� 	��

���"� ���� �4�����:� 	���� ��� ���� 	�
��

������������
� 	�������
������� 

������
� ��� �5���
5� ���

����� �
� 
�� ���
��
�
�:� ��
����
� R
���

��=����5��	���	��������	�����>���>�������������=�
�7
���
����� ��
��6�����>����)���>����

H���I� �
� ���� �<� 	�� ���=��
���� 	����������� 7
�� ���� ��
�)
��	��
��� �5����7
�:� ��
�7
�:�

���
��
�7
�:� 	;����7
�� 	��� 6�
�	��:� ����� �
���� ���������� �
� ��
���>;��������� 	�� ���

�������������������������������������������������
(.���������
�5
5�������5����
���
���	�
���5

	���
�
�)��
�������������
5�������������
���	����������
�����������	�����

�>��=���	������������
�	���	
�
����	�������:������5�
�H�
����:�$//$I"�



�������	����
�����
�
��������������������
��	�������
�������

�($�

������
���OH3
�>��J������
:� $//(I�?� 	���� ��� ���� 	��� ������������
�� ��6����
�7
��� ��
��

��������
������� >
����� H����I:� ��
����
� R
��� ��=����5�� ��� �5���� ��������:� ���� 
��>��7
���

	���
���������� ��
�6�������:� ���� 
����
4� �
�� ���� ��
��6����� >����)���>���:� ���� 
��>��7
��� 	��

���
����	����������������:� ���� 
��>��7
���	���5���
�H��>�
��W����J���":�$//'IO������
�	����

7
������
� �������=��� 	���� 6����� 
�� ����������
� �4>�
�
�6:� ���:� 7
�� ��
�� ��
:� �>�7
�� ���8�
�

�
���
������
���
��>��7
��7
���
����
�������"�G��������
��
�����	����	��	5������������������	���

�����
�
����� 	�� �>��
�� 	��� �������
�� 	�� ��� 	������� 	��������
���� 	�� �����5������"� ������

��5�5	�����
:���������
��
����
����5����	���������
��7
���������7
��
��
����
��
:�7
����
�����

������

���
�
������
�
����
�
�	����������������
�	�������
������:��
�
������
���<����6�������
��

��7
�����������
��
��������
5������5:�����
)<)	�����
�
6
�������
)�����"�����66�
:����������	�
�

L�
���L��>����
�H$///I���A�
������!���	�������������
���������������!!�
������	�
��
�!�
	�����

!����������������
�������'������������-�����	
�����	��	���������*����������������
��
�!�
	������

 �	����
���

������
�
��
)	���������������
���������*�����8���
����������	��R
)��8��!!�
�����

��� �	������ 8� �*������ �	� �����
���	����� !�������� 8� �	����� ��� �	������� ����!���	������ �����

��	�	������B"����������=���	�����5��
����	��	��
���
�������	�
4�
;����	����5������:���������
)���

7
��������7
�������6��
�������<�	���	�����������	�665���
��"��

) ����
������������������

o ��
�������	����������
��
���!�����������
:�<����
���	�����	56���
����	����=8��
�6��<�

�

���	��:�	�������	�����
5�������	����

�
����	�������
��������
�	������
�4
���

�������5�� ��
�� ���� �

���	��:� 	�� �>������ ���� ��������� �
� 	����������� ����

�����
������5������������
�����6���
��������
�	
�	������
�6"�����������������
�

	�� ��

��� 	���������� ��������� 	�� ���
���� �	�����
��
���� F� ������ 6������9��� �
�

������������?� ��������� 	�� �����=���
���� �
� 	�� ����
����
����?� ��������� 	��

	��
���
�
���O� ��
�� ���� �����
����� 7
�� �����
� ������5��� 	����

��������������
� 	�������
������:� ��� �����
� 	�� 	56����� ��
��� 
;���� H��������
�

����������
�6��>���I:� �����5	���:� ������	���	����9��H��������:���������OI�������

7
����
����������
������	56���
����	
�A�������B��
�	������
�
�

���	������=����'/�

H��
��:� ��	
��:� 
��
5OI"�  ��� ������>�� ��
�� ��6����
�7
�� 5��7
����
� ���� ���

�������������������������������������������������
'/� ��� ��
���� 	�� A�������B� �
� 	�� ����
����
5� 	��� �����
����� 6��
� ��
���� =��
��
�� 	������:� �
� ������� 	�
4�

����	��������
���������>��
��>����)	��
���
����:�7
�������<���
�����������5

�����
����	��������
�����H�6"�!����:�

$//(I� �
� 
��� ������>�� �5	�����7
�� 7
�� ��
� ���� �����
����� �
� �������� 	�� ����
���
5"� ��������>�� 
��>����)

	��
���
����� ��
� <� ��� =���� 	��� ���8�
�� ��

���� 	�� A�=��7
��� 	��=8�
� 	�������
�������B� H9�	������ 5*-�
�
�

/���
������
I�7
�����	5��������
�	����������;�������)��4������
�����
:����
��
��
�	�������������	������5��������

�
�5��7
��	����9�����A�=
����B�	�����6���	
���9������5�5	��
"�



�������	����
�����
�
��������������������
��	�������
�������

�((�

��
���� 	�A��*-��� ���	��������B"� G�� ��569��� ��5��
��:� ���� ��� 
����� ��
� <� ��� 6����

����	56����HL�
�	�:�$//�I:��
���

����
������
����
��
5�����������5	����
��:�;�

��;��
� 
��� ������>�� 	�� 
;��� A�	��
���
����
��B� ��
� ��������5�� <� ���

������
����	��	������
�6�	��6����
����H3������:�$//(�?�]����:�$//��?��������J�

��8�
��:�$//'��?�$//'=I"�

o ����������� ��
� 
���	�

	�
�
��� ��� 
����� �������� <� 
��� A�	���������� ���

5���������B� H��
����:� �>����
� J� ��>�
��W���:� $//#I� 7
�� �� ��
�� �=8�
� 	��

A������
�����
�
��
���
'����)���
���� ��
)�����
��������	������������
��'����

!���	��
��'���	
���������
�
���	�

	�
�
��	�
���
����	��
	����
'��	�
����*���

������	�����	��
	����'� ��� 
���
���	����� ��� ��� ��
����� 	�� 
��
� �	����B� H	k:� �"�

�'I:� 	���������� 7
�� 6��
� ���
��� 	�� ������� �����

��
� 	��=
����� 	���

A�����5���
�
����� 6���������B� 7
�� ����6����
�7
�� ��

� 
���
��� HL��>����
:�

$///I"����
���	�����=�5��
�7
��������9
���	���
��������:�	�665���
���������>���

���
� ��

�������
� 	5������5��:� ����� 	��� 6�����
5�� ����5����� �
�
�

���� 	���

�������������:� ��	�4��� 	��� 	��
���
�:� 6�����
��� ��� ���>���>�� 	���6����
���"""�

 �� ����
� ����
�� �����	��
��� 
�

��� ���� ������>��� �����
� <� ����5���
��� ����

�������������� 	���� 
��� ���>���:� �����

��
� 	���� 6�����
��� ��� �
��W���:� ���


���
����
��
������9�:��
��������X���<����7
����
������5�
���A���
�������B"�������

���� ���=��
���� 	56���
����� 	�� ��� 
����� H��� 	�>���� 	�� ���� �����
����

�>������>�7
�I:������
��6�57
�����
���
5����
�����
����
����A����������������
��

���� 
��
�!�
	����� �$���
���� ������ 
��
����	��
	����'� 
��
�787����� ����

��

�������� ������ �	����� ��� CC�������� ��� �����
� ��� 
��
���
� ��� ��� ���	�����

������ 
�
� 
��
���
"��B� H�����
:� �����	��� J� �5���:� $//#I"� ���� ��
��������

�����

��
�	����	����	5������
��	�������	�������������������
��	�
���
X�>��

<��5��������
�
��	�������	��������
����	����������������HL��>����
:�$///I:��
�

	���
�
�

����	�����6����
�����<����
���	�����A���	9���	���������������B"�������

���������
�<�
��
����	����������
�������
���
�
�

����	��������
�����	��������

������������
�� 	�������
������:� ������ 	���� ��� ���8�
� ���%���� H�=��:�

$//'�?� �����:� �=��� J� ��":� $//#I:� �
� <� ��
�� ����	�� 5�>����:� 	���� ��� ���8�
�

�������	���� �%�!��� H����N��:� ��7
�

�� J� �����:� $//'I"� ��
��

�������������������������������������������������
'��L�
���L��>����
�H$///I�
��
���7
����

��	56���
��������
������5����:��������
��
��:�������������������������<����

��

��� �R��� 	�� ��� ����5���
�
���� 	��� �������������:� ����
)<)	���� 7
������ ��� ��� �569��� ���� �
� �	�	������

��!!���������	������5���
�7
�"���
�����:���������
�����������5��
��	�R
��������5>����=�������
�����)��5������
�"�



�������	����
�����
�
��������������������
��	�������
�������

�('�

�5�5�������
:� ���� �

���� �
� �5
>�	��� 	�� �����5������� 	��� ��������������

���������
� <� R
��� �4����
5�� 	����
����
� ��
�� ����
�
���� 	��� =����� 	��

�������������� 	�	��
�7
��� 	���� 
�� 	������� 	5����
5'$:� ��
�� ��	5������

����
���
5� H��
�����J�&����	:� $//#I:� ������ ��
����	5������ 	��� ������
����
��

H&����	:� $//#I"����� ���C
���� ��
�� ���������� ���� �����
����� �5	�����7
��� ���

������ <� ��5�>����� 	�
�� ��;�� H���� �4������ ���� A�=��7
��� 	��=8�
�

	�������
�������B�	
����8�
��%�!����
�����	�I:������

����	�������5�������	���

�������������� ��
���
� �
���� 6�����
��� 	�������� 6��������
����� 

����� <� ���

����
�
�
����	���������������
��	�������
������"�������
���
��
����6�����
�������

5�>������	;����7
����

�
��	��	���5����
�
�

�5��:��
������<����������
����	��

��������� �����
5�� ����� 
��� ��
���
5� 	�� �����=���
���:� 	�� ����
����
���� �
�

	�5�>�������

�
��	�
���
X�>��	5
�����5�:�������������
���
�
��������>���>���

�5���
��� H-�����:� $//#�?� ��^W� �̂�N� J� i��W��	:� $//#�?� ��>5:� $//#I"�

�����5������� 	��� �������������� �������� 	���� 	��� �

���� 7
�� ��
������
� R
���

�4����
5�� 	�
��� ����9��� ��
�� �;�
5��
�7
�:� <� ��������:� ��
�� ��� ������
����

	�������������
�	�������
������������=���
�6'("��

o >
��	��
	�����L��
�����

�������
����������

��	�������
	��M��� ����������
��

��� ��

�� �
� 	������� �����
� 	��� �������
�� 	����5������� 	
� ���
��
� 	
� �;�
9���


��>��7
�� H�����
������I��� ��� �����
� 	�� 	5��������� 	�
�������9��� 	5
����5�� ���

���
��
�	��������
������
������	��	��������	�������������
�	���������������
�

���

���"� ������ ��� 
;��� 	�� �����
����:� �������
���� 	
� 
����� A���5������B� ��

�

R
���	�665���
�����
��	��������
������
	�����
�����:��������������<��������
����	
�


����� 	���� ��� 	������:� �f��
)<)	���� ��� 	56���
���� 	�� ����
���
�� 	
� 6���� �
� 	���

��

�
����� 	���� ���7
������ ��� ��� 	5��
��"� ����7
���� �����
� 	�� �����
����� ����

��
����
����:� ��� 
����� �� 
��� �����
���� ���������� ��� �����6��:� ������ ��
�� ����

�����
������
	�����
����:����	������
����	������
���
���
�	�����

�
������T���������

	5��
��"�-�����������	�������
�������
����
����:���������6���
������
�	�665���
����

��� ��
���� 	�� ��5������ �������� �
4� ��5������� 	�
����� 	�� ��� �����
���:� ������

��
�� ���� ����������� ��� �����
� ������ 	���������� ���� A���
���
5��B� ������5��� <�

����������
�7
�����

����������������
������
�������������:��
�����6�@����	��
�������

�������������������������������������������������
'$� ���� �4������ ��� ���8�
� ��L��� ��
�� ������	��� <� �5��
	��� ���� ���=�9���� �		�
�6�� ���� ��� �5
>�	�� 	��

�����������
�<����
���	������H-
�������:�$//'�?�-
�������:�G���)-�
=���:����
:�$//#I"�
'(����4�5�������	5���
�����������)��
���L�
=�	����
����������>�
��W����H$//#I������������
���4�����"�



�������	����
�����
�
��������������������
��	�������
�������

�(#�

������

������C
���:��
��R��:�5���

�������
:�����	5
�
����"����	5����>��	��

������
���� 	�� ��5������� 	�������
������� 	���� 	��� ������������
��

	�������
������� ���
�
���
5�� ���� ���� 
��>��������:� �5���	��
� <� ��

�� 	����9���

�����
���:� ����
�

�� 
�� ��
���
� 
������� 	�� ���>���>��:� �
� ����� ��� 8
�7
�<� ���

�������
����	�
���A������������
�������
�����
�

��	���
�B�H�������J���8�
��:�

$//'=I:� �����
;��
� �
�� ��� 	5����������
� �5���
� 	��

���� 6�����
��
� ���

������
���� 	�� ��5������� 	�������
������� ��� �����
;��
� �
�� 	��� ���������

6�������	��	������
���''"�����>����	�������5����������=��������5�<�	�������
��


������� 	��4�5�����
�
���� �
� 	�� ���>���>��� ���	
�
�6� 	���� ���� ���5��� 7
��

�������
:� ��� ��� ����������� 	
� ���=��� 	�� 
����
4� 	�� ���>���>��� �
� 	��

���65��������
�������������
�����	
��������'#������
��
�
��
��;
>�����

��"�

) ���� �������������

o ����������� ��� 
6
����� ��
)�������� ��� �����
� ���� 	�� 	56����� ���� ����	��� ��
�����


��>��7
���7
�������
��	��
5��:�
������7
�

�������	���
��>����������4��
��
���F�

7
�

��<������	��
���F��
��������	
���'2�?��
�	�����������	������������	����������

�����>�
��

��� 	
� �;�
9��� 
��>��7
�� H	56���
���� 	�� ��� �
�
�

��� 	
� �5���
:� 	���

����	��� 6���
����� 	�� ��� ���
�)6����:� 	�� ��������������
� ���

��� �
� 	
�

���
��
�
�:� �
�"I"� ���� ��
���
�� ���
� ���� �=8��
�6�� <� �

���	��� ��X��� <�

��������������
� 	�������
������:� ��� =
	��
� 	������=��:� ���� ���
����
���


��>��7
��:�
��5
�
�	��� ���
4�	��� 
��>���������	������=���O�%������

��	�
��

��>���� 	��� �>������ 	
� �;�
9��� 
��>��7
�� �
� 
�� ��>5��� 	�� �����>�
��

���

��5���
��
� ����	��������������
��<���7
5���:�	5��������:� �����=���"�-���� ����

����	��� ������:� ��� �������
�� �
� ���� ��
���
5�� 7
���� ������
�� ��
� 5
5� 	5���
� �
�

�>���
��� '� A����
�
���
��'+�B� 	
� �565���
���� 	�� =������ ���
�7
��� H�3!%�:�

�������������������������������������������������
''� ���
�	��� 
����
4�	����=�]�����<���% )!���

�
��	����	
��
��������	�����������
����:� ����������� ������

��
�� 6��������� 
��� ��5��6���
���� ��
����
������� �
8�
�	�>
�� �����9
�� H���)�-I� �
� ���
�
���
5�� H5	�
�
���

���%�-:� �
� �
�
�

� ��� ��
������ �������� 	�� �%�� 	
� ����3:� 7
�� ��
9���� ��� 6���������� �-� �
� �5�9��� ���

A�����6��
�1���B������

��
�	��45�

��������5��6���
���"�
'#�������8�
��
���5��� !3%�-�H>

��[[̂ ^ "̂
�6��	)���8��
"��
�Q/Q#[ !3%�-[I���;�����������
������
"��
'2����
�������
��
5��7
��:���������4��������������
����
�����4����5���5�5�������
���
�����6�����A��	H�����*�6�B"�
'+� ��� 
�
��� ��
����
� ��5��� 
��� ���6
����:� ���� 8���� �����5� A����
�
���
���B� ��� �������
�� 7
�� 8���� 	5���
�

��5�5	�����
:�7
�����
���
��������
��
:�������7
����
���
������	�����6����"�-��6��
:����
�����A����
�
���
���B:��
�

����� 7
�� �
�� ��
� 	���5� ���� ������� ��=��	��� H�..#I:� ����
���� ���� 	�
4� �����
�:� 6����� �
� ���
��
"� ��� ��� �����
�

�5���������5���������	��	��
���
�������	�
4������
�:���
��������������7
��8����5����5�����
��>�

:��
�	����	������



�������	����
�����
�
��������������������
��	�������
�������

�(2�

$//'I"� ����� ��

� �
���� ��
�� 	��� ���8�
�� ��

��
� ��� C
���� 	��� 
��>��7
���

������������
��
�����
�����5���
5����

����"�

o ����������� ��
� 
����
	��
� L�	������
� ��� ����
���
M��� ��� �����
� ���:� <� ���
��� 	
�

��>���� 	��� �>������ 	
� �;�
9��� 
��>��7
�:� 	�� ��5������ ���� �����
5���
�7
��� 	��

�>�7
�� ��������
���
5����� �
� ��������:� �
� 	���� �5	����� ��� ��>���� 	��� �>������

H	56���
���� 	��� 6���
����� �
� 	��� ���
����
��� 	�������������
� 	��45�

���:� 	��

���6�������:�	���
��6�@���OI"������
����	��A���������
���
5�����	
��;�
9���


��>��7
��B� �������� �
4� 	�665���
��� ���>����� H�����
�:� ���
�� 	�� 
������:�

��

�
�:� =�U
���� 	���
��6���� �
� ��
��6���� ������
����
��OI� ����
�

��
� ���

�;�
9��"� ������ 	�� A���������
� ���������B� ��
� ��
�� �5���
���� A���� 
����
	���

����
���� �
�� ���� ������� ����	��� 1���� 
����P���� �6�	���������� ��� 	

��*����

�����!��������
�	����
	����
������
�
����
	��
��#S�
������������
������	���

��
���
���
����
������	����������
�

	����8��S	����
	������	�
�����	����B�H��=���

J� ��=�
:� $//'I"� ��
�� ���� �

�
��:� ��� ;� �� '� 
;���� 	�� ��������
�� 	���� ����

�������
����� 7
�� ��
�� ��
5������
��� ���� ��������
�� ���������� �5	�����7
���

H���I:� ���� ��������
�� ���������� 	�� ��������� H���I:� ���� ��������
�� ����������


��>��7
��� H���I� �
� ���� ��������
�� ���������� 	�� 6�=����
���� H��3I"� ����

	��
���
��
��
������������H��������
�������������5	�����7
����������4������
��

�����
� 	�� ���
��
���I� 	��� ���
��
�� �5	�����7
��� 7
�� ��� ���
� ���� 	���

��������
��H�����4��������
������������I"�����A������
������5	�����7
���B�

��
���
�	����R
���	����
���
���
;������	�����������
�������������
�	���6��>����"""�

������������
�� ���������� ��
����
�6��	56�����	��������������
�� ���
� ��5�����5��

H�
�������T��������
����������	�����5�������	�
��������@
��	����
���������
��

	����5������
����	���
���
5�I:��
�����5��6�5�����
����
�����
��	
���5�������
�	���

5�5���
�� 6������� ��� 
��
� 7
�� ��������
�� H	���5��� <� 5�>������ ���� 	��

����

��������
�:���
��6����:��5
�	���5��:��
�"I"�����6��>��������
���5�����5���
������

A����5��
�����>�7
��B� 	
� 
����:������ ��� 6����
� ���� ���=8�
� 	�� ��5��6���
�����

�

��� 7
�� ��
�� 
;��"� -���� ��� ���� 	��� ���
��
�
��� �
� 	��� ������������
��

���

���:� ����
� <� ��� �����
)�<� 7
�� ����� ��������:� <� �K
5� 	�� �������=��� 	���

���������������������������������������������������������������������������������������������������������������������������������������������������������

�������	�665������
"���� 
������� �5����5��������������
����
��7
�����
���
�� ������
��
:�����
���
�������7
�� 8����

�>�����	�������������������
��A����
�
���
���B��
�	���>������ �������	�����
�����������
� ��� 6����"� ��� ��� 
��
���

7
�� ���� ��������	�
����� 	
� �L�� 
���
��
� �
�
�

� 	�� ��� 6����:� ������ 7
���� ��
� 	�66������ 	�� 6����� 	���

��������	�
������5�5�������
��������
��
:�7
��������<��>�7
�����8�
"�



�������	����
�����
�
��������������������
��	�������
�������

�(+�

��������
�� 	
� �;�
9��:� ���� A���	��� ������������ ������
����
����� H���I�B:�

����
)<)	���� 	��� ��
�6��
�� 7
�� 6�����
��
� ����
���
5� 	���� ��� ���	�� ���

��� �����

��
�� �

��
� ���

�=��� ��� ������
����
� 	�� ��

�����
�
�� H3
�>��J�L
��W>��	
:�

$//(I"�%����

���
���7
����
�����
;���	�����8�
�:����	5����������
�	�����
�����

��������
����

�����
�

���
����
�)���8�
�	������	�������
�"�

o >��
�!�
	����
� ��
� 
����
	��
��� ��� �������
�:� 
�
���� 5
���� 	�� ������
����

6�������� ����
� ��� �5�����
���:� �����
� 	�� 	56����� 	���� ��� 	5
���� �>�7
��

��������
:� �
� �����	� 	
� ��>���� 	��� �>�����"� ��� 6��
� ������ <� 	��� ����5
������


��>��7
��� ���
��
��9���:� 7
�� ���
� ������� �5���������� <� ��� �5�����
���� 	
�

��������
"� %�� ��5������� 	���� 	�� ��� ���=�5��
�7
�� 	�� �����5������� 	���

������������
�� 	�������
������:� �
� ��� �����
� ��
����
� ��R
��� ���
����5� 7
��

��
���5�����"� ��

�6���:� ������ �����
� �����
��
� 	�� ��
������� 7
�� ����
� <� ���

�����
)�<�7
��	�
4�=�
����������
������9���
�	���������������
��	����5������:�

	��
������
������	����������
�5��������
"�-�
���K
5:�������5��6���
����:�7
��7
��

���
������

���	�����=8�
���5��6�5:�������
�����
����������6�����������9
����
�

��������5:� ���� ����5���
�
�����  ��� H<��!���� ���������� 9	���	��I"� -��

���

���
:� ����
� �
� �����
� 	��� ��5��6���
����� 7
�� ���66��

�� �
8�
�	�>
�� ��� ��
��

����	�� ���
��� 	
� 
������� 	�� ���������
���� 	��� 
��>��������� 	�� ����6����
����

��
�� ��������
������:� ��5	
��
�����
� ��� 6����
���'Q� HD'(:�'+E�?�������
�
:�$//$�?�

&���	=��
���:� $//'I"� -�� ��� 6��
:� ��� 	5����>�� 	�� ��5��6���
����:� 7
�� 5
��
�

��
�
����5
����	�����������
����
��>��7
�:�
��	�<�����	���	���������
����:��
:�<�

�8�

��� 	��� ���
����
��� �
�� ���� �������
�� ����
��� ��� ������
� 	�� 
��� �
� 
���

�
��	��	���

�R
��������5��
������
�	�������5�������	
��;�
9���
��>��7
���
�	��

�����5������� 	��� ��������
�:� ��� ������� 	�
��� ��5���
��
���� �5��
����

	���
����5��=���
5� 	��� �

���� �
� �����
����� ���8�
5�"� ����� ��	�6��� 	���� ���

	5����>��	����5������:��
������	�����=��
����7
��
����:��
�����7
������8�������

�������� 	���� ��� ���
���� �
����
�:� ���� ��� ;� �� �<� 
�� �>���� 	�� ���>���>��� ���

5��������"�

�������������������������������������������������
'Q� ��� ;� �� =���� �
� 7
��7
��� 
��
�
����� 	�� ��������� 	��� �
��	��	�� �
� �����
� 	��� ���>�
��

���:� ������ ���

��5��6���
����9�	������:�
)�����6�>6
����&�
)���
����� H����I�	�� ������� H��'Q'"�I"�������8�
����������
�	��

	5=�
�>5�� ������
�� ��� 	�>���� 	�� �����5�� ��5�������:� �
� �� 5
5� =��
��
�� ���
�7
5� ��
�� ���� ����
�
����� H�6"� ����

�4���������3��������D'QE�?����=�9���J��>�7
�
:�$//'I"�!5�������:����7
��
����	���������
�	�����	9����H��
���
�

�������
��I�������5�����������
��	��	���
�������������
��	��������
�����5��
��	�R
��������	5��	����
����9�"�



�������	����
�����
�
��������������������
��	�������
�������

�(Q�

������������9�������7
��&���=��
���:�A��	��������������!���	������	�������	���8����������

��	�����	��� �	
�B� H$//':� �"� '/#I��� ����
� ��� �66�
� ���� ���� ��������� 6������� 	�� 	������
���� 	���

�������������:�	�����5������:�	�����5��6���
�����7
������9���
��� 
����6����
������	������	���

�������
��	����5������:�	��
������	
�����<�����5>��	��� ��������57
�����"�-����9��� ���	5=�
�

��

�����
��������������
����H6�

)����
����������������SI�����
�=�������7
��
����	���������
:��
��

�������
�7
���	
��>����	����5	
��
�����
�	�����6����
���:�	����

�����
����	����	9����6�������

����
��=������
����������������������������
��	�������
�������7
����
����5�"������5���
�
����

	��7
��7
���
���	��������	9�����
�	���7
��
�����7
����
��

�����
������
�9���6��
����=8�
�	�����

	����9������
����	������>���
��"�

�	
��$,%'46&$%&'�1�*$.2$*&'*&���34&,%*+$,�+45&'%&,�

 ���	���������������5���

�����	�������5�������	���������������
��	�������
������:�	��
������

	5=

�	
�$�����9���:�����
��������
�
���
�
����<�����	��	��
��>�����������6����
�7
��:������
��

	5�������	����
��	������
���������������
�<�	��

����	�������:������5�	���
��
�
�����	��������

���5����../���
�������
���������	���
�
������5	��
����	����>����	����>�����"��

����	5����>�����

������	����
�
���
�
������
�7
��7
��������
5���
�7
�������
���������������

�����
�����
���	5����>�����=����7
��	�����
�	����
�������
��������4�:�������8��������	�����

���
���:� ����� 
�� �������
�� �
� 
�� ��
�)�������
�� 
��7
�:� 7
���� �����
� 	������
��� ����

����6����
�7
�:�������	��

���
����"������� �������
���
�����
������������
��	
����������
�

	�� ���8�
'.�?� ������ 
��	��
� �
���� <� ��� ��5���
��� ������ 6��	�
������ 	�
�� ��
���
� ����	�����

	������������� H���� �4�������� �����5������� 	��� �������������� �
� �����5������� ���
�5�� �
�� ����

��5������OI:� 	��T� ��

)R
��� 
��� 
��	����� <� ������������ 	�� ��� 7
�� ����� ���9��� ���"�  ���

7
��
�����5�
����
�:�7
��������
�	����	�����=��
4���
�����:���
�������	����
�������
�
������������

���
�������H&���	=��
���:�$//'�?��������J���8�
��:�$//'��?���

����J��>�7
�
:�$//#I"���

��

7
��
�������5������
�5
5����5�����
������	�5���

����	���5
����:���������������=���7
�������

��

� ����
�������� �
�� ��5���

���� 	
� �5
���� 	����������
� ����� 
�� ���6��� 	�A���
����	���



��	��
���B� H������� J� ��8�
��:� $//'�I:� 7
�� 6�����������
� ���� ��
��
����� �5	�����7
��� 	��

����9��� <� ���� ���	��� ��
����5
�=���:� ������ 	����
����
� �45�

�=���:� ���� 
������>���"� �� 
���

�K��:��66��
������
�
��
������������������
�)�>���>�
����������:�����
)������:�����5���
5:�
���

�������������������������������������������������
'.������
�����5
>�	�������	
�����3�H��7
�

�:���������J��
=��:��..+I:�8��������������
�
����

���
��
�
����

�5���
�� 	������
��� ���� ����6����
�7
�� 
��� 	5����>�� ���=���� 	����5������� 	���� ��� 	������� 	��� ������������
��

	�������
������:� ������ 7
�� ��
�� ��� ������
���� 	�� ���	
�
�� ��
5������ H�5>��
���:� ��	���
�
��:� =X
����
�OI:�

�������=���	
��;����	��������
������
��
8�
�	�>
�������
5�������	���
�
�"��



�������	����
�����
�
��������������������
��	�������
�������

�(.�

���8��
���� 	�� ��� 7
�� ��
� ��� ����
��

5� ���6������������ ��� �������7
��
� 	���� 	��� 
����
4�

�4�5�����
�
4� ��
�� 6����� �������� ��� ������������� 	
� 	�������S� ���:� ������ ��� ����
�
��
�

�>������� ��

���� �
� �>���
��>�� �>�7
�
:� A���
� ��	�����
� �
�����
� ��
� ��
����	��
� ��� ��
�

!���	����
������
�������������
������������
�	��������	
�8�

��	��
������
�
��������	
�������

���	����������
�����
�������������!���	������
��*������!����	�������'�����
����������������	���

����������	��������������	��
	����������	
����������	��������
�!!���8�����
����	��'�
���)	*������

��� 
��� �$������
�� ���� �������	��� ��	�	����� 
	� ���)���� ��� ���������
��� ��� !��
����� ���

��������������� ��	
�������B� H$//#:��"� '#$I"���� ��5������
����	5
����5������
� ���:� �
8�
�	�>
�:�

��
���5
���:������������6������
���:���	����
����
:����������66��
��	5���;5���5������
���������

�R����57
�������
�����	�����
���������=�����
4����
����������������
����	�����5������#/"��

��� ����� 7
�

�� ��� �>���� 	�� ��� ���>���>�� ��
�� ����
5������� �
4� ���������� 
���������
� �
��

7
��7
���	������
�6��	�
������
����������
���������C
����	��
���7
��7
���
����:�
����7
������

����
�� �
�5��7
��:� ��� ������@��
� 7
���� 	�>���� 	��� ���������
�� �>���>�
��� <� ���������� 	���

���8�
�:����
��	�����7
��������
���

����
#����
���

K
�����=�
�>�:��
���������8�
�:�	������������

	�� ���>���>�� H���5���
�� �
� 
��>������� 	�� ���>���>�:� ��� 3�����I� �
� ��������� 	�� ���������� <�

�
�


�� ��5������� H����
�
��� 	�� 
����
4� 	����5�:� ���� �4�����I"� ��� ��
� ���=�=��� 7
�� ��� 7
��

������U
�������
���
��	������5�5�����	�����������������
��
�5���
�������
��
����
����	����

��� �����	������
�	���� �������������
� 
��>��7
�"����� 
������� ����� ���� 6����
�
���	
� �5���
�

	����3������
���	�����

���=����D'.E:������4�����:���6��
�������U
���7
�
��	���6��������8�
���

�
�	5����������
�	�����������
����	�������
������
�	��	������
�6����5�����5�:������5���������

<�	������
����	��

����������%����	�����=����>���
�	��6����
����<������

���:�����
�����
�


�	���

���������
��	56�����������������
����������
�����������
�$��>�
����	��6���)<)6����������������

�
� �������
� ���� ��
���
5�� 	�� ������
���"� ���� �������� 	�� ��� 	�66������ �����
�
���� 	��� �

����

	����5������� ������5�� ���
:� ����� 	�

�:��
�
�����:������ ������ ���=��� 7
��	��R���7
�� 
�

�

��������������
4����=�5��
�7
���	����������
�����
�	
��>�������
�	��A����	��B:�
������7
��8��

���� ��� ��5���
5��� �
� �>���
��� ("(� 	�� ��

�� ��
�"� G�;� �
��� �����
� ���:� ���� ��� 7
��
���� 	��

�������
�=���
5� 	��� �

���� �
� 	5����>��� 	����5������� ��
� 
��� ���=�5��
�7
�� 	�� ��
�� ��� ��
��

������5���
4�
����
4�	�����>���>����

�����
�������5������:�������
��
������������:����������

�������������������������������������������������
#/����	�>����	
����8�
������
�<����������	���A�

�����
�
���B���5���
5�������

�����
��>�7
�
�H$//#I:�	�
4����8�
��

�5���
�� �����
� <� ������6���� �����9�� �
� 
������� 	�� ��5������
���� ��
�� ���� ���������
���� ��� ��	9��� 	�� ��

���� <�

��5��=���
����	�����5�������	��������
�6������4�����&���>�H0�����
)�������7:�-���	:�-
6�����:�$//#I:��
�������8�
�

&�!���!�:��4�5�����
5������	���6����
�
���	�����������6�����������
������H3�
���J���8�
��:�$//#I"�
#���6"�����5

	���	�� 
�������	���� ����
�������
5�� 6���@������ D�+:��.:���/:����E:��
� ��5

	���
������
��
���5���

���5��	���������	���	
����8�
������l�
��H�>�������J�-�����:�$//$I"�



�������	����
�����
�
��������������������
��	�������
�������

�'/�

��� ��
� 	�� 	5��������
� 	��� �5�
�
�
�� 	��� ���>���>��� �
�� ��� 
������� 	�� �������������
�

������@��
�<�6�����7
��
���"�����7
��
�����	��6��	��4��
��
�=����
�=���:��
�7
����
����
:�������

��� ���
� ���� ��
������"������ ������ ���=��� 7
������� 
��
�����
� 	�66��������
� �5������� ��� �����

����;�� 	�� ���� 
���
��� �
� �����
� 	�� ��� 	5����>�� 	����5������:� �
�
�

� 7
��	� ��� �����
� 	�
���

���5������� 7
�� ��� ����	� ��� ����
�� 7
�� ��� �����
� A�������B:� ������ 7
�� ���� 7
��
����� ���5���

���9���
�	
����
�4
���5�5����	
��;�
9���5	
��
�6:��
�	����	
������
�A�������B:�������8�������

���
�5���
��>�

�H�>���
���(I"��������
�������	5����>�����

������	�����>���>�������
�	��

����

7
��
�����	����5������:�7
��8��������=��	�������
����
"�

�

 ���	��������9����7
��
�����7
���������

���������:���
��	5
������������=�������������
�����:�

����
��� 7
�:� �
8�
�	�>
�:� A�6��
� 	�� �����5�������B� 	��� ������������
�� 	�������
�������S� ���

���=������	��	���5���6��=���:�8��6��������>;��
>9�����
����
���F�7
����6�
	���
��5��6��������
���

5

	��	������
���
5��5�����	������6�����������5�
�5�5����)	����
����

) ���� �>���>�
��:� 	���� ��� 	������� 	�������:� 	�� ��� 	�	��
�7
�� ���6������������ �
� 	���

�������
����� 	�� ��� �5���
5� ���

����� <� ��������
������:� 7
�� ����
5������
� �
8�
�	�>
��

�
�
�

� �
� �����
� A�������B� H���5������� 	�	��
�7
�:� ���5������� 	��� ��

�
����:�

��5������
���I:� �
���
��7
�� ���	5����>��	����5���������
� �

��
�
���=8�
� 	�� ���>���>��

7
�
���

�����
��������<�=����������8�
�	�����>���>�"��

) ���� A����5���
���	�� 6����
����B� ��� �>�����	�� ��� ������
����	����
������� 6����
�����

	���� ���� ����������� 	�� 6����
���:� 7
�� 
���������
� �
8�
�	�>
�� �
�
�

� �
� �����
�

A��5���B:� ��
6� 	���� ��� ���� 	�� ���8�
�� ��
5����
� 	��� 
��>��������� ��
�� ���	��� ���

	������
�6� ��
�� 6��4�=��� H3%�-I:� �
� ��
�� �������
� ��
�� 
���
��� 
��� 	�66��
�
5�

���
��
��9��� 	�������
������� H	�	��
�7
�� ���6�����������:� �������
���� 	�� ��� �5���
5�

���

����I:��T����
�������
���
5�����������
4�A��5���B��
�A�������B"�

) ��������
�
��
����
����
����
4:�����>�����	�����8�
��5	
��
�6��6�����5����������5
�
���
�

���� ����������� 	������������ ��
����
����
4:� ������ �� !���%� �
� ��� L��7
��

���	����:� 7
�� 
���������
� �
8�
�	�>
�� �
�
�

� �
� �����
� A�������B� H������
���� 	�� ���

7
�� &
;� ��� L�
��6� H$//'I� �������� 	��� A������)	������
�6��B��� ��	������
���� 	
�

�;�
9��� ��������:� 	5����������
� 	�� 6����
����� ��
�� 
��� 6���9��� 5������7
�:�

	5����������
�	�������������	��A���

5������BOI"�

) �������������6����
����	�����
���������F��
���
�����
�	�������	���F�7
�:�	����
�����

��
�:� 	
� 6��
� 	��� ����
�7
��� 	�� ���������
� 	��� ����5
������ H��� L�
��6:� �...�?�

�������
:�$///I:�
���������
��
4������
4�A�������B�H	5����������
��	���565���
�����	��

6����
����<����
���	����565���
������5
����I��
�A��5���B�H�����	��6����
���:���
������
��



�������	����
�����
�
��������������������
��	�������
�������

�'��

���
��� ��
�� 
�� �������� ��5��
������OI"� ��
�� �������
:� ����� ����
� 
�� �>���� ���

	5����������
:�	�����
�������5��6�7
�����
���
�	5=�
�>����
��
��
���������
��
���
�����

�����
4� A��5���B� �
� A�������B�������� ���������	��

�����5
������5�����
��
�
�� 
�������

	����5�������	�����������������?���7
���
�����
�����
����	������5
�������5�����
��
����

��������C
����	�
�����
��
�
���
�	��
��>���������	���5���
5����

����O��

) ����=����>������6�������������H	
����������3�����I:�7
��
���������
��
�
�

��
������
�

A�������B:�������
��
����:���
��	56����� ���� �565���
�����	��6����
����	������
�6���
��	��

7
���6���
���� ���6������������ H�*�I� <� ���
��� 	��� �565���
����� �5
����� 	�� ��� =����>�:�

��
���
5�7
�������������������	��=�����
������	����5
��������	
���=����
�����������������

	
�'�����$//'�	�����
����6�����"��

�� ���
��� 	�� ���� >;��
>9���:� ��� ��

� ��65���� 7
�:� ����� ;� �� �
8�
�	�>
�� 
�� =������

	����
�
���
�
���� 	�� ��� 	5����>�� 	����5������� ��� 	�>���� 	
� ���	�� 	�� ��� ���>���>�:� ���

�����������
� 
�9�� ��������
� ���� �����
4� A�������B� �
� A��5���B:� �
� �4���
�����������
:� ��
��

	��� ���8�
�� ���
��
�����:� ��� �����
� A�������B"� ���� �����
��:� 	��� �����=���
5�� 	���
��6�@���� 	���

�

���� �
4�	�665���
�������
4� ���=���
� ��
>��
�=���:� 	9�� �����7
����
���
��������
4���
���
�

R
��� 
���
5�� �
�����������
����� �����R���� ��
�
��:� �
�7
�� �������	
�
��	�
�������
���
���
�

R
������������������
���
��<�
�������
���65���
�"����7
�������7
��	��	56�����������
��
��
�����

	��� 	�665���
�� �������
�� ��� 
������ 	���
���
�� �
� 	�� ���	
�
�:� ��� 7
�� 8���� ��
� �=��	5� 	���� ���

���
������5�5	��
�"�

G�� ����� 	���� ����;��� 	���7
������ 7
��7
��� ���
��� 	�� ���>���>�� ��
�� 
��� ���
�
���
�
���� 	��

�����5�������	�����6����
���#$:�������
��
�	
������
�A�������B:�7
����
����
���T:�������=��)
)��:�

����=���������
��
��������
�������
�����=��
4��
�����R���
�����������
�������=���"�*
��7
���

�

�������������
�	������
���<�������U
����
�� ���������:���
��6�����	����5��6���
�������
�����

����5���
�
���� �
� ��� 
���
����
� ��� ���>���� 	��� ����5
�����"� ��� ����
� 	�� 	5���
� ��� ��
� ���

��5��6���
���� ���)�-��%#(:� ���@
�� ���
�������
� ��
�� �����

��� 	�� 	5������ 	�
��� ����9���

�5

�����=��� 	��� ����5
������ 	���� ���� �;�
9���� 	�� ���
���� 	�� ��������
������#'"� ��

��

��5��6���
���:� ������������ ���������
�� �������	��/��
	*���#�������
6� �!�������� H��-I:���

	���5� �5������
� ���������� <� ��� ��5��6���
���� 	�� A����
��� 	�� ����5
������ �5

�����=����B�

�������������������������������������������������
#$� ��� ���������
� 	�� ���8�
�� ��
� 	58<� ���
��������
� ���
�
���
5� ���� 	��� �

���� 	�� �����6���
���� �
� 	�� �
���:�

�����5�������
��>��7
��	��������
����	��

��������5�:���
�����
���
4�����5���
��
���������5���
�
����� ��"�����

7
��
�����7
����������
:�������7
��������������:����
���

K
��������	������
��6�@����	����

������
����
4"�
#(� �����;��� ��
�� m��
��=��� -�6���
���� �6� �� �����
���;� ��� ��� �	
��
������ %=8��
���n"� ��� ��5��6���
����

�����9
����
�
5�5�>�����=���<����
���	��>

��[[̂ ^ "̂������=��"���[�����
������[��	�4">
����
#'�������������9�	�������	�	�������>6
���
�H���I:���
���
������5��A����
�)6�����	���7��	������B����6���@���"��



�������	����
�����
�
��������������������
��	�������
�������

�'$�

H/��
	*��� #�������
6� �	�
� )� ���I� ��
�� 6����� 	�� ���
�:� 	���=��� �
� 	�� �5���
� H%�
;�:�

$//#�I"� ���� A����
��� 	�� ����5
������B� ���
� ������ �R���� <� ��� =���� 	�
�� ���8�
�

A�	��

���
���
���� 	�� ��� 6����
����B� H%�
;�:� $//#=I:� 	���� ��7
��� ��5���
�
���� 	���

����5
������ �����
� �����
5� ���� ��	���
�
�:� �
� ������;��� 	�
�� ���
6����� 5���
����7
�� 	��

����5
������������7
��������;���	���5���
�������
���565���
�����5
�����������
��

���
��5��	��

����9���<���
�����	5�����>��� �����9��<�	�����	
����	�� 6����
������� ��������������5�:��
�<�

	��� ��	��� <� ����
���
5"� ��� ��	9��� 	�� 	���5��� �5

�����=��� �������� 
��� >��������
���� 	���

	������
�����	����
����������6�����:����7
�����	������=�����
������

�
���"��
�����������:�
��


����;�
9���������U
�	����6����=��"�G������
����������
����7
����������
�	��������5���
5:�	�
������
�

������7
��������	
�
����	����565���
������5
������
�	������
��
��	��6����
������������5���
�

	5����������
�	���������=���	�������5
������7
�����
��������
�
���
X�>�������
��7
�:�������

����
�
��
�������	�����;�>��?�������
�
�

�	��

������
:�������7
�����
;���	���;�
9������>�
�
��

	��6���
��
4����
�7
�������������4��
��
��:�	��
:����3�������� ����5�����
������������7
����
�	��

�9���� �
�� ���� 7
���6���
����� �
� �
�� ��� ����� 	�� 6����
���� 	���
��������?� ��� 7
��
���� 	�� ���

���
��
���� 	��� 	���5��� ������������:� �
�"�  �� 
��� �;�
9��� ���7
�� 	���� 	�� ������
���� 	��

���=��
4� �=�
�����:� �>��
�� 	��
4� 5
��
� �
����
�=��� 	�� ��� 6����� ��8�
��� D'+E"� ��6��:� ��� ���

���=��� 7
���� ;� �� ������� 
�� 
������� 
>5���7
�� �����	5��=��� <� 6�
����:� ��� �����
)��� 7
�� ��
��

����������������
���	������5
������F�=����7
������������5���
��
���
�����6�����	�
�����
�������

����
��=��� F� ����� 	��� ��
����������	5�����
� ���� �������������� 	
� 	������� 	�� ����5
������

����5���
5� ���� ���� ���
��:� �
� ����� ���� �5
�)	���5��� 	5������
� ���� �=8�
�� �5	�����7
��##:�

������ ���=��� ������������ %�
;�� H$//#=:� 3��
��� ($I"� !5�������:� ���4��
����� 	�� 
������

�������
����� �����
:� ��� ���
4:� 	�� 	56����� ���� ���
��� 	�� ���>���>�� �
����
�=���� 	�� 6�����
���

�����
�
���
�
���� 	�� �����5������� 	�� ��� 6����
���� �
� �����
� �����:� 	���� ��� �������
���� 	��

�5�5���� 	��� ���	
�
�� 

�����=���� ��� ��
���
� �
� �����
��5��"� ������
� ��
� ��� �66�
� ��7
����� ���

�����=���
5� 	�� ����5���
��� 6��������
� 	��� A����
��� 	�� ����5
������B� ��� ���>���� �����
�

	�����������<���
�
�
�����	����

����	������
�����<��������
�
�
����	���565���
������5
����"��

���������������

���
�����6�����
������������
���:�<����
���	���<:�	�
���565���
����	��6����
���:����

6�

� R
��� ����=���	�5
�=���� 	��� ����
����� �����	����=8�
��7
�� ���
�	�� ����	���	
� ���
��
� H����

�������������������������������������������������
##���%���������	������%��������8�
�	���5
�)	���5��"�����������%��������
������
��
�
���>������
�����

	������
����	�� ����5
������ ������5��� �
4��=8�
�"��
� 8�� ��������� ������
� 
��� 
����� �������
������

� R
��� 6��
��

	�
�������9���������"�



�������	����
�����
�
��������������������
��	�������
�������

�'(�

�4������ 	��� A�:���
� �	�
#2�BI:� �
� ����� 	��� �=8�
�� 7
�� 	5������
� ���� 6������ 	�� ���
�4
���

�����=����H�����4��������

�
����	��
������:�����5������
�
���
X�>�����
��
��9�����������9��<�
��

������������
�������5�	�
����	���
�
��������
5��
��5���
:������

��
�	����5	���<�	�����	���

��� �����I"� 9	� ������
	����� ��
� �*-��
� ��
���	��� ��
� 
����$��
� ��� !���	����� ����
�

�� 
��

�������� 
������� 	�� ���>���>�� <� ��� �����
�?� ��	���
��	����� 
��
��������� ��
� 2�#�������
6�

�	�
�3'���
�2�:���
��	�
�3�������
�
��*-��
���
���	�����
�
����$��
�
�������	"�9	������
�����

����� ������'� 8� ��	���� ����� �	��	��� !�����'� ��� ����
��*��� ��
� �*-��
� �	������
� �	�� ��
�

���
�

�
� ������������� ��� �	� !���	����� 	�� ����	�� �	
��� �
�� ���*-�
��!� �����	�� ��� 
�����

����
����������
)��
)�"��

�
� �����
��5��:� ������ ���=��� 7
�� ���� �

���� ������

���� 	
� �����
������� ��
������
� R
���

	5����5���
������>��:���
�������

���	���5�5����	������
���	��=8��
�6���5	�����7
���H������
���

�
4� ���
��� 	�� ����5
�����I:� 	��� ����������� 	�� 6����
���� H��� �8�

��
� 	��� �

��=

��

�
���5���
������ �
4� �=8�
�� 	5���
�� 	���� ���� A�:���
� �	�
�BI:� �
� 	��� 	������
�6�� �=�
���
��

H	5���������� 	�����	9���� 	�� ���
�4
��� ����� �����=���
5�� 	����5��
���� 	�� ��
5������� 	��=8�
��

������	�����������	�����
4:�	�������
����:�	���K���:��
�"I"�

��
�� ������ ��
�� ����:� ��� ��
����
� ��������� 	���
��
���� ����� ��� �����
� �5��� 
��� 	5����>��

6��������	����5������
�������������)�-#+�7
����
��
8�
�	�>
���4��
�������
����
�5���
�����

�����
� ������ �
� �
�� ��� �5�5��
���� 	�� ��5������� �5	�����7
��"� ��

�������
:� ����� ������� ���

�����
��5��:� �
���� =���� �����5������� 	
� ���
��
� 7
�� �����5������� 	�� ��� 6������� ��� 	5����>��

������5�� ���� ��=� ]����� ��

�� 	����
����
� 	�
��� ��
��
���� �
� ��5������ 	���
���
5�"� �����

��

������7
�
����
��
;���	���
���
�	�������
��5��:������=8��
�6���5	�����7
����
�������5)��7
��:�

�����	5�5���������

��=

��	�
���A��5
>�	��B��
�	�
�����
���
5�	�������
������"�������
���
�

R
��� 6���
�5�� 	���� 
�� 6����
� ��=��� HA����
��
� ^�=�BI:� �
� ������ ��� ��	9��� ������5� ���� ���

��5��6���
�������)�-��%�HA����
��
����)�-�BI:�7
�����������
���=8��
�6��5	�����7
��<�
���

����5
�����<��

���	���H	����������
����T�����
�����R����
�
�

���	��	���5���7
��	5���
���
��

�
����

��I"��

�����������5���

���	������	���5���H�=8��
�6���
���5)��7
��I���
������������
4��5����
�������

�
������	�������4��
�����	��

�����������
�����7
���5�9�������
�	������
���	������5
�������
�

�������������������������������������������������
#2� ��	5����
���� ��
�� 6����� 	���
������� ����
��=���� 	�� A��
8�
��B:� 	�� ����
����� ��
��� �
4� �
� ����� 	���

A����
��������B�	����
4)���H����
���4������
��
�4
������565���
��
��
8�
I"��6"������
��	����5���
�
����	
���	9���

	������
�6��
�	�������5��6���
������>

��[[̂ ^ "̂
��������"���[4
�[��	�4">
���H���5	5����$([/Q[/#I"�
#+��������8�
������ 6��
�
�����5���
�
����	5
����5�����3���@����	����
���
�5����5���
�	�� ��� ���
��-��
�������
�

�������� H$//'I"� ��� ��5��6���
���� �����9
�� ��
� 
5�5�>�����=��� �
�� ��� ��
�� 	�� ��������

>

��[[������=��"���[��������	�����[��



�������	����
�����
�
��������������������
��	�������
�������

�''�

	��=8��
�6���5	�����7
���<��

���	��:����������6����
������4������
����������
���������

��
�

	���5����	���5���
��	������5
���������9��
���5���
�
����	������5
�����#Q:��
�������������

7
��8�����������
������
��5��"���������������
������
66����
���
����
��
�������������
4��5���

�
� �����:� ���� 
��� �>�U��� �����9
�� 	�� 
���
����
� �����

��
� 	�� ������� 	
� �����
� �5��� �
�

�����
��������
��������
�	����
������5�5�����
������
��5����
�	��
���
����
������
���������

) 
�� ����>�� �
� 
��� A����
��B� 	��=8��
�6�� 	56�������
� 	��� ������ 	�� ��5�5	����� �
� 	��

�������
������
��������=8��
�6�:�7
�������
������
5��
������
���������
�������

���	��

�5��6���������>5������	������
�
�

��
����	�����
���
5�:��
���������5

	��	���������=���

	���
���
5��������5�����������
��
�����>��	��=8��
�6��?�

) 
�����
��
�	��6����
����	5
����5:�7
����
����
����
�
��R
����5���
���
�������5��
4���
��:�

�
4���
���
5��H�
��
�
�

����	���
���
5I��
��
4������
����:��
�	��
������
����
����
�K����

����5���
�
�����
������
�������?�

) ���� �����
�� 6������� 	�� ��������������
:� ����� 7
����� �����
� 6���5���
� ������5�� <� 	���

��

�
����� 	�������
������� ��� �����#."�%�� ��
����
� ��������� ���� �4������ 	�� ��
�����

�>������
���������	����
������6��
��
����	���5��������������������
�������5�<�
���

��
���
5"�

����5�5���
����7
�����
����
��
���� ���������
4��5����
������:����6��
:�	5��
���
��
����
�	���

�����>�������
�� 	��� �
�
�

���� 	��=8�
�� 	56����� �
� �����
� �
�5���
�:� ����
)<)	���� �
� �����
�

�����"���
��	56���
������
�	����
�������������
�	�� ���	����
����	�� ���>���>��������5���� �	�

�����
����� �����������'� 8� ��	���� ����� �	��	���!�����'� ��� ����
��*��� ��
� �*-��
��	������
�

�	�� ��
� ���
�

�
� ������������� ��� �	� !���	����'� 8� ���
� ��
� ����	�$�� ���� A�
��
5�� 	�5

	��B�

H<�����!�>���6I�	����=�]�����H$//�I�;�������U
�����
�������
���=8�
�������	��

���"�

�

��:� �
� ���
� 	�� ����� 
����� <� �����
�
���
�
���� 	��� 
X�>��� 5�5���
������ �5���>5��7
��� <� ���

	5����>�� 	����5������� ���������
� 	�
�2/:� ������ ���=�����
���� 	��� ��
���
5�� H
��@���:�

�������������������������������������������������
#Q����7
����
������=���<����
���	������"��6"���)	���
�������5���
�
����	���
����
4�	�����
	��%�
;�"�
#.�-�������)�-�������
�������5���
8�
�	�>
�:�������5�5���
��	�������������
:�7
��	�
4����
���	�����������

	�� ����
����
���� H��
������ �
� ���65�����I:� ��� ���>���>�� ��	�45�� �
� ��� 	������
���� 	��=8�
�� 	�������
������:�

�����	5�5�������������
������
����������	
�
�"�
2/������������
�����	����������
���8�
���H$//'�I:�	�����=�9����
��>�7
�
�H$//'I:�	��&�=�����
�����
	�H$//'I:�	��

L���5��
��>�7
�
�H$//#I���
���������
���7
��7
��7
���
���:����
�	�����������"�����
����
4����
��5���������:������

����R���
����:� �������������������
������
66����
����
��7
�������5����������
�
���
5�����
������
5����������
�

�
)	��<�	���������
��

5�����:����������5
��������������
�������5����
4����
66��������	�����
��>��7
�:�������8��

�������	�7
5���5�5	�����
"�



�������	����
�����
�
��������������������
��	�������
�������

�'#�

�������
�����
OI:� ��� �5�
��
���� �

���
�7
�� 	��� ��
���
5�� H��������
���:� �
���

��� 	��

6���
�������
5�OI:� ��� ����
�����
���� H�
�
�

��
���� �
� ���5��
���� 	��� 	���5��:� ��	��� 	��

��5���
�
����	���	���5��:� ��
����5
�
�����

���
�7
��	��	���5��OI:��������	��������
�����

�����
)���7
�����4��
�����	���	�665���
���������
��	����5�������	�����6����
���:�������
�7
�������

��

� �
����� 	��� 	����
����� 	�� ���>���>�� ��
������� 7
�� ���������	��
� <� 	��� 
������ ��

���:�

������ 8�� ������ 	���� ��������� 
��"��� 
������� ��

�� �������
���:� ��� �������>����
� ����� ����

�������
�� 	�� �����5������� 
��>��7
�� H���5������� 	��� �������������:� ��5������
���:� ���5�������

����������:���5��6���
����I������
�6�����
5:��
��7
������	������
�����6���������������5����������
�

	���R��� ��

��� 7
�� ������� 7
�� �5�
�
��
� 	�� ���� �������
�:� =���� 7
������� �������7
��
� <� 	���

�=8�
��	�665���
�"��

�

-��

���� 7
��
����� ���������
� ���� ������ �����=���� ��
��� ���� �

���� ��7
���5�� ��)	���
�� �
� ����

������>��� ���� ������� ���
�
���
5��� ������ �����5������� 	�	��
�7
�:� �����5������� 	���

��

�
����:����������
����	�������������
�����

���:�<����
���	
������
��T������
���
>��
�=��:�

��
�� ���:� 	�� ��
����� ��
5����� ���� 	5����>��� 	���� �����5������� 	��� ������������
��

	�������
������"� -��� ��
��6����� ����� �����5������� 	�	��
�7
�� �
� �����5������� 	��� ��

�
�����

���
)������ �����=����S�&� ������:� ���� �=8�
�� ������

���� ��� ���
� ���� ���� �R���:� �
��7
�� ���

����	����� ��
�)8����
� ��
� ��5��6�7
�"� !5�������:� ���� ���
� �
���� ����5���
�=���� ��
�� 6�����

A�������������
�����	����������B� HL��>����
:�$///I:��
�	9�� ����:� ���7
��
����7
������������
�

������	����
������������������	����������
�������"�T��������
�����������������������������������

��
� �������������
���	�������

	������� ��������	��� ��
���!!�����
��	�	�����
"� ��� 
������� 	��

���>���>�:� ���:� ������
����
� <� �	��
�6���:� 	���� ���� 	�665���
�� ����
�� 
>5���7
��:� ���� 
�����:�

��
����� �
� ������
�� 

����5�� ��
�� ���������� 	��� ���
��
�:� 	��� 	������
�6�:� 	��� ��

�
����O�

	�������
������:� <� ��	�7
��� ��� 7
��� ���� ���
� ���=��=���� �
� 	�665���
�� H���� �4�������� ���


���	�

	�
�� �����
	����� 	�� �����5������� 	�	��
�7
�� �
� ��� 
���	�

	�
�� �)�������� 	��

�����5�������	��6����
���I:��
�<����	
����<����
���	���<�
�����
����������=����7
����������
�<�
���

	�
4�9����5�5��
����	����
�
���
��	������
�����<������5������"����;����<�
��������	��	����
����

	�����>���>��	��������>����	�������5������"��

 ���
�����9���	����
����	�����>���>�:�7
������	���
������5
�������	�
4���5�5	��
��:����
����
�

�
�������5
��>�����<�

���������
��6�����
�����
�����	��
�����

����	������
�����<������5������:�����

����
�
������
�����
�����
�����6�����
����������
�=���
5��
���

�����=���
5"�

�

��
���5�
��������7
��
�����	�����>���>��7
��5������
�	������>���
����
�� �������
�
�
����	���

������������
�� 	�������
������:� 8�� 	����� 7
������� ���
��
� 	
� ����
�
� 7
�� ��� 	5����>��



�������	����
�����
�
��������������������
��	�������
�������

�'2�

	����5������:� 7
�� ��� ������4�6��� ����� ��� 	5����������
� 	��� 
������ 	�� ��� 
��>�������� ��
��

�5��
	��� 	��� ���=�9���� 	����9�� �
� ������:� 	��� 	�66��
�
5�� �����
����:� �
� 	�� ���
��
���� 	��

��

�
����� 	������
���� �
� ���� ���5���
� �����	
�
�=���:� ��� ���
�� �
8�
�	�>
�� <� 
�� �����
�

	����
�
���
�
����7
���������
����
�7
���6����	����>�a7
�"�����������
��
�
��������
�����������

	5������5��� ��� �������
� ��� ����
�� 7
�
��� ��
�
�� ���
��� 	��� �����
4� 	�� �����5������� �
� 	���

�=8�
�� �
47
���� ����� �������7
�:� �
� ���
� 	5��=5�5���
� �����
5�� ����� 
�� ���=��� ���
����
� 	��

��	9����	�������������
��	�������
������2�"��

��
�����
�
���
������������
����	����	9������
������5�:��
����	
����	������
�
���
������=����

	�� ����	��� ��� ����
�� 	��� 
>5������ 	�665���
��:� ���� 
����
4� 	�� ���>���>�� ��5���=���� 7
�� ���

���������
���	�������=����<����������
�	��
�������	������

) �5
���� ���� ��
����� �
� ������
�� 

����5�� 	���� ��� 	5����>�� 	����5������� 	���

������������
�� 	�������
������� ��� 
��� ��
������� 
��7
�� ����
����
� ���� 	������

����	��������

����?�

) ��	5������<�����	��	�
����������6��������������
�������
�������	�������=8�
�������
�5��

���������������
��	����5�������?�

) 5

	���������5
��>����������

��
�	������5���
����
������
���������=8�
��<�����	��	�
��

�

�����6����
�7
�"�

�� ���
��� 	�� ���� ��5���=���:� ��� ��
���� ���������� <� ���������� ��� 	5����������
� 	��

����

�5�5��7
�����
��
������5�������	���������������
��	�������
������������
5��������	���
�
�"�

�

�

�

�

�

�������������������������������������������������
2������5
>�	������:������4�����:�����������	���
>5������	����A����
�
�
������-������B:��
���5
5����@
����
�����

���	
�
����	��	������
�6��	��3%�-�H��>�
��W���:�$//$I�



�������	����
�����
�
��������������������
��	�������
�������

�'+�

�

Synthèse : 3 ontologies pour ouvrir des perspectives 
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Annexe 2 : Illustration d’une ingénierie concourante, 

le projet AUTOFOD 
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